BSMM201CCT

abt«l(j/"’y

(Differential Equations)
v

Jt

(Lab Manual)

;vd’ufu?&/?.,w&uw@ws

Ry

(EA-DUF LT
(A1 )

A Qb
&”/}f{»/lt}%;!fl’tl}r

e - B 325\ T



©Maulana Azad National Urdu University, Hyderabad
Course-Bachelor of Science
ISBN: 978-XX-XXXXX-XX-X
Edition: January, 2022

;gbg‘&/zgwlﬁ ATCYs el 24 : Al
20228152 : s
1000 : Iy

~ b . 5 rd vd J % - s - bf 15 .
N s o FETeoer 2 Jusbanls b 2648 st
-~ ) . o o k1 . o R s 7 - -
;UJJ;’:U’/;:,.{»JIJ'%;UIBU}”:ﬁdduﬂb&l&‘J:ubﬁjﬂ/’) : oL P17

;«UL«‘&}J

(Differential Equations)
For B.Sc. 2" Semester

On behalf of the Registrar, Published by:

Directorate of Distance Education

Maulana Azad National Urdu University
Gachibowli, Hyderabad-500032 (TS), Bharat

Director: dir.dde@manuu.edu.in  Publication : ddepublication@manuu.edu.in
Phone number: 040-23008314 Website: manuu.edu.in



mailto:dir.dde@manuu.edu.in
mailto:ddepublication@manuu.edu.in
http://www.manuu.edu.in/

il u);

(Editorial Board)

u!/n,o(;)}‘b‘
(Subject Editors)

Dr. Syed Abdul Hai
Head, Dept of Mathematics

MAM Govt. Junior College, Nampally, Hyderabad

Fiwt a1

dz’&/,gf’“uﬂ

s\ ,L’:é{/’-‘zﬁu;iéu

Dr. Khaja Moinuddin

u:ﬂ!u’f/,.?’f'ﬁ/’j

Assistant Professor (Mathematics) (LfQ ) /:3, e

School of Sciences, MANUU JU’/EJL‘()‘UIVL'/.JP’
Dr. Kashif Khan 565
Guest Faculty (Mathematics) (ué’g/)&gjd

DDE, MANUU

sl /?f&/f{;}/lﬁ)l/’ftﬂr:(ﬁd811/15_:/[&'3

LA

(Language Editor)

Dr. Mohd Akmal Khan
Guest Faculty (Urdu)

Directorate of Distance Education, MANUU

e
(1;/!)&@&.{

;gijré’ujgu/l f:')l)lﬂt‘ﬂrcﬁw &JJL;;/UEJ

A Aol
&;jgm&"“";m’wr

e - B 325\ T




Al
4t 1161
165 J¢

20617360

2462106

/? (ﬁ/Tf JJJ’/

SIS o170

St iyt

A Toap 5 o2 A FF T b o

e

)g‘{/}::):}]l,:uékjﬂfw&:/.gj/?%‘/]:d,wdf/,?’jb 'j [ )
AT SISSAEINGE el b6 o

Jar

Mg Fluate By oty g 517715 o
A A IGSLELIET 2T o 2615 o

2JJ,‘9,JJ:/,:
SEeErel : ol
uGJ{lj /”(!;" : 9
g 170 : Fe



11

24

47

67

88

110

126

144

164

183

219
241

)’}lgujl}
Y57

;f df/f}( VP /[

S St 5
d!)b@ﬁd/;u%uléj%
.:«!)L»*(.j/g V"C?

uful»@ﬁf&,—»%»'@/%

G P bt

(SrdbibdS L Lp)

c«l;l,«‘gﬁd/;/;&‘l/;l;/%
Endbib§S L Ly mix)

S &/:K)ufuué/ﬁu(;_nd‘w;/%

d}‘iu}d»f:.wuhéu?uu@)ﬂf;/%

L3 E e S AP

Ll 37 Se FL o
BLPRY RV Iy

Sn-dF el

(A E LU m)

§2

&3
=y Ku’/}(

1



260
281
291

308

325

327

328

339

351

361

373
383
391
398

404

-JE Ui P gz
-k Cudnld P gz
(DS L3 7§z
(3 Pl S LUdn-3 7§z

BF e ndns ke SE S

S Zudnt
Jluﬁu,muu&ﬁu}’jcuﬂ,u.ﬁ

e nSim i §f L L p = -
S uin-d ¢

Flo L b1 Zisla§ 7 sttsln §s

JeZuid 5 & e f o P
J/L/L/é’"iu’}{u;wu,uuﬁﬁfu)g‘j%}ﬁ
S LI fen-d 6z

Sl }Lb@tgmétﬁ

I\

—_ —_ p— —
(@) (9] B~ (O8]
Can G Gy G
=N RAN N N



ply

_w,ﬁiréké/lgziuu_&@?t?afiag L&v‘.{/&d//“/g}’)u: 1998&/},{55)/!’%;!)7%}”
Uq') U((‘{'JC'—&/;(}WG/J!&IUB)U‘Z’/' Jf»"jﬁmgw,%;uﬁﬁj:»,;/u(z)é}:f{,/“d/upw(1)
-ujz_t‘a}l}’//;l;};'L.:«l:flgﬁ}(//?)/&'nfgfu'}(/Jjﬁuj:a@d)yfu,:‘,;;(j‘:*‘}/.:uujﬂw(4)ﬂ!
e Vs8I S A S Sl 202057 uﬁ” S5

sl f b Loc Ut d 9§ 25 22 Uil wdir otz sfupd il a5 Lo

St ST b7 KU i b F bl e 156
=y u’.f»/l_‘a&t'/'&f) Fetbn Sl e e Foss.8 F il “Bot” xS e i
SEAE it f st fe e d Tl cSumiden & S b gL f
AL Aol m§ G sd fe_p 8 S A TS, e el &I SENS At R
L Musnet§ & e (B0 s1G bk un 3 e e Suisd peb-ctdte =l
o fIE L koS Qs wSotr et 3 e a2 O 918 U Sl Lot S
ey $oty QU bnliTs 2/ ox gsd = o Ut (Challenges) sl ikeos (oo e §3./1 425 S ks
s ETen il f LIS 1o 2 LG srwl ol &SP I 2 A8 o
L é(}fﬂ?ujufvwmryjféa,l?,}ﬂf@"ﬁéﬁd/ uﬁutj,t%,;Jf(“g;3/5K&Jgg,;Jf
A QWb GTE G sy & £ Jr? Laolse U1 $ots s 1S G oy i S Ul QU

P e1998

uJu}b?/g/fL(kq/;Lm:ﬁ.@' Jﬂfofwdf'uuu,}éwf‘agfi»;d/ggwé

3B ol QI3 Ut sl e Pl Lol £ A% st s e s kst § 7

Sl ot FE Feonll e & o Tt st § T3]

/,;,,z,&?/zw,wZu’»’ﬂ/z/-swﬂfd}w‘mdzv{'ﬁau'f§.u%é-fﬁff&w
DAy S AT N

s I de Ay

}'Jlgujb



.
ply

Sre Py e el i = e S n b S Lt g 2 A et
/Jla:uﬂu‘:wd/d)gl’,;/nquhémf.lLrgé_n&’L&’njgwiﬁ';ur’wr-w%mwJ/)uﬁ;w?
e ST 12 F Beb e Ut 1998IGCTSE s 4o FE s A1 d A5 p e w2 S s
,,»“«u/(/b“i_éié(/@alg,;ﬁLuﬂ/i&luw&unuuazmmjtzl’t((n"?;)&l;/o,wb“gui‘2004»2 Z S slls
31 ot Qs P LT e e g A L AN E a1 LTS U ST
LeiSpd sias

Sl st ol £ 2 8 sk ks 33 4 2l UGC-DEB §1 $3-5 Gt U s 22 S
st Ul e LY £ 22 Stslie s £ BT 8 5 e Wl £ 7 B G
Jlbr £ Udst 2\l LGSIS3-6 Gt LUs? S ad Sl aolo J(}J;/ciwm QUol 5479 13/
WP GGGt S/ HSIM Y158 &S ik n sl BT S D L 8 m Qi
e et i S S L UF K e S UM S b

F o8 M et ot i iy B e L S GG GG G e
u!/?d/u!(ibc;%:&f:t'g/q}u‘.@ucdg;ﬂ.”u/}éﬂ/ﬂ/JGW9é Lo LS Lt pE S
d}i,‘.iH’pl55&/}/:5&7/’/@1_‘@g/§;f/;¢512%ugKJM/U;IC]:uﬂri"”go@!’;yﬂ/l/&?w&ﬁ
/;i&w&:lé,ﬁg(}wsytﬁ-uﬁ;/ﬂ}u d@l;;!d.‘.w[&ﬁrujkaj/}g(Leamer Support Centre)}(!/
—e s $E /JUquféi;ufur!)i4(V"z;l Feebo /U ekl §Ttuse S-S

Yoo TG Ao et 5o § 13 S U 3 o QU155 5 o2 et o 6 2% (st ot
<Gl et SRERIL L&y Lt we L1 Kb\ 1) et oS KBS,
U e h Lo st B oo 02, £ gud 2 UM B2 L Sy 2 2 5 L P
e bl

s 6 Qb e LSt Mo ST ST ool § e o G 2 S S 4

¥

S islos 8 sy
2 Qb g 5

50003234 T4



6 J:(

LJ//.J&LQL&J},{{})Aﬁ.JUTUU}”:/}’LLJU)L&L&!‘Z}”L;&UP&/O’J‘?C’/ﬁj{j
Luw.:,g/f‘._:ub?t{/t{.@)d;g&Lu,u@ﬁuﬁ.‘,ﬁu’i_‘a‘}}b@?w el b
(Ordinary (7 s g 1o 540 Fis e S etibn 8 F e LGS i
c“j_ & ?L:(J (-(Partial Differential Equations)uf I;L»d“ /7 U371 #3381 Differential Equations)
LT = E IS o 1 S g s U U1 GtnE i ol Sl
.vuf;ui‘uz-‘ay@/(:ﬁuﬁu#’»/@iﬁufﬁ”ﬁju/@ﬁ@_ut}bft"‘ag@tf AL s
-gfg(uij)ﬂ/?.aﬂ?'/wﬂ‘4&/,(6/&”?)&&/5

Sendtme b Suin§ 7 Ut Shde o 5 S U616 ol
_uJJLﬁufuL»@/'Juk;J;/;%/,tgj%Jaujv,u@ﬂﬂ‘di,udﬁ

é'-l?d/tf.,i Lynsix, PU:J?u}fd/dlﬁ"uf'ﬁt”éﬁyd/,&/)&'/}i.&/%"uﬁJU:;/u
=G Uil 3 F S &t AT " S sls So /",,wiuﬂ-+fg)uu KUdsles s
_‘Ly//“MJL‘«ui‘Ju,wu‘fﬁd}Ciu”d;f

WS el (5 S8 e L T S A fud S
eV BS e §F e U P LI Ly a2 U AL

e WV RS S Lo B P L Grleml I S Suinad 7 szt S,

KJJ@}’/(Practical Manual)&(}@f:bf24 Jlﬂcwéméé'ctzﬂfaflvf&”d/&
-ugZéJﬁ%}LL/JW/J’LuwJ/L»Lwiﬂ‘uﬁu’?c‘,

d/gv/.,llﬁumﬁ;l,/ém;wzig GBSk skt a2 sk S
‘ﬂ/a)fwuﬁcf‘zm_&nuf‘j"(u:_;l"%if/ﬁ@/ﬁb:ﬁ_fd/f}/fﬁ&_w:’ﬁfdGm
KW FEUnE T P

g 1505

;..' d}"fl':( Vs /:(



abb»‘(j/"’y

(Differential Equations)



J.'.@.Jabtwéﬁ-lém

(Formation of Differential Equations)
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o 1.0

yrdv 1.1

JE Senl-3 7 1.2

ool 2 Kdslr 5 1.3

g 1.4

SEISLE 1.5

P 1.6
elrJl ez > 1.6.1
el Jo iz 2 1.6.2
eyl ez 1.6.3

S S5 L L by 1.7

(Introduction)/w? 1.0

dt’d/y/f’)-c‘-t'//;tb/@/" J&;F‘Z—z (Derivative)&:& KJ'JC‘-J‘@&-Q) J/y = f(x) /f’
_ujégjﬁéﬁz:aa'ﬁuﬁ/l,@‘()’”tufu%ﬁ;abl/u:fc‘;ﬂ?g@@;}l;i‘(t{@l;v&};-(x

Partial ) < /sl g/ $27 G (Ordinary Differential Equations) /sl d“/’j d)"” €) U,?L (J}) sl d“/j
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‘.‘L&U-z(c«l}l/L.}./"’J.d)'ZrU}fJ@(Derivatives

<Ml [}./J J;/J % Uy sny :,G:L:‘ L/f:' th’ qut u) /sl 03 :(Differential Equation)u"a‘)l/ J)J.
fd;-a&&:{

¢

Z—i+2x=0 ...... 1)

D 472y9y=0 .. )
Z_Y_z % ...... 3)

(%)2 4@+ L (4
3y=2x2—§+F}m ...... (5)

g_i z_§=22 ...... (6)

% yg_;i=6z ...... (7)
(%)3+(Z_z)7+2y:ex ...... ©)

dL"/:; .{U;l" y",é’db..{tuﬁu! fu;g-uj&kfu;u@)}“dr“”(S)m(s)b(l)u:.wt/ug,?/,c»
wgu:J’fug‘ug&lL:r(Partial Differential Equations)c«'}l/(.}’/'17(5)7(7)/51(6)1%-()3112)"" x"/.'.;:‘
_w;ﬁr/é’ét“/f»m/é"dt“

J/.J‘.‘L L"//:UJ S(ODE) sl J/J s dis &om .{lF(x,y,y’,y”, .....y(”)) =0 =lsleily
YL u}gl‘uﬁdlﬁ&!wk]&%@bugﬁJ@)J!_JL@J&%ZTL}:L/@L'&,UN'L/)Z:c«lﬁl/
4!4“_@”‘/&3}&/&%‘4':;';35/}&/‘}:gfJl«‘"ﬁubﬁ-cﬁ;t’lagdl.ﬁ’l/:abvwuﬁgfuﬁuﬁc.

d? * d . . ds #s . . . v Lo
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e TR e bablad 5 U et b tor?® e LS F AU L
K(Highest Derivative)&xﬁ‘ Q:; (371 4': J1-2s s tsls J/.J!(Order of Differential Equation).*/ K lsls J/.J
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< 1(0den 2 K245y =0 >

2 5d
e 262 4 y
¢ rd dxz

+ 6y = e?

e 3K a7y =0
J sl J'(Power)c«} d/ Q:‘:‘ O%% f” PRSP d“ /f ‘(Degree of Differential Equation).>4) K tsls J /7
J‘%f”«z?(ﬁ”fu}zgeu((g)g + (“—y)4 +7y = 0 1262 4 2x = 01 (S5

dx

-44-3 c«}

dx?

-;/'/(}’”,?/)A!,,:Jg[él- + (%)3]3/2 Ly, J
44&/4@ui»ﬁ-t?nd’w?’g&gfgﬁ/z-c‘-[4 + (%)3]3/2 - %y,u&@:f
dy d?y\’
(@] - (52)

2
_ayy’ dy\’ dy\° _(d%y
B (E) +48 (dx) +12 (dx) +64 = (dx2

L et/
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ze o duf ub =isbe § 7 (Linear and Non-Linear Differential Equation)U2 lsbs 3 ¥ u» &l ub
-ur~d’v.«/d”b£uWul/"dL {722 &.}/ Jl/.fi/ul(Dependent Variable) 2
37 dy+y—e m +y—x ui,uw_adw/uuwd/ J”/r~f’iuuuu

_‘a&'}/{(d—i) + 5y = cos x;;luju.’fl}l/

(Formation of Differential Equation)‘j.’.@ d/ Ul b /J 1.2

:meg_ugatgé - ey 574 Jocre it LA S U

(U/a FabbAIE S0 K Mria S ( 172 &2 (Growth Problem) K FL & b e A1 L s K504 T -1
ZL (@) FIAU P g gt Sre e FIPx() S PPt 56 il 3 7 s i

:(j’ﬂa&n.‘,«/t:
—d ();Ef)) x x(t)
= d(’;(t)) = kx(t)

Ky ‘j) U~ (Decay) /5 d/bl!z?'i el o ey u((Growth).;Lfﬁl % ‘L(Constant)y‘ gb./l‘;k 9]%4

_‘a/:;’:'dl?‘(t Vg’xu%_‘aauvgﬁg}/éz%mg,/;%vgi% = kx.fb?,

vl ‘L(SIOpe)dlﬂ’f”m Jyi < [’lb) K K?:/ L}b’y = mx + ¢ (Families of Curves)JI&l Z u:;:;“
_é"_(lntercept),&)!’p C

y=mx+c¢c .. (D

£ = m SO F xS (D
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GARIN €1 Cgp e v, Cpy utz?,‘at'/’//;lﬁ /uul;’éu.’sj VQ/IF(x,y, C1,Cy wee wee weee, Cp) = Of}/u’/

F(x,y, C1,C2) wen wn ....,cn) =0 . (D

F’(x,y, C1.Cop vunvne ....,cn) =0 .. (2)
F'(x,9,61C0 e, cn) =0 L 3
F(”)(x, Y, €1.Co) ven one ....,cn) =0 . (n+1)

Bl = B A F e teblon + 16U 2 a0 - L Unf @G @+ D bls 50

-gngfibc«l3wéﬁﬂi)¢/na'¢/
_;/J.’.@Z:A;l/(.}’/"'@“;yz = 4axu.;y-ldlf'f
c«i;l/&fd)!f

y2=4ax . (1)

"L(Arbitrary Constant)dp/ d/.Lff'lauLﬁ

242./@%9{39,?@()}7»



dy_

- =2
ydx ¢
_Ydy
a=s— (2)

£ fby? =4 (22w L St s S a$t e LBl a e )

= 2x —
Y xdx

_‘at'//:?y /obL/JﬁcCU]MGZ.%%)ZxZ—Z -y =0,

_;/(:J‘”gut/(}“ﬁ‘u(y = qe?* + be™%* uﬁu_2df’f

y=ae?** +be™>* L. (1)
/,:L/(J/'J/@ux J:‘G,:quu:jﬁu’/(l)c«bw
y' = 2ae?* — 2be~**
2!

y" = 4ae®* + 4be~**

= 4(ae®* + be™%¥)

L& L1601 e hils
y' =4y
';L*’“”VJ/’JJ&UVC‘%W” — 4y = 0L AU
(Alterate Method). 3 # L3
:J}l/éfd;
y=ae®+be™ L )
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J!}Vaﬁéyba

y' =2ae®* —2be™>* L. (2)
Ml

y" = 4ae®* + 4be~*>* L. (3)

e o TBUSbslac ()@ sls

—-2X

y' 2e?* —2e7%|=0
y" 4e?*  4e %%

y 1 e—2x
= e |y’ 2 —2e7%|=0
y"' 4  4e™?*
y 1 1
= er_e—Zx y' 2 =2l=0
yll 4 4
= y8+8)—y'(4—-4)+y"(-2-2)=0
= 16y —4y" =0
= y'—4y=0

-4‘-;’«!)@5}*}.“& Lui'll&éé)fﬁ
B s h Uy -0/ (}*’u,ud ¥l e (x =2+ (y— k)2 = a2 Usos iy B ad 3¢
B A
c".;'«l;l/éfd):dp
x—-h*+@y-k?*=a*> .. (1)
42./0,‘5/(1);,uw/g»

17



d
2(x—h)+2(y—k)£=0

@-m+@y-kZ=0 L. 2)
1+(y_k)%+(d_y)2=0 ...... (3)

dx
dy 2
(1 + a)

2y

dx?

-k =-

e (2) e fals

e (D sl

(&2) (&2)
[H(%)T

é“_o}é’;_tgu:‘zébb/‘(j/gﬁz/)uﬂ

@ @ - ()

,;/Jigalﬁwéﬁcy = e*(A cos x + Bsin x)abl/(:‘(d)ﬁ//ﬁtf /B/;lAalﬁ':“"Adlf‘*
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_‘Lc«bl/éf(j)_f

y=e*(Acosx+Bsinx) L. (1)

_Q/J/’JJ@»J’/(I):«DL»U,?QWMJ/U}?,

d
d_ic] = e*{A(—sinx) + Bcosx}+ (A cos x + Bsinx)e*

Z—z = e*(—Asinx + Bcosx) +y ... (2)
d?y dy
—= = e*(—Acosx — Bsinx) + (—Asinx + Bcosx)e* + —
dx? dx

= (2)etslr

d’y dy dy
L X A
T e*(Acosx + Bsinx) + (d ) I
dy b
dx? Ea dx - dx
d’y _dy
——=2-2-2
dx? dx Y

e =2 (2 )bl §F e AU

-,/J"la.,ul,»&/éfwvﬁd““dmwc— — =1L s

el b Fonf

‘Lfla/.:L/J/'Jx J;‘G,/(l)a!;l/

a2+ az+i =0
dy
a? az+i

19



L Py LleUdn

x*  (=xy)
a? 2 (dy =1
“(z)
N 1 2dy _dy
2| dx T dx
d dy
27 _ 227
= X 7 xy=a I
dy
2 _ 2\
= (x*—a )dx xy

_‘Lalavgﬁd/(l)abbff}?

-’/Jiliﬁ*”b”@ﬁd/‘uywyd{@"a, b,cUzy = ae® + be?* + ce3* e hils_6J)C

cc-c«bl/fd;:f

y =ae* +be** +ce3* L. (1D
= y' = ae* + b2e?* + c3e3*
= y' = [ae* + be* + ce3*] 4+ be?* 4 2ce*
= y' =y + be* + 2ce?*

y' —y=be* +2ce*>* L. 2)
= y"" —y' = 2be?* + 6ce3*

= 2[be?* + 2ce3*] + 2ce3*
y' =y =20 —y) +2ce®>* L. (3)
20



&4k d/ Q) M3l

y"' =3y +2y=2c*>* L. (4)

= y'"" —3y" +2y' = 6ce3* = 3(2ce®*)
/,:J_/'/@/uﬁ‘che 3% = (3)etsls

ylll _ 3yll + Zyl — 3(yll _ 3yl + Zy)

= y"—6y"+11y' —6y =0

_‘au,wJ)TJ(l)abl/C/’u"

(Learning Outcomes)ét«'(_}m 1.4

w,pd}ﬁﬁ,l‘gmgm&"&q]f’;éut,:/Kgu,VJ)Tu’(fuj@u@ﬂuﬁ&mul

.J/L"LJJZ_/J/'J);ng;u(«?ugg;d‘u?é/w,gWd/giln?e_‘agfd/f“&q}r”lJbiu:m,?/;

L0 2 B B e Udsban o Ust JE e 55 sl B B I U2 o7 Ust S b U b £ m
S S bt 3 T s 2 m

(Key Words)5W1(§ ,gK 1.5

Q;‘/:,?/)c&ﬁd}.r‘b}l:&ﬁcdapd/gm

(Model Examination Questions)owr&t?‘w/ 1.6

(Objective Answer Type Questions)éﬂ’/dbé&l‘,lﬁ(fﬁ/" 1.6.1

cpnn K (2 +1) 2+ 20y = ax el
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Kty D 21 .C 12 B 11 A

?ZUnalﬁ';”dJ.@|£ufJ7£u’ln 3,;/)/;!2.;/Kfc«l;l/(5/'°f 3

4 D 3 .C 1 B 2 A
_ujaw;’d/.@mmuulfad/ﬂ ........................ <y =Acos (g + a)JpKJ?:«UL»J}J 4

x*y" +n?y =0 B x3y"+nfy=0 A

JJ;LE!Q’—U:L‘J’ D x*y" —n?y =0 .C

‘Lu,udﬁ"&jj/? 00 L L UL L si 5

y+xy' =0 .B x—yy' =0 A
thjfédﬁcﬂ .D x+yy =0 .C

(Short Answer Type Questions)aﬂ’/dbé:«@l}?/ﬁ 1.6.2
:}/gybdf}véﬂ/gnd:/ﬂb/&lﬁpd/yﬁlLU?UPLJ’}

x2+y?—2cy—c?=0 .1
y = aeb*

y = ax + bx?
y = ayx% + ae™

y = asin(mx + b)

>NV T O VO R Y

x2+y%+2ax+2by+c=0

(Long Answer Type Questions)éﬂ'ﬂdbé:«@iﬁd}b 1.6.3

_)/pb‘”;«bl/(.}’)yd/cc“_f'fiﬁm JZy=mx+ %uuuzﬁu# .1
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x[yy" + ()] =yy' :«Iﬁud"ﬁd/:ujoiﬁ:"dz.@! B sl AUz Ax* + By? =1 Y )
e
HCY NI 4

2L el 1.6.1

a w » a »
w

ezl ety Jol bz 21,62

2 _ 9.2\ (Y 2 _ ay _ 2 _
(x%—2y )(dx) 4xydx x“=0 .1
Yy =y2=0 2
x?y, —2xy; +2y =0 3

2 d?y 2 dy

(x +2x)ﬁ+(x —2)5—2(x+1)y=0 4

@y o2
2 Tmy=0 35

y3[1+ y12] = 3y1(y2)?

ezl ey ol elin)b1.63

o

x(—)z Yra=0 .1
dx ydx a= '

(Suggested Books for further Readings)(: (525 Z e “i L rwr 1.7

1. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,

New Delhi

2. Ordinary and Partial Differential Equations- Rai Singhania, S. Chand & Co., New
Delhi

3. A Text Book of B.Sc. (Mathematics), Volume —I , V. Venkateshwara Rao and others, S.
Chand & Company
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uf!)b‘@/gd/% J)%';J)‘/:“ J%’}ﬂjm

(Differential Equations of First Order and First Degree)

121 L S

ot 2.0

prdv 2.1

B e 2.2

Sd I 2.3
umj;djfui‘u}uuujl;’zufuuujg?/f 2.3.1

ey 2.4

SEISE 2.5

U Q6o 2.6

W Jo Ll s 2.6.1

el Jol bz 2.6.2

eUrJe ez b 2.6.3
S0/ 7 L L sy 2.7

(Introduction)/ﬂ? 2.0

_ﬁ;y(lpu(upbl/@ﬁd/;/)%m;,/%
F (x, Y, Z—z) =0 (1)

Lo SE LS L pmtdiual /S L Lyfe i

.’é{/j’ K (Variable Separable)/“/:g’»?ﬁ N
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(Homogeneous differential Equations)J- fab~ (3 /’ J & 2

(Non-Homogeneous differential equations reducible to homogeneous equatlons)w lalay J

(Objectives) 43> 2.1

Ld?Zu:/lgnjbc;u;bbﬂgﬂd/;u%/)l L;&Jfﬂ,l’ﬂiz_nd‘(ééﬁw
ug:/'utxp!KUI/MKTQ(:«!;L»‘/“,}:J;J;G’/?M‘j.:bl/J}JJ}G’:/,/}:W/?‘)LU;@/’U{&JU
L

(Method of Variables Separable) < y 6, (% 4 Y-l »,

d;//w c— -— = f(x) g(y) dy = f(X) / f(x y)(leferentlal Equatlon)u’}Lf d/’ /’/

*dx g)

-LLt'U-:'((Variables Separable)42:’lf/é>.@.)d; «(J#(Continuous Functions) &W@Jy gl fF)UW

ALUZ = LD LY e

BE SIS s o bl LSS Uil ) = g(y)dy A
[ reax = [ gay+c

-c‘-dy'/ uﬁ CUz

_,/J"Lpd’{dy “y e hsla o1 JE

gu;uéﬁfw-w

dy 1+y?
dx 1+ x2

25



dy  dx
1+y2 1+x?

KﬂWuﬁ/vL/fgwiu

dy dx

1+y2 ) 1+x2

tan"ly =tan"lx + C

£ tan‘lC!/CJ‘LV

e

tan"ly —tan"lx =tan"1C

EnfEeblFSy —x = C( + y%) LA

Z—z + /% = 03/&-2&@‘
c‘—c«'!lr"g/"’"é’(d)-f

dy /1—y2
Zr |2 =9
dx+ 1—x2

dy N dx
J1—-y2 V1-—x?

J‘ dy J‘ dx
+ = ¢
J1—y? V1 — x2
sin"ly +sin"lx =C

_Knd’uuuﬁj} sin"ly +sin"lx = cL iU
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J/J'plpdﬂgd—y — X(2logxt1) :J}l/-?)dlf’"

dx siny+ycosy

‘Lu,u&/’of&@;_d’

dy x(2logx+1)
dx siny+ycosy

(siny + ycosy)dy = x(2logx + 1)dx
gndll,uj‘?/?L/‘_}f_.j[?u},,
f(siny + ycosy)dy = f(leogx + x)dx
fsinydy+fycosydy:2fxlogxdx+fxdx
; f‘ dy =2 [logx - X f L ]+ X v
—cosy +ysiny— | sinyay = _ogx 5 ~ 2 x|+ 5
x? 1 x?
—cosy+ ysiny + cosy = 2 7logx—zjxdx +7+C
i Z-le L(x x2+C
ysiny = _2 ogx AW +2
2 42
siny =x%logx ——+—+C
Y 272

ysiny = x?logx + C
_Kﬁfgc«bl/u;fdjysiny =x’logx + CC}JI
2= (ax+y+ D2 S 4

§_.>1,L»J;de,_d’

dy
= (4 1)2
e (4x+y+1)

27



dulccz =dx+y+1 )7/

dy _ 2
—=z: L (n
dz dy
ax - tax
dy dz
dx  dx
e (1) ol
dz
— — 4 =72
dx z
dz
—=z%244
I z° +
/“d_./(l,w;?:‘
dz —d
72 4+4 x
@J”w:"/g/f_/w;»

z
tanl-=2x+C
2
‘.?}'ZJFK&UP@Z/}(AI-)C +y+1)=2tan"'(2x + )L tan™?! (@) =2x+ CC}JI
-:/(P”Jg(xyz + x)dx + (yx? +y)dy =0 :«i}V@ﬁ-SJU’*
‘Lu,u@ﬁ&@_dﬂ

(xy? + x)dx + (yx?> + y)dy = 0
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x(y2+ Ddx +y(x? + 1)dy =0

xdx 4 ydy
x24+1 y2+1

xdx d
x2+1 y2+1
1[ 2xdx 1[ 2ydy

2 x2+1+§ y2+1

C

1 1
Elog(x2 +1) + Elog(y2 +1)=C

g}’c‘“b/ﬁé./l,«g/.’.;’&

Kﬂdﬂu:"/vé_/quj»

log{(x?> + 1)(y? + D} = 2C =logk (-/ /)

2+ 1D@*+1) =k

e el F TG (2 + D2 + 1) = kLA

-,/(PJ’K% = e*Y 4 x2e ™ bl P 6

L — ex Y 4 x2eY
dx
d
2 (e* +x%)e™”
dx
d
Ty = (e* + x?¥)dx
ey

eYdy = (e* + x?)dx
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B FleahlaF Se? = e + "3—3 +CLAU

(Homogeneous Differential Equations)_x s} /‘J J ¥ 2.3

Wy A, Ay) = () & LA A bl 6 S8 6 n o0 fy) J6 s/
S e S 2 f ) =5 4y
fQx, 2y) = (Ay)? + (Ax)(Ay)
= A%y?% + A%xy
= 2(y? +xy)

=2f(x,y)

SUse FES I3 20 (x,y) = xz;yz LAY

X

(Ax)? + (Ay)?
(Ax) (1y)

B /12x2 +/12y2
- A%xy

x? +y?
— 20
(%)

=2°f(x,y)

f(Ax, Ay) =

cé;dﬂz"/ﬁabbf‘(}”/;u’)g’ Z—z = f(x,y)lsls d/J {(Homogeneous Differential Equations)&’ﬂ/ (}/UJ@%

W T K  p F ) )

dx xy

Q}KJ’L@I;VJ}'UJG’
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% =f(x,y) (D

Z—z =¢p(w)=v+ xZ—ZquLu’lZ—z =¢ G)/;l y = vx;/gf}qrnd‘@u}?"vl;g/;}‘ f(x,y)//ﬂ

:&J_gnd"lp
x%=g‘b(v)—v
I
dv.  dx
qb(v)—v_T
dv dx
> f(l)(U)—U-I_C:f?

Fu f2 f(x,y)c«i;lxujg’

dx

-u:/")b‘”gyggbl/(}“/jgﬂ/Lx = vy_.f}’id/yiz—i =1 (f)gbbﬂ_f’@" iy

y

x2ydx — (x3 + y3)dy = 0/ f-1Je

‘Lc«l;[/éfd)_gf
x2ydx — (x3 +y3)dy =0
xtydx = (x3 + y3)dy

dy _ x%y
dx  x3+y3

A f e y) = 220 Us,

x3+y3

(kx)?(ky)
(kx)® + (ky)*

fkx, ky) =
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(%)
T+
__x%y
Cx3+y8

J’lla u.f‘zéu’l J)ignt‘/@/)y = UX}/J/.%LL/(FJ{JU}I‘LUJGA&UVd”}].fd)“iu'

dy _ @/
E—U-dexg}’?
e (1) e tslns
N dv  x*(vx)
v xdx_x3+(vx)3
A
S x3(14v3) 1403
dv v vt
dx 14v3 1403
1+v3 dx
vV=——
vt X
4 1 dx
vidv+—-dv=——
v X
4 1 dx
vidv+ [ —dv=—| —
v X
-3
_—3+logv=—logx+C
1
—m+logv+logx=C
4:2./@/)17:%
1
- 3+log(z)+logx=C
(1)
X
x3
—3—}]3+logy—logx+logx=C
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logy — — =
= ogy 357
_‘af{(l)cal;l/fﬁ
_;/'/(}’”J’b/x% =y+ xex-2 )i
‘ac«bl/&(dﬁ-f
dy _ %
X—=y+xes €))
dy y+xex
= e =f(xy)
k k o
Yy + kxekx
kx, ky) = ———
= f(kx, ky) o
=f(xy)
Jib U:‘ZC‘—J' /}l/,:L/Zy/)y = vx}/u‘a/'“iz:L/()’”J’KJU;i‘aJ;?‘cA;LAgﬁ@/d;“&u’1
dy _ d_v/
—=v+ xden
e (D tslr
%
dv vx +xex
v+x—=——-—7-—
dx X
dv x(wv+ev
= v+x—= g— v+ ev
dx X
R dv_ v
xdx =e
I -
dx
e Vdv =—
dx
> fe‘”dv = | —
X
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-v
-1
v log C 1 <1>
e ¥ = —logCx = log|—

g ng

=logx +logC

42./@»1) =2

—e Sl S2
-’/Jp[(x +y)dy = (x — y)dx =hsle_3J6

%c«bl/‘:‘fd;-w

(x+y)dy = (x —y)dx

dl:ﬂ:f(x,y) ................ €))

dx x+y
Z—Z =v+ x%?ﬂd"b ey = v/ PP -‘Lé”b’@}’“uj?’v@ﬁ

= (Dedsbr o

+x— =
v xdx x + vx
x(1-v) 1-v
x(1+v) 1+4+v
dv 1-v _1—v—v—v2
dx 1+v B 1+v
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1 (—2—217 )d _ dx
2 0T=2v—2)%" T | %

1
_—210g(1 —2v—v?%) =logx + logC
log(1 — 2v —v?) = —2logCx

1
log(1 —2v —v?) = logm

1
1-2v—v?=——
(Cx)?

/,:L/Zy»v =2

X

Kwx?—2xy—y* = k6Dl AU
—’/(”J‘”Jag(xz + y2)dx — 2xydy = 0 = hle_4 e

‘L;‘J}L/‘éfd)_dp

(x? + y¥)dx — 2xydy = 0
(x% + y?*)dx = 2xydy

dy _ x2+y?

dx 2xy

Yyt xZ—Z(nJilpuﬁcgﬁy = vx;/u"/'_‘gu,u@)?d?’vg,

dx

e (1) e lslr




xa_ v - 2v
2v dx
1_vzdvz—
.[‘—217 dv = dx
1—v2 v= X

log(1 —v?) = —logx +logC
C
log(1 —v?) = log;

1—172=;
/,:L/'/Zy/)v=%

Y\ _C

1-(3) =5

x?—y?=Cx

Kux? —y2 = Cx F Kbl Ui
-}/()‘”Jg((ﬁ —2y®)dx + 3xy2dy = 0 =hle_5 )¢

‘L;‘J}L/‘éfd)_dp

(x3 — 2y3)dx + 3xy?dy = 0

(x3 — 2y3)dx = —3xy?dy

o _x M
dx 3xy?

Yyt xZ—Z(nJ‘buﬁcgﬁy = vx f)utgl_‘ga!;ugﬁujg‘@d

dx -

N dv  x*—2(vx)*
VT T 3x(vx)?
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B _x3(1 —2v%) _ <1 - 2173)

3x3p2 32
dv_2v3—1 _2v3—1—3v3
Yde 30z VT 302
dv  —1- v3
Yde 302
3v? _ dx
1+ T 7%
f 3v? dp = dx
1+ v3 vE x

log(1+ v3) = —logx + log C

C
log(1+v3) = log;

C
1+v3=—
x
/,:L/Zy»vzi
Y\ _C
1+(2) ==
&) ==
x3 +y3 = Cx?

K a3 +y3 = Cx2 D) bl P
_,/r,th’g(xz + xy + y¥)dx = x%dy c«bl/-6dlf‘f

oG-S

(x2 + xy + y?)dx = x*dy

dy _ x%+xy+y? (D
s A e 1

d

e (Db
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dv  x*+x(vx) + (vx)?

U+Xa— x2
x>’(1+v+v?
= * > )=1+v+v2
X
dv
> x—=14+v+v?—-v=1+v?
dx
dv dx
— = —
1+v2 x
j dv dx
= = JR—
1+ v? X
= tan"! v = logx + log C =logCx

/,:L/Zw;v =2

X

tan™?! (%) = log Cx

Kytan? (X) = log Cx F6(D) =holsl P

X
Ust L7 U8 2 e 22301
(Non-Homogeneous Differential Equations Reducible to Homogeneous Equations)

FLY = e, )t )i
dx
(azx + bzy + Cz) Z_z = (a1X + bly + Cl) ................ (1)
/..'/.:deﬁal)u/ﬁc‘-ujl}"‘ a,x + b,y +c, # O,J/b.«z‘u,?:«lﬁ;” a,, by, c, sl ay, by, cy ub‘q‘nuﬁ
€1 =Cy = 0/’79
ngg/ﬁwutytjjg/)ﬂ/(l) o fsle
d_y aix+biy+cq

e e e k&)

dx azx+byy+c,

»ny=Y+kux =X+hfujé»£;@/d1alﬁf”» h,kﬁ/ub}

ath + bk + ¢, =0
a2h+b2k+C2=0
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~Utdy = dYsldx = dX &

dy dY
= dx — dx

Lfn (2) sl

dY a;(X+h)+b(Y+k)+c
dX a,(X+h)+b,(Y +k)+c,

L Ulash+ bk + ¢, = ah + byk + ¢, = 0 U%

dy _ a1X+b1Y
dX ~ a,X+byY

Kol T By six ST S b F A6 e S Dbiloss
-afrﬁl”fg(Zx +y— 3)3—1 =x+2y—3ebl_1J&
‘Lal}b«‘fu’)_gf

dy
2 —3)Z = 2y —
2x+y S)dx x+2y—3

dy _ x+2y-3 (1)
dx 2x+y-3

LA sk Ugy =Y +kax=X+h S P icicend 708 4 Lmenl

fu,?é/u?)
h+2k-3=0 . Q)
2h+k-3=0 . (3)

k=1h=1cbx bt LSS Gl @) =il

Dbty =y +1Lx=X+1 )

dy _ X+2v
dX ~ 2X+Y

............... (4)

-‘L&%%Jliuﬁ
dy av. . _ 7 . Yoes Jiee
LovaxT oy =VX Jic a8 UL,

= W llac
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V+X

AV X +2VX
dX 2X +VX

CX(1+2V) 142V
T XQ2+V) T 24V

XdV_1+2V V_1—V2
dX 24V 24V
2+VdV_ X
1-v2" X
f2+VdV— dx
1-vz | X
f 2 dV+1f_2VdV— dx
1-V2 -2)1-vz" ) X

1

2 1-V

1 1+V
2 x =log (—) —Elog(l —V?) =logX +logC

1+V
2log (m) —log(1—-V?) =2logCX

| (1+V)? 1
g{(l—V)z “a-vy

x—1+y-—-1

} = log(CX)?

/,:L/'/GJJV =

UJL/'/GAY:y—LX:x_lr’Z,_f;

x—1-y+1)

3=
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x+y—2

G—y3 F

Kwex+ y—2=k(x— y)3J7K(l)c«bl/C/’Jl
oo/ F¥ (4x + 3y + Ddx + (3x + 2y + Ddy = 0 = bl 26

‘ac«bl/f =S

(4x+3y+1dx+ Bx+2y+1)dy=0

dy _ 4x+3y+1
dx 3x+2y+1

fuj;wl&“l» hkUGZy=Y+kx=X+ h,(}/ub/'g!_baabtfé/guj?’ﬁ;gutff
4h+3k+1=0 . )
3h+2k+1=0 . (3)

k=1h=-1cbn b, S G @) el

Dby =Y +1L,x=X -1 /]

dy _ 4X+3Y

dx ~ 3X+2v

............... @
Z_; =V + XZ_;Z*;‘?' Y =VX f;/tf/.bx’-é—é’””&/ﬁujl.?vg’: -é—&‘?”tfu‘ﬂf:

e @bl

V+de_ 4X + 3VX
dX 33X +2VX

_ X(4+3V)  4+3V
- X(3+2V) 3420

v 4+3V 446V +2V2

dX  3+2V B 342V
3+2V dx
av = —
—2(24+3V+V?) X
3+2V dV_—de
2+3V+V2) X
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342V W= 2 dx
2+3V+V2) " X

log(2 +3V +V?) = —2logX +logC
log(2 + 3V +V?2) +logX? =logC
log(2 + 3V +V?3)X% =logC
(2+3V+VDX2=C

/.:J_/'/@/)V = g

2+3Y+Y2 X*=cC
X X2 B

2X%2 +3XY +Y2=C
S sy =y-1LX=x+1 iz
2+ D2 +3(x+ Dy -D+(y-1)?2=C

K20+ D243+ Dy — 1D+ (y— 12 = c Dbl LU
e FE (x4 2y — Ddx — (2x + 4y + 2)dy = 0 = bl 36

‘Lc.vblxéfdﬁ_gf

(x+2y—1dx—Q2x+4y+2)dy=0

dy _ _x+2y-1 W
ax 2424z

e v=x+ Zy,J/;//u.’/'..,l

dv_1+2dy
dx dx
dy 1

(dv 1)
dx 2 \dx
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dv v—1
= S T
dx v+1
dv v—-1 1 2v
= —_— = =
d v+1 v+1
v+1
= dv = dx
2v

= v+logv=2x+C

4L/@»V =x+2y

x+ 2y +log(x+2y)=2x+C

> loglx +2y)+ 2y —x)=C

Krlogx+2y)+ 2y —x) = CI (Dbl AU

(Learning Outcomes)éf«’dm 2.4

ALt L = FgFE L = fy)eble I S & s A3
IS nuldy=wx ﬂafﬁuj?“ faSJESS U xy il S S e 3L e
SIS S i S8 il S Sy S il

(Key Words) 51§ ,gg 2.5

g B B el § F UF feai 35 S O
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(Model Examination Questions)ex Ul () 1o’ 2.6

(Objective Answer Type Questions)c:«ﬂlrdlaéc:ayﬁdzy” 2.6.1

‘LJFKyZ—szexz*yzal;Vdn)f 1

e~ eV =(C B e +e¥ =C A
u:"/dﬁj/éd-fcﬂ D eX’ +e V' =C cC
e J’Klogj—iz ax + behls3 ¥ 2

ay _ Xty .,
‘Ldpg i 2z e lsls 3

(x—y)x=C B x=Clx—y)? A
uﬁ;é/c;uﬁw D y=C(kx—y)? cC

(Short Answer Type Questions):«ﬂlrdbéay}?/f; 2.6.2

_://(;J“”Jpgyz cosVx dx — 2\/xevdy = OabLﬁc,‘ég/l’/“z:l,?ﬁ:‘ 1
2)/’1}’:&)%@@5;/} 2

4+ x2 2 =xy® ()
dy _ ¥ Y\ (..
= x + tan (x) (i)
(x? — 3xy)dy = (xy — 2y?)dx (iii)

:aﬁ_/d’/u?ul/@ﬁ(fdj} 3

(e”+1)cosxdx +eYsinxdy =0 ()
(x + y)? % = a? (i)

dy = tan?(x + y)dx (i)

Z—z = cos(x + y) + sin(x + y) (iv)

d 3
d—z =¥tV 4 x%2e* Y (v)

(e*+1Dydy+ (y+ 1)dx =0Gi)
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Z—i’:xy+x+y+1 (vii)

(Long Answer Type Questions)c:«ﬂ!rdlaﬁc:aglﬁd}b 2.63

25/'/‘_)7 1

(x—y—2)dx+(x—2y—3)dy=0 )
(x+2y+3)dx— Bx+2y+1)dy =0 Gd
d_y= x+y+1

——(ii)
dx 2x+2y+3

:g@lﬁ
Wiy Jel ez A 2,62

sinx/f+e§=C 1
(%)—log(%)zlogx+€ @ 2

sin (%) = Cx (ii)

X
x% = Cy3ey (iii)

e+ 1)sinx=C &
y =atan™?! —(x:y) + C G
sin(2x + 2y) = 2x — 2y + C Gii)
log{l + tan(x;y)} =x+ C(Gv)
2

3
ex+e_y+x?= c W
y—log(1+e™™)—log(y +1) =C G

X
7+

C(y+1)=e< x) (viD)
=UrJelelzds 263

x—yﬁ—ﬁ—l)l/\/i ()
X+yV2+/2-1 !

Qy—x+5*=C3(x+y+1) GD

x? = 2y% - 2x4y =2 =C(
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x+y +§ = Ce3*=2) (i)

(Suggested Books for Further Readings)_* (s ’/“f“ 43. L brir 2.7

1. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,
New Delhi

2. Ordinary and Partial Differential Equations- Rai Singhania, S.Chand & Co., New Delhi

3. A Text Book of B.Sc. (Mathematics), Volume —I , V. Venkateshwara Rao and others, S.
Chand & Company
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(Exact Differential Equations)

1712 L

ot 3.0

yrdv 3.1

Snlad T 3.2
91 2366 2L Luinl-§ 7 3.2.1
Q/ﬂrzup 3.2.2

e 3.3

SEISLE 3.4

U Q6o 3.5
2 Jo L (s 3.5.1
el Jol bz 2 3.5.2
ey el eliz b 3.5.3

S oSy i L LD by 3.6

(Introduction)/gz"/ 3.0

s IS

xdy +ydx =0 e (1)

b4 dxy"z"dy =0 e (2)
< SEDO=bl

xy=c . (3)
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‘LJFKQ) sl
*=¢ Y
y

IL:,‘?"LJ}’ZJIU (1)&';@&%;(}%&4{& (3 fsls

d(xy) = d(c)
= xdy +ydx =0
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'%).fﬁaxﬁ’/(l)abtfgl_‘ag}ﬁ 27 J'f/{a!;l/fd;eff(x)dx = ef(%)dx = elogx = xéu’l

%

x[(2y3 + 2)dx + 3xy?dy] = 0
(2xy?® + 2x)dx + 3x%y%dy = 0

/.,é_/'/a, M'dx + N'dy = OJ@KQBVJI_?:«UVJ}IVQV{I:*I
M' = 2xy3 + 2x,

63



N’ = 3x2y?

‘LJFKQUL/“&J!
fM’dx+f(uK/|£x/éf:£N’)dy= C
= f(ny3 + 2x)dx + f(O)dy =C
= 2 ax ¢
2 2
= x?y3+x%2=C

e xPyd +x? = CJ’K:J}[/&@)%JI

(Learning Outcomes)él:«’(ém 3.4

gﬁdﬁgﬂj(dlﬂlﬁ% = Z_I:ﬁ‘L&MQ"L'Ah'Q Mdx + Ndy = 0=lsl~ .1
jde+j(N—rb“/uix)dy =C
uj;{_)gfﬁ'/lg“i LL/J?/.:JUL»AJ!Q:M,&&!)VVQ Mdx + Ndy = Olsle ST 2
_u.?é/r)b‘”gfgu’!L/Jiufgl}vvg;/cabwcuJJ?
(Key Words)5W1(§ ,gK 3.5

J /a,m}p S sl (F Fetslo

(Model Examination Questions ) Ul » A%’ 3.6

(Objective Answer Type Questions)c«ﬂb’dbic«@'ﬁdzﬁ/ 3.6.1

d ax+hy+
Xy VI gehsls 1
¢ dx hx+by+f

uﬁ’&fr.uﬁut.D ,{i.c 4@1y/é‘”.B ujt;“’.A
‘au;uvgiu/r.uidjs 2
(v sin 2x)dx — (cos?x + y?*)dy = 0 .B 2xydx + (x* + y*)dy =0 A

u’j&/:;ufu!.D (a®? = 2xy —y*dx — (x —y)?dy =0 .C
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< LF Kbl I Mx + Ny = 0 sleeblsu ¢ Mdx + Ndy =0 /1 .3

1 1

. . Mx — Ny .B Mx + Ny A
Mx—-Ny Mx+Ny
(Short Answer Type Questions)&ﬂ'}”dbi:«yﬁ/ﬁ 3.6.2
:%/JP/U;UL»‘JJ“)’

ysin2xdx — (y? + cos?x)dy =0 .1

(1 +ex/y)dx+ex/y (1—%) dy=0 2

(x2 =2xy —y*dx— (x+y)?dy =0 3

(r +sin@ — cos@)dr + r(sinf + cos0)do = 0 4
(xe* + Zy)Z—z +ye* =0 5

(Long Answer Type Questions)c«ﬂ!rdbia@iﬁd)b 3.6.3

:Q/&L/Jfguguj.{;ﬁ-ujuflgb..g;ufl)l/u(dh()/qt‘"

(x2 —4xy — 2y3)dx + (y?> —4xy — 2x¥)dy =0 .1

(x? + y?)(xdx + ydy) = a?(xdy — ydx) =0 2

[cosx tany + cos(x + y)]dx + [sin x sec?y + cos(x + y)]dy = 0 3
:J/Jp}(u;’)l/‘d/d}

y — xZ—i =x+ y% 4

(Bxy? — y¥)dx — 2x*y —xy?)dy =0 5

y2dx + (x* —xy —y?)dy =0 6

:,/()‘”Jym?uudu}

(x3y3 + x2y2 + xy + Dydx + (x3y3 —x?y? —xy + Dxdy = 0 7
(x*y* + x2y% + xy)ydx + (x*y* —x?y? + xy)xdy =0 8
:3/()’”J’£u}'i;ud/d;’

(x2+y?+2x)dx+2ydy=0 9

(x3 = 2yH)dx + 2xydy =0 .10

(2x%y — 3y?)dx + (2x3 — 12xy + logy)dy =0 .11

(Bx2y* + 2xy)dx + 2x3y3 —x*)dy =0 .12

_;/&L/)Jyg(xyz — ex%) dx — x’ydy = O=lslr .13

_;/JV/(ny‘*ey + 2xy3 + y)dx + (x%y*e? — x?y? — 3x)dy = 0=lsl» .14
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c«glﬁé aUlrleLcaglﬁ/‘g? 3.6.2

3ycos2x +2y3=C

1

x + ye(5) =C 2
x3—3x%2y—-3y’x—y3=C 3
r? + 2r(sin@ — cos0)dd = C 4
e +y:i=C 5
c«gl}?écaﬂlrgfbéayﬁd;b 3.6.3
x3—6x?y—6y’x+y3=C .1
2 2 2 -1(X\ —
x“+y*+ 2a“ tan (y) 2C 2
sinxtany +sin(x+y)=C 3
logy/x? + y? —tan™! (3) =C 4
x3 y _
IOg (37) + - c 5
Vi —y)=C(x+y) .6
_1_ 2 _
XY= logy=2C .7
x?y? 1 x\ _
> —E+10g(;)—C .8
(x2+yHe*=C 9
x3+y%=Cx?* .10
6x3y3 —27xy* +3y3logy =C .11
x3y3+x2=Cy .12
1
2¢7 —3L=C 13
) X
x2eV+=+==C .14
y
(Suggested Books for further Readings) 50n /7% & L& by » 3.7

. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,

New Delhi

. Ordinary and Partial Differential Equations- Rai Singhania, S.Chand & Co., New Delhi
. A Text Book of B.Sc. (Mathematics), Volume —1 , V. Venkateshwara Rao and others, S.

Chand & Company
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o . : g
U sl (3 2 ub)d/z J)%'::J)'/:“ /%’; -4 J¢l
(Linear Differential Equations of First Order and First Degree)
171 L 36
att 4.0
prdv 4.1
3P S ndtme e 42
NNy a4 42.1
e 4.3
SEISE 4.4
U Q6o 4.5
e Jo Lz Fs > 45.1
el Jol bz 452
eUrJel ez b 4.5.3
S0/ 7 L L& sy 4.6

(Introduction)/ﬂ? 4.0

/“U)gfbﬂy %}LL/JP)U:’A'%J?UL/ Jdﬁupbd‘&/ (Linear Equations)wc'}b‘ubj
/Z—z + Py = Qy”;«l;lx&ﬁm{_z—z + Py = Qﬁ&aiﬁvgﬁyggz;%zal¢/%_wf)
_L/J“/(Ja/tdJjﬂfu)"-u,?:é(Bemoulli’s Equation)a’.’a'}l/‘d}j/,
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(Objectives) 4> 4.1

KQ)U}!Zu:lg}ﬁ.ﬁl)c_u;bl,f&}].L)L}J.L/)%/)'é/%d/(ﬁdc; b’,t’/?a'_ng}‘(ziémw

u,t/J)ﬂ"u}”'(«uﬁét{lm_ﬁqlg;ﬁ;ﬁud’fg’é)LJ’L;!;L»JJ/,):‘ EESSS

LSLZvpy= 0yt ebslbr S5 I ENESF e sa Jg;,u,g;/jl—y Py =0
Ly lose S

Uf"}bﬂ&)}.()}}‘f‘&/}%u'.&/% 4.2

(Linear Differential Equations of First Order and First Degree)

Jﬁd/.lg/d/u;lﬁlf/(}“/"jub}g,(.&ﬂ%u!'&/%

dy _
a + Py — Q ............. (1)
-u:zd‘lﬁdy Zxl 155 3¢ Q #IP Ul
(General Solution)()aﬂ&((1)&'}@@(U}'Z¢U&L&7 “/“J/JLX /.:Ij)‘/((QJJ’P /'7' :,:«)”.]

yedex — f[Qedex]dx+ C

K
c‘-c«bl/(:‘fd;::d‘

dy _
™ +Py=Q (D
¢S bt 2P Mdx + Ndy = 050D eblr etk Lxnd QP Ul
(Py-Q)dx+dy=0 .. ()

N=1sM =Py —Q Jly

OM_P N

ay ' ox
68
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oM L ON
Jdy 0x

L‘/g“édjb"«’}b‘u@(z)c«ljlxéJ’
1 (aM aN) 1( 0) o)
N - ! Jx

dy Ox

42 u/C’-« efpdx/(l):d’)b"—‘a I.F.= el Pdx (Integrating Factor)dﬁ)‘i J)‘{/K(Z)c«bl/éj_ J1

?nd’buﬁq

dy
[Pdx Z7 [Pdx . ., — [ Pdx
e I + Pe y =Qe
= i(yedex):Qedex
dx
d
= ja(yefpdx)dx = j[Qedex] dx

yedex — j[Qedex]dx_I_C

-LLJ“’“ LICUze yel P = [[Qel P4¥] dx + CF BD bl bUr

@2+ D2+ axy =S f e

x24+1

44-&'5[/6’%}-()7

d
(x* + 1)d—§:+4xy =

x?+1
/“uJutJ{’JZ—i + Py = Q:J/c«l}l/‘u’i
dy 4x _ 1
2 (x2+1)y e - AR (1
1 4x
-JQ = (x2+1)? »IP = x2+1 ulf'/'

‘LJVKJl“iJl‘LaUVJ)yubb{!(I)aDP J/U)Z.
yedex — f[Qedex] dx + C
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Lo ly/fvelradead £ F Licug

f Pdx = f (xfi ) dx
=z f (xzzi 1) dx

= 2log(x*+ 1)

= log(x? + 1)?
=
el Pdx — elog(x2+1)2 = (x2 + 1)2

v DIl T AU

y(x?+1)% = j [ﬁx (x% + 1)2] dx + C

jldx+C
=x+C
_‘Ly(x2 +1)?%=x+ CJK&’)VJ&)%J’

xZ—i+ 2y —x%logx = 0/ F2Ji

‘Lc.vblxéfdﬁ_gf

dy
— 4+ 2y — 21 =
xdx+ y—x“logx =0
d 2
d_z+(;)y=xlogx ............. €D

-JfQ =xlogx »#P ==l

RIN

e KL e abl( 7 L) ebls SUz
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yedex — f[Qedex] dx + C

Lo Ly fFveradind £ F7Licus

fpdx =f(§) dx

= 2logx
= log x?
Lui
ol Pdx _ logx? _ 42
EnfeDenla by

yx? = f[x logx]x?dx + C

=fx3logxdx+C

d
=logxfx3 dx—f[a(logx)fx3 dx] dx +C

i fl e s c
= — — —X_
4 ng X 4 X
_* 1f 3dx + C
= logx - | x*dx

x4 x4
2 loox —

7 0gx 16+C

e xPy = %logx - :—Z + Cgf(c,blméfo’)“iu’l
_wéWQLyM&/Qlﬂipl UL{?@"_(}}’Z Z—; + Pix = Qldﬁd/uaugﬁu»awﬁ :(Remark)o/.;

Knc/JJ;'J’K_»,ww_,;

xefpldy = f I:Qlefpld.')/:l dy +C
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_}/()L‘”Jpg(x + 2y3) Z—z =y ehls3JE
‘L;‘J}L/‘Lgfdﬁ_f
dy
3y L =
Cct+2y? )=y

/.:i,gwyd/gvd/a!;b*gﬁub[am/gﬂ

-UQ, =2y* #IP =~

‘LJVKJI

xefpldy = j [QlefpldY] dy +C

Lo ly/SFeelnvdead £ o F Licug

v Pl L AU
1 — 2 1
x;—f[Zy xy]dy+C

=f2ydy+C

=y2+C
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e x=y>+ Cyf(c«blxéfdmj_u‘l
-ﬁ/()’”gfg(l +y?)dx = (tan 1y — x)dyai;lx-4dlf‘«‘
‘ac«l)l/fd)_f

(1+ y?)dx = (tan"1y — x)dy

/.:i,gwyd/.l:vd/a!;b*gﬁubfabL/Jl

dx 1 _ tan~ly
dy + (1+y2)x = ez €))
tan_ly 1
- = | —
4 Ql‘ 1+y? 41 Py 1+y2 ul{ﬁ
‘LJFKJI

xefpldy = j [QlefpldY] dy +C

Lo ly/SFeelnvdead £ o F7Licug

frar-{ (i)

=tan"ly

L

1

efPldy — ptan™ly
€ Dbl Ui
-1
S

z=tan"ly = dz = ——dy ,ﬁ/u‘/

1+y?

xet@n ™'y = fzez dz+C
=(z—-1e’+C
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= (tan"ly — e 'V 4 (
< x=(tan'y—1) + Cetan_lydpga!gufd;%_u‘l
0 Ul ,J/J‘L —+ 2ytanx = sin x.«l;l/(}/’ JJ}/(}L’”_J;VJQ{-SJV
‘ac«bb‘fdﬁ—f
Z—z + (2tanx)y =sinx .. €D)
-UQ=sinx s P =2tanx Jly
‘4J"Kw“&w‘4guu3}?ub.,{! (1) ehls SUZ

yedex — j[Qedex] dx + C
L LySSfeed de‘&?(«“&ziw_‘af““” Liculg

dex = f(Z tan x)dx

= 2logsecx

= log(sec?x)

U

3

el Pdx — plog(sec’x) — qoc2y
K FED=bl T AU
ysec?x = J[sinx -sec?x]dx + C

= f[secx-tanx] dx+C
=secx +C

- ysec’x = secx + CJ’K;«!;V&@:“LJI
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T T
0)sec?= = sec= + C
(0)sec 3 sec3 +
0=24C>C=-2
2 = sinxeble( TS b §§ U1 ysectx = secx — 204
-+ 2ytanx = sin xelsls( ¥ sl Jlysec’x =secx — 20 A1
(Equations Reducible to Linear Differential Equations)_x Ul/ul'} 4%, J; 7 4.2.1

nuﬁf" J,E,?/);Z;,I;L/o, _,g/?

dy _ n
E + Py = Qy ............. (1)
_‘L&My,uéﬁdﬂu}d‘wéxg;m&f’ Qs PUV
“im-u;;;?ﬁ/(l)wuc, y‘”“iZ:Lt:c«bl/&;/(l)c«bl,—*ééiL/f/u’l
y‘"Z—z +Pyt™"*=¢@ L. )

Y= )

dy dz
1-— =
(1 =ny dx dx
,dy 1 dz

dx  (1-n)dx

= (2)elsls

dz
—+ (1 —-n)Pz=(1-n)Q
dx

dz 7 _ 14
E-I_PZ_Q ............. (3)

“gcﬁtggf LS ‘gu‘”'} 3zbsbe— P’ = (1 —n)P1IQ" = (1 — n)QU
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Z—z + (i)y = x2y625/’/f_ldt"f
‘Labb«‘fd;_f

_ed _
yﬁd_z_l_(i)yszxz ............ (2)
-y 5=Z~(5/'/Ub/.
Loyl _dz
dx dx
ey _14dz
dx —5dx
= () sl
1 dz (1) o,
—5dx X Z=x
Z_JZC f— (E)Z = —sz ............. (3)
- Q =—5x% sIP =2

§,J’KJ¢“&J¢4‘-¢1M@/’JJ’L{!<3)M,L»fu;g

zel Pax = j[Qedex]dx+C
Lute 7w

fpdxz —5[(%)0&

= —5logx

=logx~>
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el Pdx — e,logx_5 = x5

€ FeDenlal AU

Zx~> = f[—sz -x°ldx + C

=—5fx‘3dx+C
Y
- -2
5= ¢
zx 52
5
z=§x3+(3x5

eyt = §x3 + stdpgc«blxdfd)éu"
xZ—i +y=y2logxn F 20
‘L;vl;bféfd)-gf

d
x—y+y =y?logx

dx
Zr@)y=(=)» D
/?’9;?«/3/(1):«1)@&}1_2
y_zz_z n G) y 1= (lc’%) ............ (2)

sy t=2000)

ady_de

dx dx
o4y __dz
dx dx



= (2)etsln

logx

-JIQ=- . »P=—

R 1R

Ul
e FEL e eiid I E L6 el LUz

Zefpdxzf[Qedex]dx+C

LU Licug

dex=—f(%)dx

= —logx
=logx~1!
LU
el Pdx — glogx™" _ —
X
£ S (Detslel fU
1 logx 1
Z—=f[— -—]dx+C
X X X
log x
= —j gz dx +C
x

1 d 1
= —longﬁdx+f[a(logx)fpdx] dx+C
L5 +”d(l )fld]d +C
z_=_logx 7, (ogx) | —Zdx|dx
z 1 1 -1
—=—logx+f[—><—]dx+€
X X X

X
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z_ L J L v+ c
2= 08X 22 9x
1 1 1
—=—logx+-+C
Xy x X
_+§ =logx+1+ de”t{u,u&(;;;w
Z—z —xy = —e " y3u S F 3
‘Labl/&(d;_f
dy _ _—x%.3
T xy=—e My (1)
/.:2;_)(3%/(1);&!5[,/;313
34y 2 _ _ _—x?
y“CoomxyTt=—ett ()
Syt =20
dx dx
,dy 1 dz
Y o= 55
dx —2dx
= (2)=tsls
1dz _ 2
Sae X2 =e
Ly oxz=2e7 %" 3)
dx

~EQ =2 »P=2xJl
ﬁ;JP(J!éJ!ﬁ;:«!)V(E/’J(};Vg (3) = faln fU}Z
zel Pdx — f[Qedex]dx+C

LUt 7 Licug
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dex = f 2xdx

:xz

edex = e*

zeX = J‘[Ze"‘2 - exz] dx + C

=2f1dx+C
=2x+C
ze* =2x+C
z=e"(2x+C)

y 2 =e*(2x +C)

[]

R

€ FeDenblal AU

ey 2= (2x + C)J’Kc«bl/&fdjégﬂ

L~ 2ytanx + yztanzx:u'/ngJU‘»

dx

dy
_2 t Zt 2
Ix ytanx + y“tan-x

% — (2tanx)y = (tan?x)y?

d
y~? ﬁ — (2tanx)y~! = tan®x

. dy dz
dx  dx
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= (2)etsln

dz 5
—+ (2tanx)z = tan“x
dx
9 4 2xz = 2e %
dx

-2 Q =tan?x » P = 2tanx Jly
e FoL e eiiad S E L0 el Uz
zel Pax =f[Qede"]dx+C

LU Licug

dexsztanxdx
= log sec?x
LU
el Pdx — plogsec?x — 5.2,

v D=l T AU

Z sec’x = j[tanzx -sec?x]dx + C

éJl dt = sec®xdx Fextanx = /1

ZS€C2x=ft2dt+C

t3
=—4C
S+

" tan3x
zsec’x = —

sec’x tan3x
= = +C
y 3
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2

_ésec X _ tan3x+ CJK&’)V{&)QJ_J’

¢ -y 3

xZ—i +ylogy = xye*s S f_5Ji
‘Labb«‘fu’;_f

dy _ X
x—=—+ylogy = xye

dx
%Z_i’ + G) logy=e* (1
U = logy s/ P/
ldy _du
ydx dx
= (Detsln
Z_;‘ + G)” =e* )
“EQ=e* P =-U

c‘-fKJl“ich‘-c«!;VJ}T&'}ug (2) e fsln J/u:?:

uefpdxzf[Qedex]dx+C

LUt 7 Licug

1

Jde = J—dx
X
= log x

Ul

3

edex logx

=e =X

Cr FEailG S LA
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ux = f[xex] dx+C

=(x—-1e*+C

xlogy=(x—-1e*+C

- xlogy = (x —1)e* + CJVK;,ULA&/(})QJ_JI
-;/(#‘JFK% + y cotx = yZsin?x cos2x =lsls_6JE
‘ac«bl/éfd)_f

Yy y cotx = y?sin®x cos?x

dx
—Zd_y_l_ -1 j— in 2 2 ( )
yf—+yTteotx =sinxcostx L. 1
4y _ _du
dx dx
(D fslr
du n 5
—— 4 ucotx = sin“x cos“x
dx
d ,
d—z —ucotx = —sin®*x cos®x . )
-2 Q = —sin®x cos?x 1 P = — cotx by

4‘-J‘7KJ1“&JI§.Q!;VJ%&&V§' (2) e fsln J/U)Z.

uefpdx=J[Qedex]dx+C

LueFdicus

Jde= —fcotxdx

= —logsinx
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Ul

3

edex — e~ logsinx _
sin x

KnJ"w,u&@; AU

1 _ 1
U—= f [—smzx cos’x (—)] dx +C
sin x sin x

= f[ cos?x(—sinx)]dx + C

“iu’l dt = —sinx dx Fscosx = t/1

1
U =f[t2]dt+C

sin x

1 t3

—=—+C
ysinx 3

1 cos’x
ysinx 3

1 cos3x o
oo = oS- F S U

-;/()’”J’K% + xsin 2y = x3 cos?y =lole_7J
‘Lgl}bf‘éfd)-dp

2 4 xsin 2y = x3 cos?y

dx
1 dy 2sinycosy 3
b ey
cos?y dx cos?y
secty 12 = x3 1
y L4 2xny) =« 1
U = tan y,ﬁ/’lf/
, dy du
SV ax T dx
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e (1)etslr
% +2xu=2x3 . )
-2 Q=x3sP=2xUy
‘LJ’KJ@_J;‘LQ,L«J}J&}VQ @) ehbls SUZ
uel Pax =f[Qedex]dx+C

Lo dicue

el Pdx — of2xdx — px?
gﬁdpgc«bl/éfd) C}u’l
ue*’ = f[x3(ex2)] dx + C

Luidt = 2xdx Fenx? = t )

2

1
ue”® =Ef[tet]dt+C
x2 _1 _ t
e tany—z(t De*+C
2¢ tany = (x2 — 1)e** +C

- 2e** tany = (x? — 1)e"2 + Cgf(;vblxéfo’)“iu’l

(Learning Outcomes)é (- (}m 4.3

:«l)l/d“};

4"_311:(:«!;[/ J}J(}”}J;/;%m4“_1%‘ugd‘uid’uzixw7’"»(§/(gmp ulg‘% +Py=4Q
sl d/d]/, Z_i/ + Py = Qy" £ ' yel P* = [[Qel P4¥]dx + C (General Solution)f((a KU1

_Q,?L//Jlla/lk‘)k}/abbfu’ldpg&i;gl%(
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(Key Words) 51§ /:K 4.4

c«l;Lfd/d}?/,:Ji@J'yral;L/éﬁy

(Model Examination Questions)< Ul J 1<’ 4.5

(Objective Answer Type Questions):«ﬂﬂ}"dbéagl}?dﬂjf’ 4.5.1
y_1l,-1.
SLFEZ—Cy=—enle
FHetod 2L 1 B x A
2 e
‘L‘fﬂcl{x —ty= letbslsr 2

u’.?';(jfauﬁgﬂ D y==Ce* C y=1+Ce* B y=1+Ce§ A

< LF. (1 - xz)Z—Z +xy = Cxelsbs 3

7 1 1 1
Y evtud 2 C —— B — A

(Short Answer Type Questions)aﬂ’/dbé:«@l}?/’g 4.5.2

1)/ Ja

dy 1 _
1+x)—-xy=1-x .1
(1—x2)3—z+2xy=x 1—x2 2

24y _ _ 2,2
xdx+(x 2)y =x%ex 3

v _ 2, — leaint
E—;y—x+xsmx2 4
xlogxz—z+y=210gx S
SSFSa- xz)% +xy = axabb/[}'/g .6
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(Long Answer Type Questions):«ﬂ!rdbéa@l}?d? 4.5.3
Exy= Zgj_zix = 19“/£:fu>‘3—z+zy = iz J/JP 1
Z—z =1—x(y—x) —x3(y—x)3:;/'/f 2
dy _ sinxcosx-—sinycosx .
—}/’/")J;'AJKE = cosy e lils 3
x2
Z—z +xy = y%ez logx :J/JV 4
Z—z + ycosx = y"sin 2x25/'/J7 S
HOEVEI
ezl elirJoleliz A 452
A+x)y=x+Ce* .1
y=v1—-x2+C(1—-x%) 2
2 2
xyex = x? +C 3
Yy — ost
Z=logx+-cos+C 4
ylogx = (logx)?+C 5
y=ax+CxVv1l—x? 6
ezl e lelind 453
2x3y=x%2+3 1
1 2
+ (14x%) =ce” 2
(r—x)? ( )
eS"*siny = eS"*(sinx — 1) + C .3
x?
ez =xy(1—logx)+Cy 4
(1—n)y!™ =2[(1 —n)sinx — 1] + C(1 — n)e@-Vsinx 5
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(Differential Equations of First Order and Higher Degree: Solvable for p)
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(Introduction)/gz"/ 5.0

c,&%f%ﬁfi;‘gﬂauuJ}J(l&J@;J‘w;/%

n-1 n-—2

(Z_z)n*'fl(xd’)(%) +fz(x,y)<z—z) +---+fn_1(x.y)3—z+fn(x,y)=o
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(Objectives)4#» 5.1

Faf ALITLLpr Ll g/ S oetdSeild 7 T2 Liw* L6
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(Equations Solvable for p):«’)bﬁdbd’_lgd/f“i Z:p 5.3

e bl s pnd el 8 S o il 2t

p" + G+ 0P 4+ fua (0P + fu(x,y) =0 D
-Jjéi"wﬁ'f.c%)djgnc(l) el S5 S L Lpfent-uif

(P =01 y)(P = 2(x,9) - (P — Pa(x,9)) =0 @

d/;/) %/)i‘iz%ufi;tf df,:fuj’"&f) (’Z-Lj,?éz/,!/, L}‘/(Factor)(_}/’}?. .{!/: Z(2)=lsln
+J;;/;Jguuf“éul.-ujé/d”:,uigkfé_;utJugﬂ/Jugufuué/f

Fi(x,y,C;) =0,F,(x,y,C;) =0,-+,E,(x,y,C,) =0 . (3
_‘QCJSBBGL%/I’J,);A/JPL €)) c«l;l/“iu’!
Fi(x,y,C) F(x,y,Cy) - E(x,y,C,) =0 )]

Z(4) =hls (Particular Solution)f* 6 bg/;.lf@-’/gjllac“_{_/}' Z(3) =hils IU)Z :(Remark)s &
A T L L S Cy, o ey Cpe Seae b o S E e ot SOl 25
-(@Zﬂﬁ)&/@fﬁb@ézC

LU S e 2 5L A A
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~ES P2 —5p+6=0 =hle1

4&4&%&5@/}/@!5&&3}-&

P-3)p—-2)=0

f%%dc’b“:”u":
p—3=0Lp—2=0
S
p—3=0
Y3
dy = 3dx
ctnf ot i S
y=3x+Cq
17 UG
p—2=0
L
dy = 2dx
c‘,L"nJ"lpu.fﬁ/,:L/Jwa
y=2x+Cy
gnd’(a!;ufd;“iw

(y—3x—Cp)(y—-2x—C2)=0

S —op+18 =0 b2
/?i4uiﬁjszy/)la¢;uéfd;_d”
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—-6)(p—3)=0

dy = 3dx

y=3x+Cq

dy = 6dx

y=6x+Cy

(y—-3x—Ccp)y—6x—C2)=0

f%%f&}d’!t
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h—d’
.

ctnf ot S

4;5'24_/5)@/1’(57

§,an’buf€4L/JfKJ|

?ndpl{g!;w&fd}éu’l

_“éf/xpz +(-1-Dp—-x(y—1) = 0 =hl-3Je
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xp+y—1=0Lp—x=0
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dy
dx
dy = xdx
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4;3'24_—/»6/1’Ji
xp+y—1=0
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y—-1  x
‘LL?'}’ZJILPU:‘Z/.:L/JA{{J’
log(y — 1) = —logx +logC>y
log(y — 1) + logx =logC>
log{x(y — D} = log 3
x(y-1 =0¢
xy—x—0C=0
gnf(c,bl/u;fd)éu’l

Ry —x*—c)(xy—x—C3) =0
-:L:(J’félyzpz + 2xy(3x + 1)p + 3x3 = 0 =lolr_dJi

44'.:«!;[/6{5; S

4y2p? + 2xyBx + Dp+3x3 =0
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2py(2py +x) +3x*(2py +x) = 0
(2py +x)(2py +3x*) =0

2py+3x*=0L2py+x=0

2py +3x%2 =0
d
2y£+ 3x2=0
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2py+x =0
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2y2+x2—C2:0
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h—/’
-
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a 2x?
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_ Xy + xyV5
2x?

p = xy(l i\/g)

2x2

dy _y(1£v5)
dx x 2

d d
22 = (12V5)=
y X

gtnd'ilau:‘z/’L//Jf
2logy = (1 + \/E) logx +logC
logy? = log Cx(1£V5)
y2 = Cx(1£V5)
gngf(c,bl/{d)“&w

yz = Cx(li‘/g)
2 *
~ESI (L) 430y 2 42y? = 0 b6

44-4«'5[/6’%} S

dy2 dy
2 (27 ol 2 _
x(dx) +3xydx+2y 0
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xp+2y=0
dy
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xdx Y
d dx
_y+2_=0
y X

logy + 2logx = log ¢y
x?y =¢

Xzy—C1=0

xXp+y=
dy_
*ax Y

d d

dy dx_

y x

logy + logx = log C»

logxy =log C»
xy =C»
xy—Cy =0

(x*y —c)(xy —€2) =0
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‘Lt'nd'jbuﬁﬁ/?é./&f
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gndp(c«bl/fd)éu’l
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p?+xp+py+xy=0
+x)(p+y)=0

-
p+x=0(p+y=0
S
p+x=0
fl—i}+x=0
dy +xdx =0
gtnd'ilau:‘z/?L//Jf
2y+xt—¢; =0
cfi;/u@/dl
p+y=0
Z—i}+y=0
C;—y+dx=0
ctn ot S
logy+x—C2=0
?ndpl{g!;w&fd}éu’l

QCy+x%2—c)logy+x—C)=0

-..étffpz + 2xp — 3x2 = 0 = hle_8JE
el S
p?+2xp—3x2=0
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(P—-x)(+3x)=0

p—x=0(p+3x=0

p+3x=0
dy
—+3x=0
dx x
dy + 3xdx =0

2y +3x2—Cp =0

Qy—x*—¢c)QRy+3x2—-C3)=0
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-

‘Lt'ﬁ(jilpu:‘z/?é_/g}f

cfi;/u@/dl

ctn ot S

?ndpl{g!;w&fd}éu’l

'..étf’(y (Z—i)z + (x - y)Z—i —x =0 hle_9Je

2

dy

J’(—) +(X—y);l—i:—x=0

dx
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yp?+(x—y)p—x=0

Op+x)p—-1)=0

yp+x=0\p—1=0

yp+x=0

dy
—+x=0
Yax T¥
ydy + xdx =0

p—1=0
dy
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dx

dy = dx

y=x+c,

logxy =logc,
x—y+c,=0

G2+ x2—c)(x—y+C)=0
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_“é‘f/xypz +x+y)p+1=0zblr10Je

xyp?+(x+y)p+1=0

xp+DOp+1)=0

xp+1=0Lyp+1=0

xp+1=0
dy

41 =
xdx+ 0
dy+—=20

y+logx—c, =0

yp+1=0
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—+1=0
ydx+
ydy +dx =0

y2+2x—c;=0

(y+logx —c))(y?>+2x—Cy) =0
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_“é‘j?/pz — 2xp — 8x% = 0z Mslr_1 lJlff

‘Lc«bl/fd; S

p% —2xp — 8x% =

3

p—4x)(p+2x)=0

J/J‘LJC'.::’}JI,:
p—4x=0ip+2x=0
S
p+2x =
Z—i}+2x =
dy + 2xdx =0
c‘-t’nd'llpu:ﬁ/’L/U'i
y+x2—¢; =0
L)ZL/))Z//OJ’
p—4x =0
%_49( =0
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‘gbnd"buﬁﬁ@'@/‘)f{w
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an(au,u&fd;“iw

(y+x2 _C1)(J’_2x2 —c)=0
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2
_"é‘f/xz (%) - nyZ—z—xzyz —x* +y2 =0 =hle_12J6

‘Lc«bl/fd; S

dy\* dy
2 2,,2 4 2 _
x(dx) 2xydx x‘yc—x*+y 0

‘Lt'nd'ilauf?/?’&f/j—i = pUelsla]

x2p? —2xyp —x*y? —x*+y2 =0

2xy £ /4x2y? — 4x2(—x2y? — x* + y2)
p =

2x2
_ 2xy £ 4x3{y? — (=x%y? —x* +y?))
- 2x2
_ 2xy +/4x2(x2y? + x%)
B 2x2
_2xy 2x2%\/x?% +y2
N 2x2
y £ x/x?% + y?
= p = ”
dy y+xx?+y?
= =
dx b

. d d oot
é/ﬁ =v+x d—Z/}l y = vxJly “i ' -<—(Homogenous Differential Equation) sl (}/’ J’V v{' -
Oy

dv  vx +xVx? + v?x?

V+x——=

dx X
dv
= v+xa=vix\/1+v2
dv
= — =414+ v2
dx
W _ iy
= = xrax
V1 + v?
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sinh"lv=x+¢

sinh™?! (

Y
X

N——

R I

:x+C1

= sinh(x + ¢;)

y —xsinh(x +¢;) =0

= —dx
V1 + v?
sinh v =—-x+¢,
.1 (Y
sinh™1 (;) =—(x+cy)

R

y +xsinh(x +¢,) =0

ASN

-

ctnlostt i S

/,:é/v =2

X

/f!m

ctnf ot S

=

X

= sinh{—(x + ¢;)} = —sinh(x + ¢,)

gndp(c«bl/fd)éu’l

[y — xsinh(x + ¢)][y + x sinh(x + ¢;)] = 0

_“éf/pz — (2ycotx)p —y? = Ouslslr_ 136
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p® — Q2ycotx)p—y*>=0

_ —2ycotx */4y%cot?x + 4y?
- 2

p = —ycotx + yycot?x +1

p = —ycotx + ycosecx

p +ycotx = tycosecx

Ul

3

(p + ycotx —ycosecx)(p+ycotx +ycosecx) =0

J. _»LJC' S

p+ycotx —ycosecx =0\p+ycotx +ycosecx =0

p +ycotx —ycosecx =0

cd + y(cotx — cosecx) =0

dx
d
731 + (cotx — cosecx)dx =0
dy
7 = —(cotx — cosecx)dx
d 1—cosx
—y = <—) dx
y sinx
d X
i = tan—dx
y 2

X
logy = 2logsec (E) + logc;
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logy = log ¢, sec? (;)

y = ¢, sec? G)

y — ¢, sec? (;) =0

:,3'14_/»@/1’6’!

p +ycotx +ycosecx =0

dy
I + y(cotx + cosecx) =0

ci/_y = —cot (;) dx

ctnf ot S

X
logy = —2logsin (5) + log ¢,

= log cosec? (;) + logc,

logy = log c, cosec? (g)

y = c, cosec? (g)

y — ¢, cosec? (;) =0

gn‘f(c«btf&iﬁjédl
(y — ¢, sec? (;)) (y — ¢, cosec? (;)) =0
_“éf/xzpz — 2xyp + 2y% — x* = Olsle_14JC

4“.;‘«!5[/‘3{5} S

xzpz — 2xyp + 2y2 —x*=0
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2xy +/4y2x2 — 4x2(2y2 — x2)
p =

=
2x?
_2xy t 2x/y? — 2y? + x2
B 2x2
. dy ytyx*-y?
dx X

y = vx“iéd./ffabl/ JZ/) J _‘L(Homogenous Differential Equation) < /sl d“/J J’G:' hr{' ,J/}?

U+Xa .
= v+x—=v+1-v?
dv
= X —=1y1—-v?
dx
dv +dx
= — =4
V1 —v2 x
dv _dx
vi—-v2 X

sin"lv =logx —logc,

. _1 x
= sin™ v =log—
€1
sin~ 1y
= X =ce
— x
¢ o)
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-"éf/pz +yp—x(x+7y) =0 =lls_15J¢

p*+yp—x(x+y)=0

@ —x)+y—-x)=0
@-2)@P+x)+y(P-—x)=0
p-0)p+x+y)=0

p—x=0(p+x+y=0

p—x=
dy
= Ly =
dx x
= dy —xdx =0
2y —x2—¢; =0
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= — 4 yv=—
dx y x
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y-(I.F.) = f(I.F.)de+cz

yeX = f e*(—x)dx + c,

ye* =e*(1—x) +c,

y—(1—x)—ce™*=0

Ry —x*—c)y+x—1+ce™) = OJPK:A:L»@%&)%_JI
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(Short Answer Type Questions):«U'fJbLaUﬁ/g 5.5.2

_Q/J’:’/pz + 2ycotx)p—y? =0 =lsls 1
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_a,/f/xzp3 +yp? + x2y?p? +y3p =0 =ble 2
_ar/f/x +yp* =p+xyp =bls 3
-Q/prxpz +(y-—xp—y=0=hlr 4
_Q/J’/xzpz +xyp — 6y% =0 =l 5

(Long Answer Type Questions)aﬂ'}’dbia@iﬁd? 553
_Q/prpz + (2coshx)p+1=0=bls .1
_Q/J"/xypz —(x2=—y)p—xy=0=bls 2
_Q/J’/ﬁ + 2xp? —y?p? = 2xy*p =0 =bolr 3
_Q/J’/pz +(x—eP)p—xe*=0=blr 4
_zrfdp[xypz + 2 +xy+yDp+axi+xy=0=bls 5
=\

ezl ey (s 551
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ezl ety Jol bz A 550
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QRy—x*-0)2x—y =¢c)=0 3
y—x+c)xy+c)=0 4
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ezl =iy 4553

—

VR Y
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(Objectives) 4> 6.1
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(Differential Equations Solvable for x) e /sl (} /J d'}é.lg J J? “i Zx 62

+Cﬁ@y/dguid°@¢5;/;¢lg:n&¢nd’“i£ x:«!;l/é//f’
X = f(y; p) ...... (1
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(y+ ap)dy

14 _( 1 )dy
1—p2 \y+2ap/dp

dy py+2ap® 2ap?

T ()
dp 1-p? 1—p2)Y 12

2

dy ( p ) _ Z2ap
dp \1—p2)Y " 1T=p?

LUl e3P 07

I.F.= e_f(l-ppz

o

-Zq/d*’lmwfd/f( P )dpfi&

1-p2

LUt —2pdp = dm 1 — p? =m S

[ =3[ (F)em

= —Elogm

J (1 —pp2> dp = —log(1 - pz)%

-/
-

p 1
I.F.= e_f<1—p2)dp — elog(1-p?)?

1
— elog(l—pz)E

1
I.F.=(1-p?%):2

gﬁf(&’}@éﬁf”/&bﬂ@g/ﬂé;ﬂ
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(1-p?)2
=2af1_(1_p12)dp+c
(1—-p?)2
=2 fl ! _(1—p2) dp+c
Ji-p* J1-p?
=2afl 11—p2_ 1—pzldp+c
=2a[sm 1p—{g 1—p2+%sin 1p}]+c
-‘a&“’u‘i{'cuw
yy1—p2=asinlp—ap/1—-p2+c
=y
y = asj;%“ —-ap D

/,:ézogdd/yuﬁc«btf‘fij)
_ [asinT'p+c 5
L e

ﬁpz (asin"'p+c¢) ©)

X =

£u L J’(lpb/c«!;l/fd)c Q) (D tsls

(Differential Equations Solvable for y)eslsls B /I dbng J JF “i Ly 6.3

c‘_l“ftalfdj/iuﬁfdjw/;gu_;:nﬁﬁw/d"jvﬁdvh’“_Ly.:,ul,»@/éffl
y = f(x' p) ...... (D

/.:L/J}Jxﬁgffmbbqﬂ
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dy_

P A8 A

p dx %dx_ xpdx

J‘?;l?(Jl,J/{;}ul.-‘Lc«l}Lfdnﬁ.«Qdﬁxzﬂpg)y.‘?’"uc«l;bﬂd
F(x,p,c)=0 . ©))

-

Kb oS el FOUT LI 57  p e ) s (1) hle

e LA R st & LU F Ui b PG 3 by

LSS LS 6 S Sy P i s p e ) (D sl ST 2
-ugzé‘fq/ég;/vnﬁauﬁl?i;al
S Sy = —px + xtpPeila-1JE

c‘-c«lﬁtf&%}—f
y = —px + x*p?
c‘-L"nJilanq/’L/J}.’.x 5 ,,/c«bl/u“i

dy dp dp
— — 1) — v — 24 _& 43 2
dx PSP XG T expg T AxTp
dp dp
—2p—x—+ 2x*p—+ 4x3p%2 = 0
p xdx+ xpdx+ xp
dp dp
—(2 — ) + 2x3 @ —)zo
<p+xdx)+ xX°p p+xdx
(2x3 —1)(2 +xd—p>:O
p ptx_-
_‘J
dp
2 — =0
p+xdx
dx d
2Ly

X P
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‘Lb‘nJ'buﬁ‘?/?é./Jf
2logx +logp =logc
px?=c

4£/uﬁol,ufd;¢«»§,tfp

-‘4‘_)7"[:{;«!}&(}“/?;‘:"%)[:?
SISy = x + prena2Jé
‘Lc«lalxéfu’;—f

y=x+p*
bl ST P x5 S ety
dp
=1+2p—
p=1+2p—
p—1 dp
2p  dx
2
Tpldpzdx
<2+T1)dp=dx

ctnett i SIS
2p+2loglp—1)+c=x
4£/u:wu6@;.~,£,g!x

y=2p+2log(p—1)+c+ p?
y=p2+2p+2loglp—1) +c

~ex=2p+2loglp—1) +c, y=p*>+2p+2loglp—1) + cfrtagabl/@};@/d:égﬂ

Sy =psinp + cospebsla-3JE
ﬁ;:«l)l/éfd)—dp
y =psinp + cosp
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b TGP Y S el

dp dp __dp

p=pcospa+asmp—smpa
1= ap
= cosp—
dx = cospdp

et LSS

x =sinp+c
-cx=sinp+c¢, y=psinp + cos pf(b?al;wéﬂ@%)égﬂ
-)/f/y =A+Bp+ szc«i}l/—4dt':‘

‘4;&1;&‘&3)—‘)‘7
y =A+ Bp + Cp?
bl ST P x5 S ety

dp dp
=B—+2Cp—
p dx + pdx

dp
= (B + 2Cp) —
p=(B+2Cp)~
(B + 2Cp)
x =———dp
p
ctaot i SV
x=Blogp+2Cp +c
-c<x=Blogp+2Cp+c¢, y=A+Bp+ CpZJa(loK.;l5L»(.}’ﬁ.6((j)“Au’l
SISy =ptanp + log cos petsbe—5J6
c‘-c«l}l/(?/d)—f
y =ptanp + log cosp

‘Lt‘ﬂdﬂbuﬁ’q(:'@/@/ﬁx 5 ,/.:J;l/u’l

= p sec? dp + d—ptan _sinp dp
P=p p dx dx p cospdx
d

= p sec? p=b
p=p pdx
dx = sec?pdp
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ctnott i SIS
x=tanp+c

-c<x=tanp+c, y=ptanp +logcosp J’(&K@bbf&/ﬁ@/@éw

(Equations not Containing x).<3 25 X U~ Selils 6.4

?n(fi5g/;ajfjuL¢n;;zrxuﬁ.;’;L»J/’Ju/fl

¢(y,p) =0
<G w P U r eSS L Ly A
y = ¢(p)
St SIS NAF 2 S e 3 p L LTt o S el S
Bl SIS S F Lo
p=f)

e ten e s P U LS S et
Lo Sy pL e s s Ll A

J/Jp/y =2p + 3p2&UL»A—1JU3‘

c‘-c«lﬁtf&%}—f

y=2p+3p’
c‘-L"nJilanq/’L/J}Jx 5 ,,/c«bl/u“i

dp dp
=2-—46p—
p dx+ pdx

R — 2460

246
= dxz( > p)dp

ctafort il S
x=2logp+6p+c
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-« x=2logp+6p+c, y=2p+ 3p2f(tagal:v&ﬁfd:éu’!
-)/Jp/y = p —log(p? — D bsbr-2 i
‘L&BVG@)-J’

y=p—log(p*—1)
‘at'nd'ilau’.fq/?ﬁ_/ﬁﬁx 5Y ,/@I;LAJI

dp
_dp_Pdx
P=x p?—1
= —(1 2 >dp
P= p?—1/)dx
= d —(1 2 )d
AV IR VA
‘aL"nJ'L:J:q/,:L/Jf
x=logp+log(ﬂ>+c
p—1

-<x =logp +log (z—i) +¢, y=p—log(p? — 1)Jarlpgc«l;l/@ﬁfd)“iu’l

(Equations not Containing y) .32 s* yu’: S elsls 6.5

S8 P tsommd Eonmzrystentd 5

¢(x,p) =0
c‘—ffcl?u(diuﬁgﬁiﬁ'em’#ﬂﬁ%d/ﬁéiﬂf@’w:ﬁ

x = ¢(p)
Setost s SIS NAF 2 S e 3 pL LS50 S S i $L U
LSS LS A F s

p=f(x)
_§r@nJﬂwhwdA/uﬁ4LjLﬁhbm¢u;
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_J/Jp/x(l +p?) = labl,»‘—ldf‘f
ugzgﬂuﬁdﬁdsguﬂ/u;u&@;—f

1
1+p?

‘at'nd'ilau’:q/?ﬁ_/ﬁ/gy 5Y ,/@I;LAJI

2p ><dp
p  (1+p»? dy

2p?
dy=—-————d
R D

X =

ctafost il S

2p?
y=c— f—dp
(1+p?)?
éu’hdp = sec’ tdt S« = tant S

2tan’t

- 2
y=c (1+mn2t)zsec tdt
tan’t X
=c—2 WS@C tdt
tan’t
=c—2 5 dt
sec?t

=c- f 2sin®tdt

=c—J(1—cosZt)dt

sin 2t
2

y=c—t+

éé‘_t'}’idllau:q/véjt =tan"1p £l

— -1
y = ¢ — tan p+1+p2

- x = rpvecy

Jprlpgcalﬁtfd“ﬁ&%}

— ¢ —tan-1 p
y =c—tan p—|—1+p2
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(Equations Homogeneous in x and VnJ iy sixselsls 6.6

uﬁnd/gﬁj;'gnpl;wéfd)féutgrUﬂJj?‘n yj;lxuﬁa!;ugﬁu’(/ﬁ

<p(g.p) =0

‘Lfﬁ@gdfﬁydjgnc@}}fﬁglg(fféLpa!)l/://ﬁl_.,!

=9 ()
L L2 S P P o pibante§ I F6 LSF A LA et §T A
<oy et s onalrnF ol

y =xf(p)
Lt SOF x b Seblnd e o d L3 S F St dT b

dp
p= xf’(p)a+f(p)

N p—flp) _dp
xf'(p)  dx
N dx _ f'(p) d
x p-rm
2 S P P F 6 LS F A LW i
-zuﬁf/.@,/;g@/g!cudu@b{’ﬁ?l
S Sxyp? + p(3x2 = 2y%) — 6xy = Olslam1 Ji
‘Lalﬁlxdfd; -J
xyp? + p(3x? — 2y?) —6xy =0
= xp(yp +3x) —2y(yp+3x) =0
= (xp—2y)(yp+3x) =0

yp+3x=0
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dx y
ydy + 3xdx = 0
ctafort i S
y?  _x* A
213777
y2+3x2=A
LAY
xXp — 2y =
_dy oy
=220
@ _, (@)
y X
ctafort i S

logy = 2logx + logB
y = Bx?

<y - Bx?)(y? +3x2 — A) = Odprla(c«bl/(.}./g&fd)

(Learning Outcomes)éf«’dm 6.7

ZLesg‘L’/'/Ja/c«l)L«‘&ﬁd’)ULﬂJJ’;/)LH‘ngdzému’

ehled Tl b SS L Zx
a3 Tl b SSf L Ly 2
PRIY 2 IO J/’Ju 3
woszrx i Fehls 3V 4
u:fujl.?"nufyjﬂx}?abudnﬁu 5

(Key Words) 5| d/gg 6.8

al;VJﬁujg’:J@pﬁg/ﬂ,ﬁ/
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(Model Examination Questions)ex Ul () 1< 6.9

(Objective Answer Type Questions)aﬂ'/dbicz«@iﬁf}/" 6.9.1
2 PR
e bhx=a (d—y) + yz—iablxdjﬂ 1

dx

3 (D) 2 ©) 1 (b) 0 (@)

2 o .
conby =x* (Z—z) - x%a';ud}’ 2

3 () 2 ©) 1 (b) 0 (@)
‘L,?/u;l,bjgy = ptanp + log cos pc«bl/@/"y 3

FH ety @ 22 © L1 ® 00 @

(Short Answer Type Questions)aﬂ'rdbic«wﬁ/ﬁ 6.9.2
29/&/&'}@(}“}7&5,?/)

y =sinp —pcosp .1
_ xp?+9x?
==

y = ap?+ bp® 3
pP+p=¢e¥ 4
y = 3px + 4p? .5
y = % —Ap .6
y=plogp .7
y=xp’+p .8
p>?—1=¢ePY 9
y=p(1 +pcosp).10
(Long Answer Type Questions)a«ﬂb’dbéc«l‘,lﬁdk 6.9.3
29/&/&!)[/(3%&5,?1)
y?logy = xyp +p%y >0 .1
xp3—p?—-1=0 2
y = 3px + x?p? 3
pPP+x=ply+3) 4
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ayzéww UJ)/"‘

ezl erJol el
cos[{V1—c%+2cx —x% —y}/(c —x)] = (c — x)
3cy =c%x3+9

x = 2ap +%bp2,y = ap? + bp3

x = 2tan”p — %.y = log(p® + p)

8 _ _ 4
Xx=—c-p+cp 3/2,y = 3cp~1/? —<p?

__p -1 1 in—1m) —
x—\/l__pz(c+Asm ),y \/1__p2(c+Asm p) — Ap

X =%(logp+ 1)2+c,y=plogp
x=@-1D""logp—p+c)y=xp*+p

X = logZ—:+logp+c,y =p —log(p?—1)

x =logp +sinp+pcosp+c,y=p+p?cosp

e\ Z c«Ul/J:)b

logy = cx + c?

1 2
x = +—3,y=3—p2—10gp+c

p

T |-

y3 = 3cx + ¢?

p>—p(y+3)+x=0y1-p)V2+(1-p?)3?=c

HCY NI 4

6.9.1

6.9.2

.10

6.9.3

(Suggested Books for Further Readings)_ C-’/o)//“;“i L krs 7 6.10

1. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,

New Delhi

2. Ordinary and Partial Differential Equations- Rai Singhania, S.Chand & Co., New Delhi
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(Differential Equations of First Order and Higher Degree: Lagrange and Clairaut’s Equations)

171 2 3k

A 7.0

3

prdvz 7.1

e EF 7.2

chsbo s 7.3
Lol bSdr AL 73

e 7.4
SEISLE 7.5
el Q2 7.6

2lrJel ez 7.6.1

el Jo iz 2 7.6.2

eyl ez 7.6.3
S f L L sy 7.7

(Introduction)/ng? 7.0

ééx:ﬁi Lpu: (Differential Equations)w /sl é/J' Jg/}d’b}!.&/ 4("@_«&1 Légﬂ(}%{
Sauinl3 7 F e m st - & SF ek Suin- G Ul b S L Ly

126



SIURPLL TS eI fnl S F ol S ALt et L s vl
Lo

(Objectives) 4> 7.1

J’KJI/U%/:«ML»L}"/’Jd/)/z{ulél/ifdJJ/ZuﬁgﬂJB'Jl,’Jp{éi_ng}‘(ééﬁu’l
LA TP E St Sde P F e oSS

(Lagrange’s Equation):«iﬁl/u( 61/5 7.2

wlP bl S5 o2 elsln( Fos st P
y=xp@®+y®» . (1
e O eI
et et St S AL LS S ey

dy

. d dp d dp
- P= xdx<p(p)a+<p(p)+a¢(p)a

= p—o()= [X%QO(P) +%w(p)]j—i
dp _ p— o)
2 Lom) + )
dx x%w(p) +%¢(p)
dp - p—9®
d d
dx xgo() 7 bbp)
o p—e® p-9O®
e bnPot i SIS e e L
x=f(p,c)
gﬂd}',?/)uﬁybf/“lﬁ:J’(Ug(l)c«blﬂ»‘éu’!
x=f(pc)y=[f( ok +P@p)

—e A1k pUl
:“édp[abl/d}gﬂ-ugl?
— yp2 _ 1
y=xp® =2 (a

y = axp + bp® (b
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=

y =xp? +p* (c
y=2xp+p" (d
‘Lgbl/&((j) (a

_%O'}Pé'//d

et e Sl SO AN L LSS S ey
%ﬂB

d dp d
— e (p2 2 4 2
P xdx(p)dx+p (p dx

dx

dx _ 2p°x+1
dp p3(1—-p)
dx B 2x N 1
dp (1-p) p3(1-p)
dx 2x B 1
dp (1-p) p3(1-p)
dx 2x 1

%+(p—1)=p3(1—p)

(7 J:Jj&/d'lla LF.(Integrating Factor) 27 &f(’zé Lé_/'/gjilp‘jpgu’l_‘aal}l/ (}.‘/"Iu}yv{lfi

ZL{/JIEL.@}J},?/JJprlpgc«bl/(.}./géfd)
x([.F.)zJQ(I.F.)dp+C

1
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T~ Q p3(1-p) »IP (p-1) v
Lui
2
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1
x —1)2=f—>< —~D%dp+c
(p p3(11_p) (p p
= x(p —1)2 =fp_p3 dp +c
1 1
= x(P—1)2=f—2+—3dp+c
-p p
> ( 1)2—1 ! +
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R 1 {1 1 +}
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p {1 1 N } 1
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xz(p—l)Z{E_ZpZ”}‘y: (p—1)2{5_2p2+c}‘5
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dx ax 3bp
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R dx ax 3bp
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. a
[.F.= eJPdr — ef(p(l—a))dp = plog®U-® _ (p)(a-D

gﬂf?al;l/({d)./l
_a_ 3bp _a
(a-1) = (a-D
xp)@D = | T x D dp +c
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a
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1—a a
( ) N 2
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“iu’lrujé/c .Jf;d/pu.fabl/fd)ééL/J’bJ’(bKJI,‘gaBPJ;/:KaUV,:

y = xc + c?
_‘gfrlpgabl/&'ﬁfd)
§_¢,¢,L»J;de, (e
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/"

y=xp+sintp . D)

éJ_J"u}'é/C JZqu:ouu&@;cj_ LL/J‘EJ?VKJI_%@I;V(}/A/:KQUV,
y =xc+sin"lc

_‘gd’rwb»,uu@)f&@}

‘aable}./ﬁ&fd} (f
yp=1-p+xp?
- _1
y—xp+(1 p) ..... €))

éJ_Jl:ujézc .;d/pufol}u(ﬁj)gj_ LL/J’bfruKul_+al;V@ﬁK¢¢au,

= xe+(1 1)
y = xc .

_%Jp(bgc«bl/g}?(fd)
‘gc,bl/(.}./g&fu’) (g

p = cospxcosy + sinpxsiny
p = cos(px — y)
xp—y=coslp
L

y=xp—costp . D)

éuhujé/c ,;d/puf.:al}l/fd)é£J_/JJEJP(&KJI_‘LQI;L»J5/:KQUL/,

y=xc—cos tc

-9&(1&?&1}(/@/’5(}'@)
4‘_;'«'}@&')3'6’%) (h
yp = a+xp’
y=xp +% ..... (D
“igﬂ‘ujé/c ,;d/puf.:al}l/fd)é£J_/JJEJP(&KJI_‘LQI;L»J5/:KQUL/,
y =Xxc +%

_%Jrugg;,udﬁfd;

4"_@!5[/(5/3?(3%} G
-px)p—-1D=p



éu’l:uji/c ,;qu:s"/’}ufd)éLL/&L?J"’(&{J’_‘L&DL/&/:K&'}L/:/
c

y=xc+

o _‘LJPI’L&{;‘J}L"J/.JC‘T)/J
(Equations Reducible to Clairaut’s form)_Z uudui_lgu/ J iuﬁdﬁ d/; /:b/ 7.3.1
b m{uguz[&nu:futdﬁqu&}ziq/&uwmu:;/géwuu’{a.,u

U i Wi sl § 7 Ut E S Sk S etsle § F S wtsle 1 S 1Kol
37 For LU Gt anlaswlid Pur et W A A-c S sar 3 p I L Lo
couude ATt E S e S e e bl At Ja il S5 EY bl s
pay
:Q/J’/wudsg»-u:’t‘»

(py +x)(xp —y) = h?p (a

xy(y —xp) =x+yp (b

y = 2xp + ayp? (c

y—2xp+yp?=0 (d

e¥p+ePp?—e** =0 (e

p?cos?y +psinxcosxcosy —sinycos?x =0 (f
44-:«';@&0)306‘(6; (a
py+x)xp-y)=r’» . M

y? =v = 2ydy =dv

x%2 =u=2xdx =du

2ydy dv
= 2xdx  du
_ y _dv

xP T du

] L
p= v du
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\/_(dv+1)1( de )_hz\/ﬁxdv
“\au NG WXV T v du
(ot o) -t
du udu V)= dl(l,i
dv hz%
ud —v= dv
¢ (G *1) ;
dv hz%
v du (dv+1)
du
éu’hujéjc .;d/%uﬁabl/&/d)éLL/&EJ([&KJ!_LL.:J:L»JJ/:KIK
B h?c
v=ue (c+1)
/.:ézyz =v slx?=u
h?c
2 _ 2.
yo=xe (c+1)
-‘Ld’(ugguuéﬁ&(j}fﬁ
‘Lc«bl,»*(.}./"f&fd) (b
xyy—xp)=x+yp .. 1)
SI

y? =v=2ydy =dv

x? =u=2xdx =du

2ydy dv
2xdx ~ du
y _av
xp " du

_\/ﬂxdv
p= v du

< b ot L L (D) el

(5= o) = (e )
=)=+ 5)

Vv
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dv dv
v—u—=1+—

du du
_ dv 4 (1 4 dv)
VEY du

éu’l:ujéjc,;JZ—ZuﬁabL/&fd)“iLL/&E&(&KJI_LL;;UVJ)/:KIK
v=uc+(1+c)

/,:ézyz =v slx?=u
y2=x%c+ (1 +c¢)

e Fruken-d I F 2
‘Lable}./ﬁ‘(}fdﬁ (c
y =2xp+ayp* . )
SIe
y:i=v
) dy dv
Yax T dx
oy = 1 o dv
p= Vv o odx

+th‘uu:44£/d)Q,ut(1)¢u,u

1 dv 1 dv\2
ﬁ—(ﬁxa)”“ﬁmx(a)

)
o= ()x i ()
“&u’lcu’fzézc ,;d/%uﬁc,i;l/{d)éLL/JIEJ‘?(&{JL%:A;VJ}/:KIK
a

v =xc+—c?

4
/,:éjyz =v
y? =xc+ %cz
_Q;Ja(bgc«l:l/dﬁ&(d)fﬁ
§_ac,u5ﬁfd, d
y—2xp+yp*=0 . )
S
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yi=v

) dy dv
Yax = dx
) 1 N dv
P= Vv odx

< b P L E L () il
1 d 1 d
\/E—(—x—v>x+\/—x—><< v) =0

Vv oodx dx ,
&= |G|
o= ()12
Lo ,GJ u‘uuuu(d;i Lgfd”ud’(uwt_auuu@/fi
VUV =XC— ZC

/.:ézyz =v

y? =xc — %cz
-‘LJ’(uKai,V(jﬁfd)fﬁ
‘Lc«'avéﬁfdﬁ (e
Yy pe2Vp2 e =0 (D
S

e?’ =v=2e?dy =dv

e?* =u = 2e**dx =du

2e?¥dy dv
2e2Xdx  du
ey _dv
e2xt T du
e?* dv
P=25 "0,
_u y dv
p= v du

b el () s
2
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2(E><@—1)+ (—x—) =0
Y\ du Yo ) T

u?( dv +<dv)2 ~ 0o
P LR P B

dv dvy?
v=u——-+ (—)

du du
L ,J?J%utu,pfd;é SV SRV Lo SRR LA
v =uc + c?

/néz e =vpe** =u

e = e?*c + c?
-‘LJ’(UKQUL/L.}./"’IL?%)IK
‘ac«bl,»(.}./"f&fd) (f

p?cos?y +psinxcosxcosy —sinycos?x=0 .. D)
siny=v = cosydy =dv

sinx =u = cosxdx =du

cosydy dv
cosxdx du
B cosx dv
p= cosydu

B 1—sin2xxdv
P= 1—sin?y du
B 1—u2de

P= 1—-v2 du

b el () s

1—u?
1—v2

1—u? (dv

dv
_ —_ X — — 2 — 12 — 12 =
1= 2 X P P u\/l u \/1 v v(l—u*)=0

)2 1-v¥)+

(1—u?) (j—i) +u(1—u2);l—z—v(1—u2) =0

dvy? dv
( ) +tu——-v=0

du du
_ dv N (dv)z
v=u du du
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L ,@%uﬁu,p&? UENS I o YRS S A
v = uc + c?
/,:éjsiny =v,sinx =u

siny = csinx + ¢?

-4@&(&?&!)%@%&3}]}?

(Learning Outcomes)éc’&m 7.4

al)P&ﬁéljfbg) L(ZU:JMJl °
y =x¢(p) +¢(p)
JJ’ZJIE ;«UL»‘J/T(}'}_{’J.:‘?LJ _UJL/J/xkgﬂfJi%c;wéé:¢/ff
‘48%‘_)"(; u,u‘)ﬁ;',?uu:"/?L/J"f&-%

x = f(p, c) .
bt S Lion pbetl b I 2 e S I ed  xe
x=f(p,c)y=flp e +yp)

-%b@biuﬁgfﬁd}g/»’/abwuc/;{ °
y=xp+ o)
Ja,’lagc,blx(?fd;“igﬂ_ujéj c)j;d/pufc«l;l/(fd)“iLJ_/J'IBJP(UK&UL/JI
Kn&fﬁ‘j},?/}

y =xc+¢(c)

_‘LCﬁbgﬂj,& u:c«')L/d/}/:KLJAJJ)Q%V&%J%%&%X/U?UV&%Z/ ]

(Key Words)5Wi(§ );K 7.5

Jf&f(abtxél/ﬁmvbvJﬁubc:«lﬁb«‘(}/}/zg

(Model Examination Questions)e Ul #(} e 7.6

(Objective Answer Type Questions)aﬂlfdlaia@i}?dzﬁ/“ 7.6.1
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el =px—y .1

y=px+a(l—p) 2

xp—y+p3=0 3

y =Xxp +% 4

p =tan(px —y) 5

y=xp+logp .6

y=xp+coslp 7

% =p+ Sin;lp 8

(blé/g) u,?Z-’::«bL»é!jfy =xp+op) 9

(bk/g) -ujéz C.?quﬁc;l;LfJ!ﬂ“&LL/Jllerbgy =xp+ @(p) .10
(Short Answer Type Questions)aﬂ’/dbé&@lﬁ/‘? 7.6.2
:%/gylawrlﬁggﬂ/g/ﬂé/dfu:cai}lr/u(}/:gé/dl.*:’”KJ)Q*/V/Q'}L/&/.’IJ‘},?J}

xy(y —px) =x+py .1
Bp+yp?—xty=0 2
(x> +yHpx+y) =@+ 1)* 3

(Long Answer Type Questions)c«ﬂ!rdbia@iﬁd)b 7.6.3
:%/JI(PJ’(V{&UL"JC{/’}/J:},?/)

y =2px —p? .1

y=xp’+p 2

y=2px+logp 3

y = 3px + 4p? 4
HEI N e

agl}?é &U’}"U‘z}/"‘ 7.6.1
y=cx—e° .1

y=cx+ac(l—rc)

y=xc+c3

NV Y

1

y=xc+-
y=cx—tan"lc
y =xc +logc

y =xc+cos tc

y =xc+sin"lc

© 9 o
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(L4)

@)

ujiu,ué’f/y =xp+ @(p)
e kdpurailnfL LES S0 S by = xp + 0(p)
a@lﬁ& :«UlerLa@lﬁ/g

y2=cx?+ (1+c¢)
y? =cx?+c?
cAx+y)=1+clxy+1)

Srys cpﬂ!rdbécpglﬁd"‘?

L4
3w

+§,y=xp2+p

2 [
X = - —, =
Pty
__logp—p+c
(p—1)?
c 1

2c
x—p—z—;,y—logp+?—2

2

8,
xX = 5p p3/2'y - pl/2 5

p? | 2c

c __ 3c 4p

.10

7.6.2

4

(Suggested Books for Further Readings)_ (0 /- '/“f" “i L by 7.7

1. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,

New Delhi

2. Ordinary and Partial Differential Equations- Rai Singhania, S.Chand & Co., New Delhi
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(Applications of First Order Differential Equations: Orthogonal Traj ectory)

1712 L

ot 8.0

prdv 8.1

e 8.2

A 8.3
wE PG Ko 8.3.1
v A bl 8.3.2

d/%!/b..@l 8.4

e 8.5

SEISLE 8.6

I R 8.7
2 Jo Ll s 8.7.1
el Jol bz 2 8.7.2
eUrJel ez b 8.7.3

S S5 L LD by 8.8
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(Introduction)/:f? 8.0
J‘ugt)#&ﬁu:;/gLu;’e}zii_/d"w’éuwL}:@“Jgu,u@ﬁﬁuﬁwfﬁ;ﬁf
_%ggu,uéﬁ&_»%m;/égdg(&Zq/ﬁuﬁ;/gigfum{ﬁuﬁ@tﬂw_ugé/
_Zq/ﬁm}"{w:ﬂ@/qv&%m ZQ/J:@J,M,L/J}J(aégc_,mm_ngjéygf(

LGS en e WL § 212 sl sl (Orthogonal Trajectory)S 221 ASs5F AT

(Objectives) 4¢3+ 8.1
Sasf 2 Zuf/lgnjbcaﬁ'ﬂb! Z e lsls (5/5 J.L/%?Tp{ Z b LJ{I JI
_Zuf‘?ft/ﬂj‘u/ui“iLJJJC,;@&'L,J:JJ&;G;;J,W (Orthogonal Trajectory)d}é’/b

(Applications)= G161 8.2

::«G’Ubld.‘b
Jjg/)(Speed)/C"J/vtc:ﬁ)ujd/u;'u"g'}'rbal[/g}?..}')JXLO,W@LOXJJ&U’ZD.«QI%UL
S

dx
T
(Acceleration){! V4 160319
dv
TS
K
J.C"Jd/za/}.b.}'r}’fl[//J)/f/?fo/b/L:/f’?’
ds
M
(Acceleration){/ yd. 6051 usl
dv d%s
“Ta T ae

K
LGS0 S e bl A L BB 2 U 1 0 S ot S hem s e

V
_ﬁ;lljwkkcé'_lz/ s Cl/l/}lct'_(j"/mkgc“_du
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Lx GATSLALL 2 31 £ TS Bacterio, 5™ e B B LGV 2SS 4TS
éj_Jl _‘gt'//;lﬁ/)!ﬁ/;t’cﬁadl}(&x = x(t)ulﬁ:(fnb./t;

dxoc
dt
b
dx_k
dc X

Y OV T

U//}'Z'm'Jl,&’/ Ja)h}ﬁg{i/ K//i-+ &}'Z .._.,v"’t:;é/l,&.’ M}?}"C} U(Uﬁ(u(o)h (Radioactive)}ﬁgj.é/ual}‘f(
Jndj;n@}dﬂutu’iq‘/‘;t':ﬁ)

dmc>c
a o
b
dm_k
a

< FOF kU

(B K S bt

Usle LN T 7 205 L 7 FESUnE il 7 203 U (Body) bt £ G
éul_‘ab‘nqtzéﬁ/'&ynﬁ Tocu!].?/)LJYLLJ/

dr
EOC(T—TO), T—T0>0
L
dTr
— = —k(T—T,
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St S VL L P E3a e 7 200 U Boty) Ul - P (Db kU
_‘Ld/%(ﬁtéu:&/i]gﬂédﬂgﬁzn

?ﬁwu@fd;gwuawu:dv?f.%&wf»uﬁdvsod;gwm&(_lJL%
,J/U.,YZ‘_L?(’ZJ_‘L de)L:Td/uab.j:‘t = 0¢_%wav‘t’d;gTJJI§éuL-J

dx .
dr X
_‘ad‘“w{../l'}'ku%
dx
> — = kdt
X

ctnPett i SN

logx =kt +logc

log= = kt
= —_=
0g-
= x = ceft
“Fx = x4t =0
Xog=¢C
LV
x = xgekt
Fx = 2x04t =50
2%y = xpe°0k
log2 = 50k
1
k= %logZ

bt AT AT S Y
1

3x0 = er(SO log Z)T

1
= log3 = <%log 2>T
501log 3
= T =
log 2

(Orthogonal Trajectory)( f’é (78345 8.3
JU!IGL;’,“L}"”J! <+GK&WLui@'ég}u/(fd?u//éuulééayéﬂjfﬁfu
_LK/, 90°/u’(/.{l/;Luul&éayf.‘”,:/ﬁd/nd;/d}é!}’ J/“LJU{"/J/"Q!/J’
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/.:90‘)]&'//;’“(’/;LUUJL}LU}//DUM‘L&/}(/}’ZL}(/I}&L(_//b(Concentric)df/("Lf(}?ng
Mt b B ot 0 LU Pt 28 F S s LU S A s e (Y
-Zuf‘?t/gj%guu@/’5de«‘u)ﬁMﬁq_LL&;J:@“/uul;.,{uid}@u’d;/d/uuué
(When Equations in Cartesian Form)s¢ Jé $7FKelslrz 8.3.1

izl fui L e S22l

olx,y&)y=0 . (1)
‘gdjjguguuJ)}"Juuumféutm‘a}:%,“Ct aJli
ay\ _
Y (x, v, E) =0 ©))

e 1§ ,"-"/fu” P(x,y) B« §¥TY ;Q,;d,; Lz P(x, y),bli?‘f( ch u/ L a6 S E e
“iu’l:u:zig/v 90 /;/»,{u T mcfug_fn% 1743\ u’jfcil/"/,: P(x,y) Z—Z%m,’KC £P(x,y)

dy dX
dx __dy
o @Dt —E E Sy £y X £ x o
dx
" (X, Y, — W) —0

e dionS2§n e B L Ly L§ §60E 58 (xy)
dx
(5= 5) =0
Jj—zutu,u@ﬁ&fd;u(uuuwniLJ_/J'W}Q!}UM&;)M;L@WU/JU%U:@ufj
_ujij —Z—i ,.c

_a.‘_/djlpd;‘cl/)’d)/éé x2+y?= TZUIIGLUJ//D—IJU?‘
cabdeingS i ds -

-« AlpLirulg
bt ST xS e § Sy

2 @ _
x+2ya—0

dy —x
dx vy
/,:c'{/ - Z—; fd/z—zufablxgﬂ _ﬁ;ai;b«'(’}’ﬁééuuuéayfv‘ﬂj}fﬁ
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dx_—x

dy y
dy dx
y  x

ctnPett i SN

logy = logx +logc
y=cx

b S re (00)urre L Lok oSz

83.1.1F

-Q/Jilpd}gil/”duféécc‘.}f!fw{!cuLzery =c? il ;«“'Lf"” 26
4.@1;1,»&@1/:&5.;&:5“6@;—‘_)"

xy = c?
c‘-L”MJII:U:‘Z/’L/J}TQCL’G,/;A}L«‘L:‘(u')/’;l
dy
y+ X = 0
dy _ =y
dx X
/,:Z’S/ — 3—:/ fd/z—zuﬁgbl/u“! _‘au,udﬁééuuuégyf"ﬂﬁfﬁ
dx -y
dy T ox
ydy — xdx =
ctafot i SV
y2 52 ~ a2
2 2 2
2 2 2
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-Ladjfcil/bd»féLa!;b‘JdllGéaW{dﬁfﬁ
- Laﬂlf..vgaul{qcéad)/;fyz = 4a(x + a) (@K(J}f%)&%ﬁ/’/:«:t" -3JE
‘Lu,ud/uulééaglf"”&fd;—f
y2=4alx+a) . )
PN TSIy PR (O

2y—=14
y%x a
y _ 2a
==5 e @)

LB Pac @ ui(1) el
dy ydy)
2 - z
Y _Zydx(x+2dgc
. dy dy
y—2x5+y(a) ............... (3)
41— Z—i .@J‘;—zuta,uuw _%gu;ud}’“ééuuuégyf‘”‘ﬂjﬁfﬁ
_5 ( dx) N ( dx)2
y=ex dy y dy

2x y

Y= Tt
=L Yy
dx (ﬁ)

o dy dy 2
y=2x—+y (ﬂ) )
-cb-duf)i'(lbjK&6;9)“&Jl-4‘,d@}d/c«bl/d}.’.d/uuléécayi.‘”(:‘/d)fﬁ

TSt L Lax? +y? = 1sb L e -4

c‘-c«l)bv‘u(g;)lllééa."w&fd)—f

ax?+y* =1
~e Al pklauz
e b S et SO P bl S bl
dy

2ax+2ya= 0
-2
x \dx

/vé/uf:«l)l/fd)agdd/a



dy
dx
/.:é/ & ,;Jz—zuﬁgl;lffjl _+gu,w§ﬁ;£ulxu£aWJdﬁfz

dy
2=1+4x (_dx)
yo = y dy

dx )
o(8)-1-

1
xdx = (—— y) dy
y

y2=1+xy

cralot i SV
yZ xZ
7+7—logc =logy
loa? = x% + y?
%8~ 2
x%+
y:ce( Zy)

<l ,"«‘ii)’d;/ L L enl UL ‘f S 7
< x?+y*+2fy—-1=0 d}ci!}’d;/d/xz +y2 +2gx +1 =00 el -5
‘L.:,uud/uul;i.:,gf&fd;—d’
x2+y*+2gx+1=0
—< A akgu
‘Lt‘nJllaufq/vé_/’/JﬁxL’L;,/abVJl

dy
2X+2ya+2g =0
dy

s
/véjuﬁc«blﬁ‘fd)&g:d/g

dy
s 2—2( + —) +1=0
xX°+y X ydxx

dy
—x?+y?-2xy—+1=0
X y xydx

/,:Z{/ - Z—; ,.cd/z—zuf;,bl/u“! _ﬁ;ai;b«'dﬁééuuuéayfv‘ﬁj}fﬁ
—x%+y?—2x (—d—x)+1—0

—_x2+ 2 ( dx>+1 0
— x — — _—
y Y dy/ "y

) dx x? ( +1>
X—=—-—|y+-
dy 'y
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“igjl ZxZ—; = Z—T;lq:xz = mféul.

LUl e3P 07

?nJ’Ku;L»@)TUL}“LJI

/,:ézxz =m |

i1y
y

‘Lt‘nJ’lp/,:éz 2f = —cJly

x> +y?+2fy—1=0
x2+y?+2gx+1=0 fbab‘nab"au’l_bgd}cil}’d;/é5:«!)&*&&1(&&:«;&5‘”6@)[}?

e x*+y*+2fy—1= odj«‘il/”d;;fd/

LS 4™ }Ctu}d»f“ié“aj-m Lo z—z LY 1t L™ -6 ¢

2

az+)

‘L.:JUL»JUI,CGLQW(EB;—J

2

x vy
a? a2 4+)
‘Lt‘nJlbgﬂ‘Z(:L//g}/”jxﬁgf}(a!}LﬁUl:.?ﬂd"
d
2x Zy% B
a? a2+
—a’y (d
@ +r=—2 (_y)
x \dx
/.:éjuo‘:hfd‘}u&/d}&é’:/&az + A
2
y -1
x \dx



s x?  xy (dx) _ 1
a2 a?\dy)
_‘Lu,péﬁééuuuéagﬁfdﬁfz
_Laglgnwud}‘il/bd)/d/)/ /“é/ —Z—; ﬂfcd/z—zufgbl/uﬁ
2 d
S+ (3)=1

a? ?C(lix
S dy = (“—x)a
ydy =|——x|dx

‘aL"nJ"L:u.fq/,:L/Jf

2 2
y? x " c
247 — 421 —
2+2 a ogx+2

= x%+y?—2a’logx =c

_Lgd,‘b‘i!}’d;/éLgquuu:uLc,yf‘”fd;fz
_a”_/(d’ibd}cil/”d»f“i ch}wd/.@lvgau%y = ax3uul5£c«y~f“” -6 Je
‘LQI;L/JUIXGLQ“W:’.&%)—J

4L/J}7xw,/_~,uuw

/?éju:wufdm,é,d/a

1 /dy
3’%7;(5)"3
, -
,@Jj—zu:u,ww“ié’g/&’w}‘imj}/ _‘a.:,up@)f“iiuuuéayf’fdﬁfz

<j_m‘u32£/_§_;

3y = ( dx)
= 3ydy + xdx =0
‘Lt‘nflau:q/,:L/Jf
32 x? ¢
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x2+3y?=c

-Ladj-‘il/)’d)/"iLa!;l/d/uulééagﬁufdﬁfﬁ

(When Equations in Polar Form)!?uify(j%)al}wg% 8.3.2
‘ngj;',?/wouuuuLuﬁ“féuL

o(r,6,ba) =0 .. €))
‘adﬁ;,?u;,uuJ)TJuuumféuLm‘a}:%b{t aJl
y(res)=0 )
A S L
<.
5/ ©
"
7]
~
O ~

832.1F

yut4d;"if} pJ _+J’KT d}‘iu”d»fvgd/uuum/v P(r, e)ﬁufécf‘fzuuuféut
L (Tangents) S W L P LT § il CF 88 Sk - LS e P(p, ) Bl

U N R
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dap dar
L U2 6,90 S rn i T sicSUg
W T
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2 T
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a6 =~ P
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dr , da
— —p —
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dr
0 a
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_ 6( zde)
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1 /dr
@= " sin® (E)
/,:é/ui'c«l}l/(}fd)&g,:d/a
1 ydr
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sin @

ctal ol S
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_4‘-6;@/15;/“&Lauud/uuuéagﬁfd;fz
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=
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dy —x

dx 7
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Yax T 1—-+3v
dv \/_+v—v+\/_v
Yax T 1—-+3v
dv_\/§(1+v2)
dx 1—+3v
oy,
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dx 1 3 2
\/§—= dv——( 7 >dv
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x 3\ 2
T =Sl () v
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ctafoT i S

2
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c V3
2
x2(1+v?) = cevs "
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1(Y
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X
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ezl ety ol ez A 872

r=c(1+cosf) .1
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. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,
New Delhi

. Ordinary and Partial Differential Equations- Rai Singhania, S.Chand & Co., New Delhi
. A Text Book of B.Sc. (Mathematics), Volume —I , V. Venkateshwara Rao and others, S.
Chand & Company
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(Introduction)/:f? 9.0

d}é{'/b(juf/“/}b Jb V’ZU:GJQZ::«G'UMLU;IJLAJ.LA%/}IQ‘L/%LKZJ(E%;Z‘J
SHSF besn J.:J;l/ (Auxinaly)u;wfmmuw@ﬂ“&tﬁ*@:/d‘;(«uﬁ&k{m_u?t/d’u/
LR b LS eFES

(Objectives) ¢+ 9.1

e At Ly S Foeidb S Saile 3 P S L fon 61 LT, n LU
-Zq”/"}’”J’Kc«l}l/&ﬁ&?{d}é/&b/&ﬂﬁ@dmcud/c«l}l/

eI E e AL PP 90

(Homogeneous Linear Differential Equations with Constant Coefficients)

‘L(}nd/ydjgual}l/dw/gubd/g‘/n

dny dn—ly dTl—Zy dy _
_+P1dxn—1+P2dxn_2+.”+Pn—la+Pny_Q ‘‘‘‘‘‘‘‘‘‘‘‘‘ (1)

dxm
B 2 7 L sy Sr e 8 Constants) I Lt bl & x TPy, Py, o, Pr_ g, Py
L3 7 AL P Dbl i Q S8 un Py Py, Py, P

L(l)&l}@c@ﬂd‘@gxkﬂgjﬁ/;&Q /5’uﬂy‘ aq, Az, ,0y_1,0y /(’574’
dny dn—ly dn—zy dy
T +a, e +a, T + -+ an—l& +a,y =0

2 3 n P

b;:‘i:D,d_: Z'd_:D3'.. d_:Dnﬁ
¢ dx dx? dx3

D"y + a, D"y + a,D" 2y + -+ a,_1Dy + a,y = Q

D™+ a; D" 1+ a,D" % 4+ -+ a,_ D+ a,)y=0Q
u}éaU/Lf/Z//Jl/aul/u’l
fD)y =@ )
-« f(D)=D"+a; D" "+ a, D" + -+ ay4D + a, UZ
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/ﬁ_ZUﬂQW&JW' n U~(General Solution)wrkéu/'gj’f%n ;/K&’)V&.}U/(ﬁfwlbﬂ
Q = 0@ bl S -t - Partioutar ntegrad) W PG F U1 U 22 B 1t P
|
foy=0 L. (3)
-‘L&Mu}u@ﬁdlﬁ‘
(Some Basic Theorems)gdﬁyf 1»{9.2. 1
alﬁwcwampdzﬁldtjnuﬁﬁy = u/}in)fu"l}{f(D)y =Qeblry= v 1
K Srekf(D)y = Qebley =u+v s f bk r0)y = 0
“AJ"‘LJFrL&K(?)) e llry = ussl e (Particular Integral))fdalég(ﬂ ehlry=v J/U}Z S
fD)v=Q
31
fD)u=0
=y
) fD)u+v)=fDlu+fDw=0+Q =0
c«l;L/déLJi_ujJ&/djﬁidt'/{'nuﬁfwgjg_‘gy =u+v FEFD)y = Qublr LU
S EF(D)y = Quelsbr § F b LF(D)y = 0bslr Exy=u+v S (b KF(D)y =Q
WBL%}JJ;&JO "li"iéc«’}l/‘J/'JUL}U//Z//J’-UJTJ(ComplementaryFunction)d‘@
/S
y=C.F.+P.1I.
e PTEIL c ugknf LENS y = ey y = S L6 D)y =01 2
ey =y, S LEF(D)y = 050L tesd
f(D)y; =0

\

h-d’
fD)cy, =cf(D)y, =0
_(nfuﬁ'{l{f(D)y = 0=hlry =cy, “AJ’
qujfdt‘/{ an(D)y =0=blry=y,y =y, y = yn/'/' 3
Y=C1Y1 Y+ o+
—wgwd/gi'cp Cz;"',cnulﬂ‘gﬂwvgﬂj’(ﬁ/

166



&)"U.?Lﬁd't‘ﬁ; an(D)y =0 ."_J}L/y =Y,y =Yg,y = ynéul':&f
fD)y, =0,f(D)y, =0,-,fD)y, =0 .. (0

fD)(c1yr + ¥z + -+ cpyn) = fF(D)cryr + f(D)cyy, + -+ f(D)cpyn
=cf(D)y1 + c2f D)y, + =+ cuf (D)yn

LS (Dbl
fD)(c1y1 + 2y, + -+ cpyn) =0
-‘aJ"qu(D)y = 0lslry = €Yy + CoYp + o CpY U

(Complementary Functions)e el S 9.2.2
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sle f(D)y=0 L. (D

U 1Lt i (uxitiary) sl e obs f5 205 My, g, -, i S I
fmy=0 .. @

HESSFE S 25 Debilres
D -m)D-m)~{D-m)y=0 .. 3

5o neblad St
D-m)y=00D—-m)y=0-,D-mdy=0 .. @

c«';bff)dl.b.«i-iu;'zwuéé(l)a«bl.»«‘/i.:ﬂlzu;’zfé(ﬁcabl/fécﬁ
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d
(5= me)y =0
dy
a—mky—o
d
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y
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y — emkx
u’l-Zu;fdfﬁ(l)abl/f}? vy =e™* y, =eM2¥ ...y =eMn¥ JFU’GLM) ;vl;l/’.iu’!

(sl o o ne
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= vme™ + e™D(v) — mve™
= e™D(v)
42./@,47J/U);)4MJ(D —m)
(D —m)?y = (D —m)e™D(v)
= D{e™D(v)} — me™D(v)
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(Ozblad 1
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= e“x(cleiﬁx + cze‘iﬁx)
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g SIS (D? - 6D% + 11D — 6)y = Ohsls 2
‘La!;l/@/d;_f

(D3 —6D2 +11D — 6)y = 0

Srnboneiiowsbod Lol fE S Fi L p P by

170



L

m3 —6m? +11m —6 =0
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b o LSS Gl @il

C1:0,C2:O

gﬂg)ﬂuﬂl}d/}/”iu’!

x=0
S e# FE(D? - 2D + 5)y = 0ol 5
< c«bl/‘fd)_f
(D> —=2D +5)y =0

JnJJA?/)c«!;VU;VNiLJ'-&L-@UVJ)J'&;J‘&/g/»m’lféb.{,/g}yabvd

m?—-2m+5=0

2++4-20

m=————
2
m=1+42i

gﬂi)’gﬂfﬂ&g&bbfdﬁfd)égﬂw(Complex Numbers) J'ﬁh_:ﬁvuJ)/fu}Z.

y = C.F.= e*(cy cos 2x + ¢, sin 2x)

oSS (D - 2D% + 4D — 8)y = Olsls_6 i
ﬁ;al;bfﬁfd;_tf
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L

(D®—2D*+4D - 8)y =0

JnJJJ;»a!;VU:W:}.éJl_‘acA:LﬂJﬁ(}b}({ézaﬁ;‘jv&%/}ygbud
m3—2m?*+4m—-8=0
m?’(m—-2)+4(m—-2)=0
(m-2)(m?*+4)=0
m=2,+2i
EZMJ";'.?AJ?M{:«UL»&}IJJJ%_u’luj;lﬁldﬁjal .ﬁi_ﬁujufu;;
y=C.F.=c;e** + e%*(c, cos 2x + ¢4 sin 2x)

y = c,e?* + ¢, cos 2x + ¢ sin 2x
oSS (D3 =5D% +7D — 3)y = 0lsls 7
‘Lc«bl/‘:"'/d;-f
(D®—-5D24+7D-3)y=0
Snddsonemogiod EuicendfF e AL PP el
m3 —5m*+7m—-3=0
m?(m—1) —4m(@m—-1)+3(m—-1) =0
(m-—1)(mM?*-4m+3)=0

m-1)(m-1)(m—-3)=0

m=1,1,3
Cobian pentd PSS L bt sos
y=C.F.=(c; + cpx)e* + cze®*
g (D? +3D? +3D + 1)y = 0 bolr_8 i
cenl
(D*+3D*+3D+ 1)y =0
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L

fn‘fdj}g/;m,uuwé_Lu’i_‘a.:,uuJ)TUJ’}J;“_/;/“’ZVL%/J‘V;A,L»,
m3+3m?*+3m+1=0
m*m+1)+2m(m+1)+(m+1)=0
(m+1D)(mM?>+2m+1)=0
m+1)(m+1D(m+1)=0
m=-1,-1,-1

?ndjsgnd’(wguwé/'ﬁ&@;;w
y=C.F.= (c; + c3x + c3x%)e™
~JSF S (D +8D% +16)y = 0z tslr9 i
o ablFE-Sf
(D* +8D2 +16)y =0
Sndsonatiogod Lutcendf§ed gL P ente,
m*+8m?+16=0

(m?2+4)2=0

m = +2i, +2i

gﬂdjguf(l&(a«l;l/(jﬁfd;“igﬂuj ;m._:a:l‘ujufu;;

y=C.F.= (c; + c3x) cos 2x + (c3 + c4x) sin 2x
e FE (D3 -3D - 2)y = 0 bsle_10J
ﬁ;al;bfﬁfd;_tf
(D3—=3D—2)y =0

J}’ZJJJ;/)@!;PU;V%LJ!-LL:A;L«‘J)J'Lf}(f.&/gﬁ:'jv&%ﬁj&/abud

m3—3m—-2=0
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m*(m+1)-m(m+1)—-2(m+1)=0
m+1D(mM?>-m—-2)=0
m+1)(m+1)(m—-2)=0

U

m=-1,-1,2
/nJoo},?/:Ja(lchal}VJﬁ&/d)éJ_Jl
y=C.F.=(c; + c,x)e ™™ + cze?*

Y= dy=0,x=0 S 20t 2 S €D+ D2+ 4D + 4y = 0bile 116

dx

d%y

'9«—@ = 5.l
%c«bl/‘:"'/d;-w
(D2 +D?*+4D +4)y =0
Jnuﬁjj;'g».:,uuuwé£J1_+g',w@;de/,&/;/f/vé%ﬁdﬁ’”y,u,
m3+m?+4m+4=0
m?’m+1)+4(m+1)=0
(m+1)(m*+4)=0
m=-—1,142i
(ﬂdjg/}dp"bgaiﬂ/@ﬁ&/d;éuiuj o el s Jf;uJufu,{.
y=C.F.=cje™ + e%*(c, cos 2x + c¢5 sin 2x)

y=ce *+cycos2x +cgsin2x €))

dy

= —cie™* —2¢,sin2x + 2c3cos2x .. ©))
40P 2 80

Y = cre™* — 4c, cos 2x — 4cs sin 2 ©)

o = 1€ " —4cycos2x —4czsin2x 3
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U

cg+e,=0 L 4)
% =—-1,x=0
- +2¢c3=-1 .. (s
D =5,x=0
¢ —4c,=5 . (6)
S L SIS (6 s15) @) ol
cg=1c,=-1,c3=0
¢ f Sobeil- G5 U

y=e ¥ —cos2x

SIS 2 5T 6y = 0l 1206

de3 dt?

éﬁ/uﬁygf"},?/)fc«l;@{d;-f

(D3 +2D?2—5D —6)x = 0

Snllsonebiowsbd Ll el E S e Fiv L p P by
m3+2m? —5m—6=0
m’m+1)+mim+1)—6(m+1)=0
m+1D(mM?*+m-6)=0
m+1)(m+3)(m—-2)=0

m=-3,—-1,2

¢k onlf Pkl F6d Ui Al u s Uz

x =cre 3+ cyet + cze?t
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L

L |

SP3BT gy = gl 13

44’%&}%&5@/}]&!;@@3}-&

(D3 —-3D?>—-D+3)x=0

fn&)j};um,uuwé_Lu’i_‘a.:,uuJ)TUJ’}J;“_/;/“’ZVL%/J‘V;A,L»,
m3—3m?-—m+3=0
m*(m+1)—-—4m(m+1)+3(m+1)=0
m+1D(mM?>—-4m+3)=0
m+1))(m—-3)(m—-1)=0
m=1,-1,3

gﬂi)yﬂfﬂa(&l}l/éﬁfd}é;ﬂuj .ﬁuvﬁujufug

x =ciet +ce”t + czedt

Cx b 28r 38r 4%y gy =0/ 14U

dt* dat3 dt?

/?&iutdﬁd;'gu/u,ufd;_d’

(D* +2D3 —3D%? — 4D + 4)x = 0

Srnddsoneiiwbd Zuiceentd 7 §e &g Lo 2P el
m*+2m3 —3m? —4m+4=0
m3(m—-1)+3m*(m-1)—-4(m—-1)=0
(m—1D)mM3*+3m?—-4)=0
(m—-D{m?*(m-1) +4m(m-1) +4(m -1} =0
m-1Dm-1D{m?*+4m+4}=0
(m-—12%(m+2)?=0

m=1,1,-2,-2

/}’ZJ.)'.yz)Jprlpl{al;VJﬁfd;?I
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x = (¢, + cpx)et + (c3 + cpx)e %t

LSS+ atx = 0l 156

45&“&J¢J;g/}/¢,’,w{d}_d’

(D*+a*)x=0

m*+a*=0

(m? +a®)?-2m?a®> =0
(m? + a?)? — (\/Ema)2 =0

(m? + a? — V2ma)(m? + a® + V2ma) = 0

m? +a%? —v2ma = 0,m? + a? +V2ma =0

m?+a®—V2ma=0

B V2a +V2a? — 4a?
B 2

m

ai

R
V2 N2

m =

m%+a?+vV2ma=0
B —2a +V2a?% — 4q?

m

u@u@j;’g»al;vcj:bf’éLJ!-‘L.»!;L»J/'Jf;d/;/égjl/L%/%abud

-

LA

gﬂJﬁ:’g/}f"ngbP@ﬁ&fd)?|
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a a

X = e(\/f>t {cl cos (% t) + ¢, sin (% t)} + e(_ﬁ)t {c3 cos (% t) + ¢4 Sin (% t)}

(Learning Outcomes)él} dm 9.3

S e U1 EE LSS A S S et P UL Autddun
LEE et fU”

(Key Words) 51§ ,gg 9.4

c«UVU)b*:Jp@dV“lrg/rai}wgﬁ&}rc«l)@dnﬁdg’

(Model Examination Questions)< U/ G2 9.5

(Objective Answer Type Questions)c«ﬂlrdbﬁc«glﬁdz)/” 9.5.1

oS Fomy # my S etle 37 P8 A £ Py = 0070
(T/F) y = c,e™* 4 ¢, e™M2X ?nd”(ugal,uq‘unujjj;;égu,v

simy=a+ip S & b sl SF e AL Frmy =0 7 2

€% C.F.= e~ {Acos Bx + B sin fx} —F et 0 & hiler b S Folom, = a — iB

(T/F)
d3x d?x dx
_}JHUL»"U)LVJF + 3@ + 35 +x =0=Mls 3
. . 2
SISO + 52 4 6x = 02 bsle 4

(Short Answer Type Questions)c«ﬂ!rdbzcc«@lﬁ/g 9.5.2

53+3%+2x=0mﬂf.1

dt?
d3x d?x dx
SIS -3 2 Z = 0els 2
d3x d?x dx
‘q/@wJ’Eﬁ+6gﬁ+11z+6x_ovm».3
d3x d?x dx
..u:/ylﬁdygﬁ— BF_E—F 3x = 0= lslr 4

180



d3y d?y v _ .
SIS 28 3 il S

LIS 6% 4 9x = 0zl 6

dt?

SIS 22 10y = 0l 7
(Long Answer Type Questions)aﬂ!rdbécyglﬁd}b 9.5.3

S35 gl

dt3 dt?
d3x d?x dx
_Q/?%JFKF-F:?)F-F:%E-FX—OVUV 2
d?x

S FEEE L 8T 16x = 0l 3

dt* dt?

d*y d’y d*y o _q.
-u:/(gja/m—6ﬁ+ 12E—8a— OV”L“" 4

SIS (2 1)3 (£2+241) = 0ol .

d3y d?y dy e
2322492113y =0/ 6

dx3
LSS (S 1)2 = Oulsls
L 1162 = 0zble 8

dx3

e Ui S S S FEFD)y =0 entd IS¢ En 2
i)

S St 2t SO L F(D)y =0ebley =y,y =y, 5 = 3, /1.10

N

3

O

Y=0CYy1+ Y, + o+ CpVn

‘%J@Vd/y’;'cl' Cy ety Cnul»z?.‘gﬂdpvg’gu‘upf
?‘@t‘lggyEC}JJPKJ!_‘}:un/J/,ujuT qu@,ﬁﬂ?ﬁ.n

HCV Y ¢

ezl el (s 9.5.1

(T .1

(F) 2
m3+3m?2+3m+1=0 3
y=ce 4+ e 4
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ezl ety Sl els A 952

x=ce 4+t 1

x =c¢; +c et + cze?t

— —-X —2X —-3x
y=ce ¥+ e + cqe

x =cre b+ et +czedt

y =cre™* +cy + cze3*

y=(c; + sz)e3x

NS> N S U VO )

y = e*(c; cos 3x + ¢, sin 3x)
ezl ey Joleln s 9.5.3

X =cy+ e+ c3e§t 1

x = (c; + et + c5t?)et

x = (c; + cyt) cos 2t + (c3 + c4t) sin 2t
y =c¢; + (c3 + c3t + c4t?)e?*

[T VR

X
y=e 2 [(01 + cyx) cos% + (c3 + c4x) sin %] .
+(cs + cgx + c7x%) cos x + (cg + cox + €19x?) sinx
y = c,e™* + e?*(c, cos 3x + c3sin3x) .6

y = (c; + cyx)cosx + (c3 + c4x) sinx .7

y =¢; +c3cos4x + c3sindx .8

(Suggested Books for Further Readings)u.?m)/’/“i“i Z:é,lb‘,g/ 9.6

. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,
New Delhi

. Ordinary and Partial Differential Equations- Rai Singhania, S.Chand & Co., New Delhi
. A Text Book of B.Sc. (Mathematics), Volume —1 , V. Venkateshwara Rao and others, S.
Chand & Company
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&(“u’t&iu?w@/’ﬂ"f' UJQKJ%/J&A _10 g

(Particular Integral of Non — Homogeneous Linear)

Differential Equations with Constant Coefficients

o
yrdrz

e umd P S S p S
S Fe(--0) v

SEPsf(D)y = Q

SELEf(D)y = e™

M PLEF(D)y = sinax (L cos ax)
SELef(D)y = x™

)“’{JGKf(D)y =e®™.V

e

gwwf

S

e Jo Ll s>
aquuéagmﬁ
eUrJel ez b
S5 L& b r
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(Introduction)/w? 10.0

Ug-cbr b Qé’?+t@gi/fcjx §FD) ez 41 —— Q6 Li6x S 'S ol

()
J':‘L(}/J/“b"){f(D)y = ( (Non Homogeneous Differential Equation)ca’}l/‘gﬁ(f}g,/l;y = %QI
b U e UL D)y = Qe8P F L0 SR
1
1) (7552) = @

- (Inverse)J}aAKf(D)J(i %Jl&f‘atﬂ/;wc—u)

.
Xy

;0=ledxgu(z0)=eLn(50)=0

(Objectives) ¢+ 10.1

SUie 2§ TS 0 B LS Gl JG/:«T@LI:J’IZ:LEKIJI
LTSl F S ST ez

el i3 7 S e A, 102

(Particular Integrals of Non Homogeneous Differential Equations with Constant Coefficients)

-Zq:/&i('z/?cﬁwuf/ﬂudjg/}d/guaié
SR ) U
LSl 0 F Bk D)y =Q 2

D)

(Determining the Particular Integral ﬁ Q)L’/ J/ lﬁ(ﬁ Q) Jff JLG 10.2.1

FQ =uSs S/

D—
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(0 -mu=(0-m)(—0)=0

du
——mu=40

dx
‘LJ’E,?/)JF{J?%;'«!;L/@%&}J.L/%JK
ue ™ = er‘mxdx
u= emfoe‘mxdx
1
o= e

(Particular Integral of f (D)y = Q))fupbgf(D)y =Q 10.2.2

_ujé’;/»ZiL/(Jil:/Jl
13 Pl

F(D) = (D —m)(D —my) (D —my) Sl

57/'

1 1
FD T O —mD@—mp) - 0 —mp) Y

B (D —my)(D — mlz) (D —my,_) (em“xj Qe Mn¥ dx)

e ton PO et LT 5 f S

LA

1 1
FO O -—m)0 —my) D —mp

=y J(Partial Fractions) U)/U/)Z
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1 Q—{ A + 4z ++L}Q
f(D) B (D—-my) (D—my) (D —my)

= A e™* J- Qe ™* dx + Aye™2*¥ f Qe ™M2Xdx 4 -+ A e™n* f Qe ™nX dx
e M S

-}/Jp ex_ 5% + 6x = e*tlsla 1 JE

ac?
wéﬂu‘c@)we»ﬂfeww-d’

(D2 —5D + 6)x = e*
Q =e* . f(D) =D?—5D+6 Uz
‘aJl 324 (Auxiliary Equation)c«l;l/u;b*éj. Lol

m?>—5m+6=0
(m-2)(m-3)=0
m=2,3

(%J’.)’,’?/} (CornplementaryFunction)dﬁwdl}’ “& Z (D2 = 5D+ 6)x = Oc«’)l/éfd)éu”

C.F.= cie? + cye’t

4t

" 0-20-3)°

Lui=tQ=em[QemdeS Ut kA

1
— 3t 4t -3t
P.l1.= (D—Z){e Je e dt}
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= (DiZ) {e3tfetdt}

{e3tet}

“D-2)

1
(D -2)

4t

e

— ethe‘”e‘tht

= ethetht
1
P.I.= Ee‘“
gﬂf@a.’é{/gﬂJgrbggl}V(}.}]’fd)éJI
x=C.F.+P.1I.

1
= c,e?t + cye3t + Ee‘“

SIS gy = 2peiie 2

dt?

wémguéé.@}dj;/)ﬂfabugl-w
(D2+D—-2)x =2t
Q=2ts f(D)=D?+D—-2Ul
J}’Z‘J:)',?J) (Auxiliary Equation)c«’}lw‘t)}l?‘“iéca’)lw‘u’
m>+m—-2=0

(m+2)(m—-1)=0

m=1,-2

g)’iJ"},.?/) (Complementary Function)d‘@dl}’ é Z (D2+D—-2)x = 0&’}P6(d)éu’

C.F.=ciet + ce™
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Sutem Ly S S IF LA
1
= mQ
1
“DZ+D-2
1 4t
"D+ -D°

P.I.

e4t

éJ—J'ﬁQ =e™ [Qe MdtS U Z b
— 1 t -t
P.l.= (D+2){e the dt}

= ) _1|_ % 2et {—te‘t — J(—l.e"t) dt}

= ) 2et(—tet—e™)

1
= -G53+

= —2e% f(t + 1) e?tdt

2t 2t
= —2e7 2t (t+1)e——fe—dt
2 2

eZt eZt
= —26_2t {(t + 1) 7 - —}

4
et 1
= —2e ZfT{(t+1)—E}
1
P.I =—(t+§)
gnffbgaljbf&ﬁfd)égﬂ
x=C.F.+P.I.

1
= et + c et — (t + E)
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—’/,’FJPK% +y = sec xelsls_3J6
BESE =5 pSsonff cilgi
(D% + 1)y = secx
Q =secxs f(D) =D%+ 1l
‘f ndj 5.2 (Auxiliary Equation)aa'}l/c)}bﬂ“iéabvu [

m?>+1=0

m= +i

K%J")',?/) (Complementary Function)d‘@u’l}’ “i Z D2+ 1)y = Oca’ﬂ/LstﬂéJ’

C.F.=cycosx + c,Sinx

Pl =—0
f(D)
1
=D2+1secx
1
O DD
17 1 1
zz_i[(D—i)_(D+i)]Secx
17 1 1
=Z[(D—i)secx_(p+i) seca

LU=l =em[Qe™atS Ut

171 . . . )
P.I.=Z[e”‘fsecx(e‘”‘) dx—e‘”‘fsecx(e”‘) dx]

1 I . J‘(cosx—isinx) [ (cosx + isinx) l
= |ei* d —ix dx
20

X —e
COS X COS X
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17 . .
=Z[e”‘f(l—itanx)dx—e‘”‘f(l + itanx) dx]

1. . )
= > [e”‘(x + ilogcosx) — e ¥ (x — ilogcos x)]

1 . . . .
=5 [x(e™ — e™™*) + ilogcosx (e + e™™)]

B eix _ e—ix ol eix + e—ix
=X 2 0gCcosx 2

P.I.= xsinx + cos x log cos x
xSl Ui

y=C.F.4+P.I.

= ¢4 cOSX + ¢, sinx + x sin x + cos x log cos x
ay ., dy .
J/(’LVJFKQ - Za +y= exca|)L/-4JV
Ujgé’—@,/l’dj,?/;/@l}@u’l_f
(D> -2D+ 1)y =e*
Q=e*sf(D)= D? —2D + 10Ul

J)’Z‘J:)',?J) (Auxiliary Equation)c«’}lw‘t)}l?‘“i L&’)PJ’

m>—2m+1=0
m-1)(m-1)=0

m=1,1

gﬁd}'.y/) (ComplementaryFunction)d‘lﬁjdm 43. Z (D2=2D+ 1)y = O;‘«Ul/(:?fd}“igﬂ

C.F.= (c; + cyx)e*
S i Ly FeFrea
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1
DZ—2D+1°
1
= e
DO —-DD-1)

X

X

LU0 =e™ [Qe ™ dx St bt

D—m
P.I.= ! {exfexe_xdx}
(-1

=(Di1){eledx}

1
(D-1)

X

xe

= exjxexe‘xdx

=exfxdx

2

P.1 L e
. .—78
gmf(to“iu’!
y=C.F.+P.I.

2

X
= (c; + cx)e* + 76"

(Particular Integral of f (D)y = eax),lfgflé{f(D)y =e™™ 10.3

fla) # 02 .1

u“?L/JI lp(’zc},& J(Successive Differentiation)d/ﬁjl;’
De* = ge®
D%e% = D(De%) = D(ae™) = a?e®*

DNed* = gMedX
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,J/‘Lt‘ﬂ/;lb’:/a‘ﬂ
f(D)e* = f(a)e™
/.:J_/'/Jf_}/u]uc;uuridlp

1 L f(D)
m{f(l))e }= @{f(a)e }
= m{f(a)eax}
LR S
TONENION
fa) =02 2

SENEn (D —a) & FrLEF(D) (@) = 0.1
f(D) = (D - @) p(D)

() #0S =2

1

fD° " O-ayed"”
— 1 . 1

“0-a e@°

1 x"

ax

s 1 1 T o
-K}’Zmeax = w'i—!eax h,/‘f(a) = 05«2.40"

-wg“/@./l’é%)/’;lcu d/uﬂfff:ﬂb’,l

_,/r,bf‘j’gdz_y_ 62_14_ 9y = 2e* =lsle1JE

dx?

Ujéﬁg&{él‘%/d}g/}ﬂ/gl;@u’l_f
(D? — 6D + 9)y = 2¢**
(D _ 3)2y — Ze4x

Q = 2e™ 11 f(D) = (D — 3)% U
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g st} 3205 (Auxiliary Equation)esfsbs abr & lsls 1
(m—-3)2=0
m=3,3
gﬂdjgu (Complementary Function)u‘p@dﬁ’! “i i (D—-3)%y = 0:;!;[./(:{5)%(}!
C.F.= (c; + cyx)e3*
Sutea Ly S S IF LA

1

P.l.=——
TN
1
— 4x
= D =3)2 Ze
1 ax _ 1 _ax 3 vl :
“iu’!:ﬁe =@ < f(a) # wauj‘alaf
1
— 4x
P.l.= (4_3)226
P.l.= 2e**
g%d”bcﬁg/gﬂJar’lpgc«bl/&ﬁfd)éui
x=C.F.+P.I.

= (c1 + cx)e3* + 2e**
SIS EL 380y = el 2
wéﬁg&é%/j’d)',?/)ﬂ/abugﬂ-f

(D% — 3D + 2)y = e>*
(D -1D((D-2)y=e>

Q = e .l f(D) =D?—-3D+2 g

J}’ZJ;},?/J (Auxiliary Equation):«bl/d}bf“i é:;«bl/gﬂ

(m—-1)(m-2)=0
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m=1,2
g}’i(j‘}gﬂ (Complementary Function)d‘@da’ “i L (D2 -3D+2)y = O&’}V&/d)“iu’
C.F.=c,e* + c,e?*

Suzea Ly /S e E A

P.l —LQ
(D)

— 1 5x
“O-DD-2)°

éu;‘Leax :Leax_._;‘f(a) + OJJ/UZ'Z_&(’Z

f(D) f(a)
P.l.= ! e>
T GG=-1(G-2)
1
— __ ,5x
P.I.= 1ze
gﬂd”lpc;.’é{/’,?uf(l;gc/lngﬁfd)éu’l
y=C.F.+P.1I.

=ce*+c ezx+l95x

'U.:/f/% - Zaz—i +a?y = eaxcabl/-Sdt‘:‘
HESE o 3 p Lo el F

(D? — 2aD + a?)y = e

(0 - ayy = e
Q = e 51 (D) = (D - a)? Ul
J an 5.2 (Auxiliary Equation):al;l/u;bw“i L bl

(m—a)?>=0

m=a,a
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lfn'df,;',?/} (Complementary Function)d‘lﬁjda' 43_ Z (D —a)?y = 0:«'}Lw‘(:5(djcj_gﬂ

C.F.=(c; + cyx)e™

SUHE
Pl =— Q
O fD)
— 1 eax
(D —a)?
L Ulp(a) # 0 f.,z‘f(lmeax = ﬁ e ff(a) = 02 SUE (S
P.1 —x—zea"
21
P.1 =x—zea"
d=5
fnf(l;“iu‘l
y =C.F.+P.I.

xZ
= (c; + cpx)e™ + 7ea"

2 o
_,/‘/,hffKZTZ — 4% +3y = 2e3% e lsls_4 i

HESE & 3 p Lo el F
(D? — 4D + 3)y = 2e3*
(D—1)(D —3)y = 2e3*

Q = 2e3* 1 f(D) = D? — 4D + 3 Ul

d/ an 5.2 (Auxiliary Equation):al;l/u;bw“i L bl

(m-—1)(m-3)=0
m=1,3
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lfn'df,;',?/} (Complementary Function)d‘lﬁjda’ C»J— e (D2 —4D +3)y = Oc«bl/(:i(d)cj_u’!

C.F.=ce* + c,e3*

Sz ea Ly /S e sE s A

P.1 —LQ
ENT0)
— 1 2 3x
“O-1)D-3)°
LUk f(3) = 05Uz
P.l.= ! 2e3%
T B-DD-3)
1
— L 3
1
=%e3x=xe3x
KnJ’lpc,:g/Jj} ,?/)Ji(l;gc«bl/&ﬁfd)éu’l
y=C.F.+P.I.

= c,e* + cye3* + xe3*
-’/Jp/% - 18% +8ly = 36e3% e lslr_5 6
wémguéé.@.}djguﬂfaubfjl_w

(D* — 18D? + 81)y = 36e3*
(D2 —9)(D? — 9)y = 36e3*

Q = 36e3 . f(D) = D* — 18D? + 81 Ul

d/ an 5.2 (Auxiliary Equation):al;l/u;bw“i L bl

(m?-9)(m?-9)=0

m?=9,9



m==13,+3

g}’id;}.?ﬂ (Complementary Function)d‘@da’ “i i (D* —18D? + 81)y = O&’}V&/d)éu’

C.F.= (c1 + cx)e3* + (c3 + cux)e 3%

Suzea Ly /S e sE A
P.I.= LQ
[0
"2 -9)(D2-9)

1
~(D=3)2(D + 3)2

6e3x

36e3%

LUl fF3) =00z
_ 1
~ (D-3)2(3+3)2

_ 1
~ (D-13)?

P.l. 36e3¥

e3x

XZ

— _ ,3x
~ ¢

gﬂ“ly;%}djgniﬂoKQI;L/‘(.}’}T@T})%JI
y=C.F.+P.I.

2
= (c1 + cx)e3* + (c3 + cux)e ™3 + J;—'e3x

J‘égfl}?f(D)y = sinax (| cosax) 10.4

(Particular Integral of f(D)y = sin ax (.L. cos ax))
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ujd“_/'/gjl la("'au' J(Successive Differentiation)(}/"j]’;”

D sinax = acosax
D?sinax = D(D sinax) = D(a cos ax) = —a? sinax
D3 sinax = D(D?sinax) = D(—a?sinax) = —a3 cos ax
D*sinax = D(D3sinax) = D(—a® cosax) = a*sinax

D™sinax = (—a?®)"sin ax
_.j’.ujz.//:lEL <p(DZ)Ll_.qunu?y‘ufca;’.oﬁZJ/d/D//'f‘Lb‘ﬂ/;wdau’l
@(D?)sinax = ¢(—a?) sinax

/,:L/'/defuiur_uu( L le

@(D?)

1 o~ _ 1 N
m{(p(D ) sin ax} _—go(DZ) {p(—a*®) sin ax}

1
sinax = @(—a? { sin ax}

1 1 .
————sinax = ——=sinax
p(D?) p(—a?)

LAY

1 1
————C0Sax = ————Cos ax
@(D?) @(—a?)

e bbbty AUl plp(—a?) = 001 1
-ujé‘/.@./égj/rﬁchod/u}@w{ﬂgl
J/'?)""JFK% + 4y = cos 3xehla_1JE

wéﬁg&é%/j’d)',?/)ﬂ/abugﬂ-w

(D2 + 4)y = cos 3x

Q = cos3xsl f(D) = D? + 4 Ul

d/ an 5.2 (Auxiliary Equation):al;l/u;bw“i L bl

m?>+4=0
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m = +2i

g}’id‘)'.?ﬂ (Complementary Function)u‘p@u’w’ “i Z (D? + 4)y = 0:«’)@&/6)4(}’

C.F.= cqcos2x + ¢, sin2x

_ 1
IOMN
1
“Dra

P.I.

cos 3x

cos axJ Ut bl

1 1
f =
éu’ 2009 cos ax oad)
1

—-9+4

— 1 3
_—SCOS X

P.l.= cos 3x

?ﬁfﬂpéu’!
y =C.F.+P.I.

= ¢; €c0S 2x + ¢, sin 2x — gcos 3x

-!/(JFJJ/ZZTZ +y = sin 2xelsle 26
Ugémg‘)ﬂ"/c%}djg/)ﬂ/&!}vu’l_y

(D% + 1)y = sin 2x
Q = sin2x.! f(D) = D% + 1 Ul
gf ndj 320 (Auxiliary Equation).:,bt,»wb»“iéi;,uvw

m>+1=0

m = +i

KMJ")',.?/) (Complementary Function)u“@da' é Z D2+ 1y = 0;’«’}@‘(:{6)“&J’
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C.F.=cycosx + c,sinx

_ 1o
D)
1

=D2+1sin2x

P.1

éj_u’l (p(jﬂ) sinax = ﬁsin axJ Ut Zbf

1

P.I.=
—4+1

sin 2x

?ﬁfﬂpéu’!

y = C.F.4+P.1I.

=CcyC0S8X + ¢y sinx—gsian
2 o
-J”/J’:’/ZTZ— 2%_ 3y = 2e2* + 3 sinxehls_3JE

U.?émguéé—%)d}g/)ﬂfg!}l,/u’l_w
(D? — 2D — 3)y = 2e?* + 3sinx

(D+1)(D—3)y =2e?* + 3sinx
Q = 2e?* + 3sinx.l f(D) =D? — 2D — 3 Uly

d/ an 5.2 (Auxiliary Equation):al;l/u;bw“i L bl

(m+1)(m-3)=0

m=—1,3
gﬁd}'.y/) (ComplementaryFunction)d‘lﬁjdm 43. Z (D2 -2D—-3)y = O;‘«Ul/(:?fd}“igﬂ

C.F.=ce ™+ c,e3*

200



Sutea Ly S IF LA

m(Zezx + 3sin .X')

1 2e%* + L 3 si )
DZ—2D—-3°% Tpe_p—_3°°"*

1 1
2e2% 3si )
27 _2x2-3°¢ TT(Dz_zp_3°°n¥

2 2 4 1 3si )
3 T2+
2
3

. 3 -2
€ _E(D+z)(D—z)Smx>

2 3(Db-2
= —§ezx usinx)

- 2(D2—4)
(2, 3 (D-2) _
= —§€ —Emsmx

2 3 _
= —§ez +E(D—2)smx)

B 2 2x+3(d _ 5 s >
= 3e 10 dxsmx sinx

2 3
= ——e?* +—(cosx — 2sinx)

3 10
gﬂﬁbc%/d)’gnJp(lp(c«bl/(.}./gd)éu’l
y=C.F.+P.1.

=c,e™™ + cye3* —zezx + i(cosx — 2sinx)
3 10

(Particular Integral of f (D)y = x™) )‘Liupbgf(D)y =x" 10.5

S Sy s ond LS Fodxm

(D)
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%l?cﬂa/ﬂd;;‘uﬁ (Denominator)k‘jjfbw%ﬁL:[C)J/JU(.?J){Lbﬁf"éu:f(D)ﬁ 1
. (positive Integens 1 5 bl m Uz (1 — @(D)M[1 + p(D)]"

L1+ (D)6 s 3 S 2t b LU (Numeraton) 2 2 £ 3 22U 1) 2

[1—oD)]™

_uJZ_/ & ?J [14+ @(D)] "es4 J (Binomial Theorem)xzﬁ"&»,«! 3

Sl s

n(nz!— 1) 24 n(n— 13)!(71 -2) o

iz b AL Lo ST Uy

A+x)"=1+nx+

AQ+x)t=1—-x+x*—x3+- 1
A-x)t=1+x+x*+x3+- 2
(1+x)2=1—-2x+3x?>—4x3+ - 3
(1—x)2=1+4+2x+3x>+4x3+- 4

&l S isfpm S+ oD L et oL 2 amliem L xm S Uz
LT3 ted(nP D 2L L P P oA P S e s S 52 d = &

f(D)

S Ly Pl s e
-;/'/J’:’/ZZTZ — 4y = x?=bla1JE

Ugémguéé—%}djg/)ﬂfgul/u’l_w

(D2 — 4)y = x2
Q =x%»f(D)=D*—4Jl
J}’ZJ;)',?/J (Auxiliary Equation)é’)b”d)b"ééﬁablw‘gf’

m?—4=0

= m=+2

K%Jnﬁ'gﬂ (Complementary Function)u“@da' é Z (D2 —4)y = 0..’.'«’)[/‘(3((5)“&J’
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C.F.=ce ™ + c,e?*

SUHEf
Pl = — Q
D)
1
— 2
“pz-4"
1 1
_ _ = 2
D
)
1 p2\ ™"
— _ _ _ 2
= 4(1 4> x
€y uw lpu:‘z &4 d/(Binomial Theorem),;fﬂj U;’/J)J
1 D2 (D2’
=l +—+(= w2
211+ +<4> Foetx
1 2+D2x2+D4x2+
- T 16
= 1{2+2+0+ }
Y )
= 1(2 24+1)
Knd’(wguwﬂj;;w
y=C.F.+P.I.

1
=c,e” % + e — §(2x2 +1)
a’y | dy _ . %
..u://pl’”fgm +-—2y=x+ sin xelsls2 6

U.?ngguﬂfc%}dj.?ﬂﬂfablxu’l_f

(D2+D—-2)y=x+sinx
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Q=x+sinxs f(D)=D*+D—2Jl

d/ ﬂdl 5.2 (Auxiliary Equation)cal;l/u;bﬂ“iﬁabl/u’ [
m2+m-2=0

(m+2)(m—-1)=0

m=1,-2

g)’a’d}'ﬁ?/} (ComplementaryFunction)dplﬁjdu’ é Z (D2+D-2)y = Oca’ﬂw‘LSKLﬂéJ’

C.F.=ce*+ ce™*

Sl s

[= Q
- f(D)
= m (X + sin X)
B 1 . 1 _
“D2+D-2" "Dryp-_2 "
1 1 1 _
__51_D1+%x+—ﬂV+D—2mm

2

__1(, D2+D_1+_1 _
= > X D_BSmx

1+ + DL+D2+ + i
2 2 XTo-3m+3 "

__1f  p*+D +DZ+D2 R LR
= 2 X X X Dz_gsmx

D+3

0+1 D+3
<x+T+0+--->+msmx
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1 1 _
= —Z(2x+ 1) —1—O(cosx+3smx)
gﬂfﬂp&:«l;l/é{f;“ijl
y=C.F.+P.I.
1 1 _
= e* + e — Z(Zx +1) —E(cosx + 3sinx)
@y a3 2., :
-;/J’/dxz +2 4y =x3+2x lsls_3 e
u,?émgﬁc;%_/l’d)}?/)ﬂ/a!)l/gﬂ_f
(D2 +D+ 1)y = x3 + 2x2
Q =x3+2x%1 f(D)=D?>+D+ 1yl

J)’EJ.},?/) (Auxiliary Equation)c«’}lw‘c)}b‘é}. L&’)VJ’

m*+m+1=0

-1+

m=————

N

1-4
V3.
2l

Il

|
N| =
H

gﬂgj.}.?/) (ComplementalyFunction)d‘lﬁjdm “& z (D2+D+ 1y = 0;‘«’)Lf6fd}"iu’i

P.1.

1 V3 V3
C.F.=e 2°(c;cos—x + ¢, sin—x
2 2
SUE e
f(D)
=D2+D+1(x3+2x2)
" (1+DZ+D) O +22%)
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= {1+ (D? + D)} (x® + 2x?)

=[1—-(D?*+ D)+ {(D*+D)}* — {(D*+D)}* + --- (x> + 2x?)
=(1-D?>-D+D*+2D3+D?—D®— D3 —3D* —3D° + --- ) (x3 + 2x2)
= {x3 + 2x? — D(x3 + 2x2) + D3(x3 + 2x2)}
={x3+2x?>-3x2—4x+ (6 + 0)}

=x3—x2—4x+6

gﬂfﬂp&:«lﬂ/{d}égjl

C.F.+P.I.

<
Il

1 V3 V3 s
e 2 clcos7x+czsm7x +x°—x“—4x+6

-u:/f/dll—y — % = 6@!;&‘-4()@‘

dx*
u?ém%"{c%}d}g»ﬂ/u,uw_‘f
(D*-D?)y =6
Q = 6.1 f(D) =D4—DZUQ{,
Lfn‘dfj,?/} (Auxiliary Equation)calal/uﬂrééablxgﬂ
m*—m?=0

m?*(m?-1)=0

m=20,0,1,—-1

K}’EJ:J',?J) (Complementary Function)d‘@(ﬂ?’ é Z (D* —D?)y = Oc«’)l/éfd)éu”

C.F.= (c; + c3x)e’ + (cze* + c,e™)

=, + cx + (cze* + c,e™)
Sl s
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Knd"(wguwé@;;w
y=C.F.+P.1.

=¢; + cx + (c3e* + ™) — 3x2

(Particular Integral of f (D)y = e®* - V)Jfgfl}{f(D)y =e™™-V 10.6

Q.?L/Jibfzcru. J(Successive Differentiation)g}/'ly;'?-‘a vgf@é!/{xf“é b

D(e*™ -v)=e*™ -Dv+ae* v
=e™(D+a)v

D?(e* - v) = D{e**(D + a)v}
=e™-D(D+a)v+ae*™(D + a)v
=e®(D + a)?*v

D3(e™ -v) = D{e**(D + a)?v}
=e** -D(D + a)*v + ae**(D + a)?v
=e**(D + a)dv
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D"(e*™® -v) =e™(D + a)™v

SHEE L E DA =

f(D)e** - v=e**-f(D+a)v e (1)
L nfE L6 Vs v FB6x SUL (D + )y = VI E el
1
IR
= (Deblscd
1
f(D)e mV=e -f(D+a)mV=e -V
/.:L/defuiuauufﬁd'lp
1 ax_V_L{ (D) ax 1 V}
) fl TR
¢ T v’

_J/Ja!/ (D —2)3y = xzezxcml/-ldf'v‘
44-:«'5@6’6}-‘)‘7

(D _ 2)3y — x262x
Q = x*e** 1l f(D) = (D —2)° Uk

Jn‘d}g/} (Auxiliary Equation)ﬁ«’)lf/c)ﬂ?‘“i L;«UL/J!

(m-2)3=0
m=27272

gﬂ(jj.y/) (Complementary Function)d‘@dﬁ’ “A ) (D? + 4)y = OQUV(}J/&}“AJ'

C.F.= (c; + cyx + c3x?)e?*

SUE
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P.] —LQ
(D)

_ 1
“-23"

ZeZX

1 1
|t pax .y — pax
Lv e VT v

1

—p2x_____— .2

D+2-2)3"

VS A

12
5
X
— p2X
¢ %0
Knd’(wguwj@;;w
y=C.F.+P.I.

1
= (c1 + cx + c3x%)e?* + %xsezx

d? d : g
_,/r,h”‘fl{d—;; -2 ﬁ + 5y = e sinxlols 26
44-:«’3[.»«‘6{5}-()7

(D? — 2D + 5)y = e** sinx

-c—a =2, Q=e*sinxs f(D) =D*—2D+ 5l

d/ an 5.2 (Auxiliary Equation):al;l/u;bw“i L bl

(m*-2m+5)=0
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m=1+2i

lfn'df,;',?/} (Complementary Function)d‘lﬁjda’ C»J— e (D2 - 2D +5)y = Oc«bl/(:i(d)cj_u’!

C.F.= e*(cy cos 2x + ¢, sin 2x)

R
©fD)

1
DZ—2D+5°

2X sin x

1 ax .y — jax 1 o
“iwf(me V=e f(D+a)V’( (8

1
P.I.= e i
v 20+2+5

1
2x
D2+ 2D+5

=e sin x

4 s —(1)2 5 dp?
1
—(1)?+2D+5
1 D—2
~2° (D+2)(D-2)
1 D-2
"2 o

sin x

sin x
sin x

4 s —(1)2 5 dp?

_1 5 D2

> msinx

= —Eezx(Dsinx — 2sinx)

1

= —Eezx(cosx — 2sinx)
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gﬂfﬂp&:«lﬂ/{d}égjl

y =C.F.4+P.1I.

= e*(c; cos 2x + ¢, sin 2x) — Eezx(cosx — 2sinx)

-’/JU’KZZT};*' 22—1 +y = xsinxehls3JE

‘Lal}b«‘fu’)_gf

(D2 + 2D + 1)y = xsinx

Q = xsinxul f(D) =D? + 2D + 1 Uy

J nd; 322 (Auxiliary Equation).:alal,»*uk»“iﬁabugf f
(m?*+2m+1)=0
m=-1,-1
(%J’.)’,’?/} (Complementary Function)dﬁwdl}’ “& Z (D2 4+ 2D+ 1)y = O&’)PLS{S)“&J’
C. F.= (C1 + sz)e_x
SUE
- f(D)

1
T D2+2D+1

P.1

X sin x

= 2B ¥ el

D+ 12"

= ke —————
e D+i+ D"
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2 1

1
= st (1)
At

D ("
(1+757)
= 2 iF ke¥ — 1 (1 +L>_2x
h 2i +1
e (1o 2R, 3D
— e J— [ X
- 22\ i1+ 1)?
ix ~1 _2bx  3D% 2 _
= - Ji fe l(x 1 ) [+ % =-1]

=1 2
=,«>dg>’Kelx7i(x—, +0)

i+1
1 2(1 - i)
— swpix i .
= .o Y ve 21<x 1—i2>
= oy Keix_?l{i(x ~1) -1} [+ i2 = —1]

= o B K_?l(cosx+ isinx){i(x —1) — 1}

= o ¥ K%l[{— cosx — (x — 1) sinx} + i{(x — 1) cosx — sin x}]
-1

= 7{(x — 1) cosx — sin x}

1
= E{(l — x) cos x + sin x}

Knd’(wguwj@;;w

y=C.F.+P.1I.

1
=(c; +cx)e ™ + E{(l — X) cos x + sin x}

(Learning Outcomes)él}(}m 10.7

e Y P b Ui bn PR D)y = Qi3 75T
g =em [Qemrdx b f(D) =D —mSEuh
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S f(D) = (D —m)D —my) - (D —m)S Sl 2

1 1
D -m)D—mp) D —mp) " @ =m)D —mz) D = my_y)
_‘a&nfuﬂdud/;//?&zifuxmu’l

ujé/fb)fu’lé{oblxJﬁd}fc;,@/’d},?nﬂuﬁg/ﬂfd)@l
1 (A A, A,
(D—ml)(D—mz)---(D—mn)Q_{D—m1+D—m2+'"+D—mn}Q

= {AlemﬂCer—mﬂC dx+Azem2foe_m2x dx+---+Anemnfoe_mnx dx}

emnxf Qe ™% dx

S S f(@) =00 Q=e™ 2 .3

1 1
ax ax

AONENION

SuZ i D —ad A2 LK F(D) e f(@) = 0.1 Q = e /]
f(D) = (D —a)p(D)

SSbrpla) # 00Uy

1 1 xk
eax —_ ax
f(D)

IO

S SbQ =sinax —2 .4
_.J’u,?é;/'//;lb'ar(p(Dz) L!;uy:)}?y‘uff(D)c«}oiZJ/d/Dﬁ

1 1
mSin ax = mSin ax
LA
1 1
—-C0sax = ———-cosax
@(D?) @(—a?)

nVJ'LﬁKxJ/b.).:Q:eax-Vg% )

edX .| = X

1
D) CETM

(Key Words) 5l d}f 10.8
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Jf:Jlﬂc«bL/‘U}bﬂdp@dm‘JUﬂu

(Model Examination Questions):«wr&l?w/ 10.9

(Objective Answer Type Questions)c:«ﬂ'm_)'lnic:«yﬁdzy" 10.9.1

_)JQUL"U}{?"KZZT}; + 22—1 +y =xsinxells |1

_y”idilﬁdﬁigj_z: 32732/ +y = cos 2xehols 2

A oAk FEG L Luius S s Len-d A 3
_J@u(um‘@dm;Lul?um,u,ujmﬁiiguu@}7&}3,’://7 4
_J)gu(lpw‘tﬁdm“iziut?una + iﬁujuzi;,uud/’ﬁgﬁ;,:/ﬁ 5

(Short Answer Type Questions)c«U!biL:«glﬁ/‘? 10.9.2

:)/(}L"JVK.:«UL/(E}TJ}g/)LJ;)’%VU/’/

2
dy+y—cost N

a’y
2T a’y =secax .2
2
z y+4y =tan2x .3
dzy
ﬁ_y =e* 4
a’y
Tzt 9y =sec3x .5

a’y
dx 2

2
dy+y—sm2x 7

+y =sec’x .6

&y —32 4y = 6e* 8

dx2

ﬁ_4 +4y—e .9
() (2
dx

3
—1) y =12¢%.10
y
3 2+dx

14y = e?* 11
— —-X
dx2+ +y e ™ .12
d?y
E+3;—4y—5€ 13
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2
d—y—4y = 3e* +sin2x .14

, dzx2
%4-%—%1—3—%; = 25co0s 2x .15
ﬁ_di}ya+4y=sm2x .16
ﬁ—y=1551n2x 17
‘12_3’_3d_y+2y:cos3x .18

dx? dx

day . .
ezt 16y = 24 sin4x .19
(Long Answer Type Questions)aﬂlm_)'lniaglﬁd} 10.9.3
(Z) = 4sy(0) = 2 oS S FAEY 22 3y = 2e¥ —10sinx 1
x=0

dx?
(d_z)x=0 = —2.1y(0) = 1%&’1%’/J}(;{%}+4Z—z+ 13y = 5sin2x 2
-’/Ja[%+8y=x4+2x+1 3
-’/Jf%+z—z—6y=6x 4
Y e
~5/J/%—52—z+6y=x .6
-’/f/%—ZZ—y+2y=2x 7

X

aly d*y ay _ 2
-’/JP T dxz 6dx_ 1+x~ 8

"/J/%+2%+Z—i=ezx+xz+x 9
ary _ g dy o2
-}/f]dxz 3dx+2y_2x +1 10
(E)mo = 0441x(0) = 0§'E”(%“%’/J7/%+4%+5x =10 .11

dt
azy ay 2% o
_J/J}J/dx2+3d + 2y = e“*sinx .12

X

_,/J’/%_gz_y+2y=ex 13

x
-’/Ja/%—43—z+4y=x3ezx 14
~’/f[%+3—z—2y=ex 15

—’/'/JF ;i%]—yzexsin?)x .16
-’/J/%—Zz—i+y=xze3x 17
~!/f/%+3%+3%+y=x2e—x 18
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_;/'/J’:’/dz—}z]—y=8xex 19
_;/'/J’!/dzy+2—+4y—exsin2x 20
_;/'/Jy!/d3y+3d2y 4y = xe ™ 21
_}/f/dy 4 +3y—e cos 2x + cos 3x .22
_;/’/Jp dzy Zdy+4y—e cosx .23
_}/f/@+4y=xsinx 24
_)/‘f/%—73—z—6y=e2x(1+x) 25
-)/f/%—yzxzsinx.%
_}/pr%+43—z—12y=ezx(x—1) 27
-;/Jp:’/lﬂ—y+3d—y+2y=xc052x 28
-}/Jp:’/dy 2dy+4y—e sinx .29

_J/J’/i—zdy+y = xe*sinx .30
HEI N e
ezl ey (s 10.9.1

DZ4+2D+1=0

Yy =€, C0SX + ¢y Sinx

y =ce™* 4+ ce™* 4 oo 4 cpe™n*
y = (¢ + c3x + c3x?)e™*

y = e*(c; cos fx + ¢, sin fx)

ezl elrJoleliz A 10.9.2
:JI(P”JP{:«!}V(}“/'JJ“L?/}L.@.)%VU/

. 1
Y = €1 €0SX + ¢y sinx — —cos2x .1

—_—

[T N U FOR Y

. . 1
Yy = ¢qcosax + ¢, sinax + gsm ax +—cosax log(cosax) 2
. 1
Yy = €1 €0S 2x + ¢5 Sin 2x — ; Cos 2x log |tan (x + %) 3
- 1
y=ce*+ce ™ +Exex 4

216



. . 1

Yy = ¢1€0s3x + ¢, sin3x + gsm 3x + 5 €os 3xlog(cos3x) .5
Y = ¢, COSX + ¢, sinx + sinx log |tan G + g)| -1 6

. 1,
y =cicosx +cysinx —-sin2x 7
y=ce ™+ et —e* 3

2
y = (c1 + cx +x7)ezx 9
y = (c1 + 6™ + c3x)e? + (cu + csx + cgx?)e™ + x3e* 10

7

_7 1

y =ce 3 +ce?* +Exezx 11
1 3 . V3 -
y=e 2" (cl cos%x + ¢ smgx) +e™* 12
y = cre” ™ + ce* + xe* .13
y = cre® + ce?* —e¥ 14
y = 183 + (cy + c3x)e™ — (2sin 2x + cos 2x) .15
1

y = (¢1 + cyx)e?* +=cos 2x .16
y=ce *+ce¥+c3cosx+cysinx +sin2x .17

1 .
y = cre* + ce?* — 5 (7 cos3x + 9sin3x) .18

y = ¢1 c0s4x + ¢, sin4x — 3x cos4x .19
ezl erJelebazts 1093

y=%e3x+2e‘x—%ex+251nx—cosx 1
y = % [e‘zx (37 cos3x — %sin 3x) + (9sin 2x — 8 cos Zx)] 2
y =ce ?*+ ex(cz cosV3x + c3 sin\/§x) +§(x4 —-x+1) 3

y = cre? + cye3* — (x + %) 4

y = cl+cze"x+c3e"2x+§—¥+77x
y = c,e?* + c,e3* +%(x + Z) 6
y=e*(cgcosx+cysinx) +x—1 7

3 2
3x —2x 1/(x x 25x
y 15 "2 3 6\3 6 18

— 1
y=c+(+ex)e ™ +—e? +——=
y=ce*+ce?*+x2+3x+4 .10
x=1+2t-3t>—e3" .11

1 .
x —1—mezx(7cosx —11sinx) .12

y=ce ?* + cye”
y = ce? + cye* — xe* .13

1
y = (¢; + cyx)e?* +2—0x562x 14
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y = cre” % + cye* +%xex 15

y=ce *+ce* —%ex(z cos3x + 3sin3x) .16

y = (c; + cyx)e* +%e3"(2x2 —4x +3) .17

y = (¢ + cx + c3x¥)e™ + %xSe_x 18

y =ce™* + ce* + 2e*(x? — x) .19

y = e‘x(cl cosV3x + ¢, sin \/§x) + 7—13ex(3 sin 2x — 8 cos 2x) .20

y =cie* + (c; + c3x)e 2% — %S(x3 +x2)e 2 21

y = cre3* + ce* — %ex(cos 2x + sin 2x) — %(cos 3x + 2sin3x) .22
y = ex(cl cosV3x + ¢, sin \/§x) + %ex cosx .23

Yy = €1 €C0S 2Xx + ¢, sin 2x +%(3x sin2x — 2cosx) .24

-2x -x 3x x 17) 2x
=ce cye czer —(=+—)e** 25
y==a tae T te (12+144
_ . 1(x3® 5x 3 .
y = cqe x+czex+c3cosx+c4smx+g(?—7)cosx—§xzsmx 26

2x
y = cre % + c,e?* + 63—2(2x2 —3) 27
y =ce* + ce?* + 210 (3sin2x —cosx) + 2—15 (3 cos 2x — gsin Zx) 28
y = €*(c; cosV3x + ¢, sinV3x) + %ex sinx .29

y = (¢c1 + cx)e?* —e*(2cosx + x sin 2x) .30

(Suggested Books for Further Readings)_* (5. '/,,f“ “A L by »10.10

. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,
New Delhi

. Ordinary and Partial Differential Equations- Rai Singhania, S.Chand & Co., New Delhi
. A Text Book of B.Sc. (Mathematics), Volume —I , V. Venkateshwara Rao and others, S.
Chand & Company
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o o pos \ M . . Cee 7/
Fu-3FE e Ee s 11
(Homogeneous Linear Differential Equations with Variable Coefficients)

171 2 3k

3

o 11.0
e 11.1
Suld I E S S 11.2

i LF L3Sy o p 2 1121
Sl dF el E S S 1122
ety 11.3
SEISLE 11.4
I 11.5
Mol ez 1151
elr el ez 1152
eUrJel ez b 11.5.3

S Sy f L by 11.6
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(Introduction)/w? 11.0

G AL L Lo US4 L SISl F P S AUt
DB Lex = er S o L Ll S S i x

dx_
dz

Z

e =X

_dy_dyxdx_ dy
Y= 4z "dx " dz dx

LAY

d’y d (dy
2, 2V _ S (8
biy= (dz)

dz? dz
_d ( dy)dx
~dx\“dx) dz

3 d2y+dy
a xdxz dx x

il

d3y d (d?y
D3y = T3 g\ 7.2
dz dz\dz

d’y  dy\dx
A A e
< dx2+xdx>dz

2
dx3+ xdxz xdx2+dx

(el 8 o)
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= x3%=D3y—3x2%—x%
=D3y—-3D(D— 1)y — Dy
= D3y —3D%y + 2Dy
= D(D? - 3D +2)y

=D(D - 1)(D - 2)y

cdbnFbandionstinz 1 LT s

n

x"%= DD-1)(D—=2)-(D—n+1)y

(Objectives) > 11.1

e banle S S 2 I E Fendb 1 T LnbF L6
_uf/J‘w’fJ"Ku’ L=

LoldFE e s 112

(Homogeneous Linear Differential Equations with Variable Coefficients)

JﬁJ“s.?/)J_»,ou}?

n n-1 n-2

x™ ﬁ + A x™ 1t dx"‘}ll + A,x"?

y dy
-2 + - —I—An_lxa +A,y =0Q

Kbl - Q 6 3IK sl e 5 Ay A Ay U Qb sl § 9 & S8 (e 2 2
x2 =Dy, 22 =D~ Dy, 32 =DD - DD —sl f Ex=erd LSS S
7S T el LS S = DD - 1)(D - 2) (D —n+ Dy LA 141 2)y

aES S eeui Lt 2SS e Qe dadteit

221



il LS L7 el 11.2.1

Working Rules to Solve Homogeneous Linear Differential
Equationswith Variable Coefficients

Sl 1

dmy -1 an-1ly —2 dn-2y dy
xnm + A x™ o T Ayx™ et An_lxa +A4,y=0Q (D

!Q/Jf/?:«t!ﬁu},?ucj_iL/JilaJaKu’l_‘ac«bL/J/’Ju%ujt}“ d/bf,,//:’:‘
4 Duldlogxzzgez,gurx Bl

dz

T 1Ay en S =D - DD - y#DD - Dy Léx2 22 Dy £dx2
I Lionabloct S Py finad n £
f(D)y =R (2
e Sz 5RO

< SNV S S e S bt naSuR L2
y=f(2) (3
Ern ot iy nlogx Ldz S Babls IV
y = F(logx)
PN SISV T INE
LU S p e Ui LA
_,/J’/ng - x‘;—z +y = logx? whle_1Jé
YT o

x ——x—x+y=logx2 (D)
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Lot §HL Lo-gl S dx tenFE AL P Debfidie
QJ_Jl_ujfé/D(D — 1)y,§Jx2%AIDyJ;Jx %’”Jg logx = Z.L.ez,.gufx
D(D-1)y—-Dy+y=2z

(D2 — 2D + 1)y = 2z e

J)’ZJ"}',.?/)(Auxiliary Equation)c«bVU}lrgj_ LJLU;?L/JO/&DVJ’
m2—-2m+1=0
(m-1)(m-1)=0
m=1,1
g}’idf' 3.23(Complementary Function)di BIR{Y “iu’ f

CF= (Cl + sz)ez

g}’Z(Particular Inte ral))‘? Sl
g

P.I.= LR
f(D)

1
=Dr—w+ D
=[1+4 (D? - 2D)] 1(22)
=[1—-(D?-2D) + (D? — 2D)? — ---1(22)
= 2[z — (D? — 2D)z + (D? — 2D)?z — ---]
=2[z—(D*z—-2Dz)+0— -]
=2[z—(0—-2x1)]
=2(z+2)

Knd’(w(z)wu“iw
y=C.F.+P.1.

=(c; +c2)e? +2(z+ 2)
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Knd’dnﬁq:ugézlogx,?gfz%_LL/J’&J’(W(D:«UL«@)J!
y = (¢; + c;logx)e'°8* + 2(log x + 2)

= (c; + cylogx)x + 2(logx + 2)

3LY _ 2 Wy sy =13/ F 2

dx? dx

‘gwudﬁfd;_d’

3
4d°y
x*—+4 2x
dx3+

d3y 2y dy
4 2 3 2 =
¥ dxs * dx? " dx Ty
3 2

D(D — 1)y.§ d/xz Y DyJ; ij—zm d (logx=12z) | ez,f; d/xuff (1) e lslr (7 4 & o

dZ
dx? ‘
Er S LU AUI-UE 3L = D(D — DD - 2)ys

D(D—-1)(D—-2)y+2D(D—1)y—Dy+y=e*

(D2 -D*-D+1)y=e*2 e

J)’ZJ‘)',.?/J(Auxiliary Equation);‘abl/cjﬁbf‘éLJ’-U}'Z_/JIBJK&UVJ’
mi—-m?2—-m+1=0
(m-1)?(m+1)=0
= m=1,1,-1
K%J')',.?J)(Complementary Function)d‘@daléu’

C.F.=(c; +cyz)e? + cze™*

K st(Particular Integral))f‘? S

P.l=—R
T fD)
1

“DO-120D+1)

(e™)
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1

NEEErN
KCEDNE
=%e‘zfeze_zdz
1 -z
= Ze J(l)dZ
— 1 —Z
= Zze
gn‘f(l&((z)c«bl/éu’i
y=C.F.+P.I.

1
= (c; +c,2)e? +cze “ +—ze *
4

1
= (c; + c,2)e? + (c3 + Zz) e ?

¢ et §60 UG o logx2dzd L2 TS L r¥(Deilac
y = (¢ + c; log x)e'°8* + (C3 + %logx) e~ logx

1 1
= (c; + cylogx)x + (63 + Zlogx);

-;/'/(}L‘”gfgxz % — 2y = x? +%c«blx-3dl§"*

‘Lguu@ﬁ&@,_‘j’

2
x2LY 2y = x2 +i (D)

dx?

logx = zgeZ,,ﬁun:auL—»fd;éLL/J"/;utaul/@ﬁ&’ivé%ﬁyﬂl)guw
“Lu’!_uji/D(D — 1)y,§d/x2 %A’ Dy,.lf;d/x Z—zulu“/[/

D(D—1)y—2y=e?* +e7?
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3

(D2 =D —-2)y=e?* +e? (2

S nks 5 5CAuitiary Equation e ool & & 1ot S F S @bl
m2—m—-2=0
(m-2)(m+1)=0
m=2,-1

€ v J; 3.23(Complementary Function)di BIR{Y “i J

C.F.=ce?” + cye”?

/ c o
€ se(Particular Integral))f‘( S

P.l=—R
f(D)
1 2z -z
~b-po+n¢ T
1 2z 1 -z
“o-2e2+D° TCi o+
1 1

2z -z

“30-2° 30+D°

1
=§[ezzfe‘zzezzdz—e‘Zfeze‘ZdZ]

=3[e [as— e [ a]

1
=3 [e?2z — e™?Z]
1
= gz(ezz —e7?)
Knd’(w(z)auu“iw
y=C.F.+P.1.
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1
=ce?2 + e % + §Z(822 —e7%)

gngfdﬂﬁ"igﬂ:ujézlogx,lf;d/z“iéé./wbgfrbb/(l)abw*|

y=cx%+c, (1> +llogx(x2 —1>
x/ 3 X

DS %2 % - SX% + 5y = x2 sin(log x) < hls-4JE

‘gwudﬁfd;_d’

2‘12_3’_3
dx?

(logx = z)geZ,J?un:.:,uufd;“ALL/JQ;uﬁum@ﬁfﬁvi%ﬁd}yﬂl)uw
LD - 1)y,§Jx2%m D

D(D — 1)y — 3Dy + 5y = e?*2sinz

xz—i + 5y = x? sin(log x) (D

3

(D? — 4D + 5)y = e??sinz e

gf an 5.2 5(Auxiliary Equation)e /sl uab»"i Lu’ !_ujZ_/ J’ J/(z)c,!;bw.,!

m?>—4m+5=0
(m-5)(m+1)=0
m=25,—-1

K%J')',.?J)(Complementary Function)d‘@daléu’
C.F.=ce®* + c,e”?

K st(Particular Integral))f‘? S

P.l=— R
f(D)
1 27 o3
“~D-mo+nE Y
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1

— p2Z :

- ¢ (D+2—5)(D+2+1)(sz)

= e?? ! (sin z)

(D -3)(D+3)
— 522 :
e D79 (sinz)

— p2Z

=e (1)2 (smz)

— 1 1

= 108 Zsinz

£ f Ak @elslad U

y=C.F.+P.1.

=c,e°? + c,e”? ——e?’sinz

10
gndpdu/“iu’lfuj}i//logx)f;d/zniﬁé_/d"bf(log(l)auvbﬂ

1 1
— 5 )
Y =c1x° + ¢y (x) 0~ sin(log x)

4‘-J5,?/;.puu@/'5fujg?’f)uh 2

-1
x_+A2x"‘2d + o+ A, 1x +Any Q (D

Tldn
Ly
dx dxn—2
mw&/ 6= D xoperaton) S 7 e QUG 3 ol Lt 1B Ay, Ay, oo, Ay, Ay U
Ul S oslx —_1)(1)— DD -2)y, x Zd L=D(D -1y, xZ=Dy & U

_Jﬂu:&gj.).?/)(l)cal}L/‘._/’_u.?L//:wL1)(1) — DD -2)(D—n+1)y

dxn

@)y =0 e

Setnb e Ule f LEFD)y = 0 =bley = Ax™ S Ut
Axmf(m) =0

c«bl/umf%ﬁ.gﬁ‘f:fgf(D)y = Owlsbr y = Ax™_
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f(m) =0 ...(3)

~¥m &)Jugg

:ux\-ﬁuﬁdu(ﬁ‘éﬁabvu}b‘u’% 1

_.Jru,?u"ubﬁiugléabuu;bf my,my, ---,mnf“éul.uﬁcur’u’l
C. F. = Alxml + Azxmz + o + Anxmn
3
9L (Repeated)djl)‘gfu kL:A;L»u;b»_,e 2

Fem=my = my == mJ! Ssbr 00k c;uffu’)un L sl wlrfé:}ut
C.F.= (c; + cylogx + c3(logx)? + -+ + ¢, (log x) ¥~ )x™ + ¢p g @™et1* + oo + ¢, @M%

=(c;+cy + -+ cp)e™ + ¢ 8™ 4o e

Un )le..:&ujuéaablruk*_ge 3

_,f"ru,?gj)jui o/l wb*u/gfilamz =a—ifrim =a+ iﬁfg‘f:jutuﬁc«//’u’l
C.F.= x%{c, cos(Blogx) + c, sin(B logx)}

*(Particular Integral),.)rf JSb

e AL LDl

SIe
1
mQ =v -.(5)

= (D-m)v=4Q
R dv B

xdx mv = (Q
R dv. m  Q

dx x  x

‘LJFK&‘L&DVJ}’J’UL}J{;J%,V

-



v=xmf(x‘m-%)dx

ﬁQ =x™ [(x"™1Q)dx 432;»;’?&4;(5) Ml

Zef (D) = (D —my) (D —my) -~ (D — m) S bWt I

1 1

DT D m®@—my) D —my

1 G C, c,
WQ‘[w—ml)+<D—m2>+"'+<D—mn>]Q

G 0+ C, 04 Cn
S (D-my)° (D—my) (D —my)

Q
= (;x™ f(x‘ml‘1 - Q)dx + Cyx™2 f(x‘mz‘1 “Q)dx + -+ 4 Cpx™n f(x‘m"‘1 - Q)dx

§ o JE Lo s f(m) # 0l Q = x™ 120 2

P S S
TTFDY T rm”

Zef(m) = 01Ut

1 (logx)™
j— m — m

P'I'_(D—m)”x my X
SIS e AT
2d%y ay — (1 — 2w <
S x Z+3xZty=(1-x) elale_1JE
c‘—cabl/@)’"é‘(d)-f

2%y L= (1= x)2
x“—=+ 3x —ty= (1-x) (D)

L U@ - D)y L2 L Dy £ Sx LD bl

DD—-1)y+3Dy+y=x>—-2x+1
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(D*+2D+1)y=x*>—-2x+1 Ne))

J)’ZJ:)',;/J(Auxilialy Equation).:al}b«‘u;bw“iLu’!-ujz./f}’/(z)abl/g!
m?2+2m+1=0
(m+1)(m+1)=0
m=-1,-1
{ v Jl 3.23(Complementary Function)J‘ La.]d (I éd’ I

C.F.= (c; + c;logx)x~1

/ c o
€ se(Particular Integral))f‘{ S

1
(D)

1
TD2+2D +1

P.I

(x2—=2x+1)

2 0

_ X 2 X n X
T2242x2+4+1 1242x1+1 0242x0+1

_x2 Zx_l_1
9 4

B I

O

Enf Pk @il U

y =C.F.4+P.I.

1 1
= (cy + czlogx)x? +§x2 —zx+1

_Q/Ja/xzﬂ— 3x%+ 4y = x™ =hsls_2 G

dx?

§_.>1,L»J;de,_d’

2 4%y

— 3 Y = xm
2 X T4y =x D
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LUt DD - 1)y b dx? %m JE Dy o Sx D Dbl

DD -1)y—-3Dy+4y =x™

(D? — 4D + 4)y = x™ (2

J}’EJ"}',.?/)(Auxiliary Equation):«'}b‘u}b‘éj_Z:J’-Q?Z_/’/JI(Z)&DP*'
mi—4m+4=0
m-2)(m-2)=0
m=22
gﬂd 3.2 3(Complementary Function)d‘ WS éd’ [

C.F.= (c; + ¢, log x)x?

g}’Z(Particular Inte ral))‘? Sl
g

P.l1.= !
D)
=27 X
_ 1 m [ 1 m _ 1 m
"7 >t T
?n‘jprlcl{(z)c«lﬁl/“ikf’
y=C.F.+P.I.
1
— -1 —x™
=(c; +cylogx)x™ " + m — 2)2x
I P ax 2 gy = e wile 36
ﬁ;;«l)b‘(jﬁ(}%’-dp
2 d%y v =
x — + 4x — + zy = eX 1)
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LUt DD - 1)y b dx? %m JE Dy o Sx D Dbl

DD -1)y+4Dy+ 2y =e*

(D?>+3D +2)y =e* G))

J}’EJ"}',.?/)(Auxiliary Equation):«'}b‘u}b‘éj_Z:J’-Q?Z_/’/JI(Z)&DP*’
m?*+3m+2=0
m+1)(m+2)=0
m=-1,-2
gﬂd 3.2 3(Complementary Function)d‘ Wy éd’ [

C.F.=c;x 1+ c,x7?

g}’Z(Particular Inte ral))‘? Sl
g

1
T

1
" @D+DD+2)°

P.I.

X

1 1
()
D+1 D+2
1 1

X X

“D+1° "D+2°

=x1 j x1leX dx — x~2 J x*>te*dx

=x‘1fexdx—x‘2fxexdx

=x"le* —x72(x — 1e*

= t—xt+x7%)e”
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Enf Pk @il U

y =C.F.+P.1I.

= x4 cxT? + x72%e*
-;/Jp/xz a’y >+ 3x— +y=(01-x)"? :«!)l/-4dlf’«‘
L:«IJL»‘J/'J&/J)_JP
2 d%y ay — (1 — -2
x*——=+3x—+y=>1-x) (D

Lo p@- 1)y,JZJx L2 1 U2 Dy B S 2Dk

DD -1)y+3Dy+y=(1-x)"?2

3

D*+2D+1)y=(01—-—x)"? e

k5 5 5(Auitiary Equation) e sl s & & -t S S @ebsbr
m?+2m+1=0
(m+1)(m+1)=0
m=-1,-1

/}’ZJL 3.2 3(Complementary Function)dp W 'éd’ [

C.F.=(c; +cylogx)x™?t

K st(Particular Integral))f‘& S

1

=@iDorp LY

1
T (D+1

x‘lfxl‘l(l —x)"?%dx
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A -0

(D+1)

=x"1 f x1 7 Hx™ (1 — x) " }dx

=x1 f{x‘l(l —x) " Y}dx

1 1
=X f—x(l—x)dx

1 1
=x‘1f(—+ )dx
x 1—x

= x~'(log|x| — log|1 — x|)

=x‘1log|1_x|

gnf(lpg(z)c«bl/"&u’i
y=C.F.+P.1.

= (¢, + cylogx)x™t + x~

u:";,p/,yr‘jfutw,ué/‘iu”u)?u’%ﬁ/é" 11.2.2
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SV AL e
% +y= COSGCXI*«’.)JJIUJU,L?’ 2

(Short Answer Type Questions):«wrd'kaéaglﬁ/z? 12.5.2

:d“_/'/gjilac,ud/éf‘_/é:jigj}f!gf{c«bl/d}gu

d?%y 2

dx? T 1+eX
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x——2x(1+x)—+2(1+x)y—x 2
o NEY LW (1 — 42
(1 x) o +xdx y=(0-x) 3

a’y _ d_y _ €
E 2 +y—x2 4
d2
2 ty=x )
d?%y .
E—ZE+)/—€ .6

(Long Answer Type Questions):awrd'lpﬁaglﬁi)b 12.5.3

V!LLJIIJ&./JPLMJ&/L/”LJ/’!/ ;’/d y—3dy+2y
- y=Ce*+ Czezxd‘@
_Q/JLJAJ%}LjLJﬁ!5[%+4y=4tan2x.:«!;L/ 2

x.:«!;[/ 1

HEI 1 e
2Ly (s 12.5.1
C.F.=Acosx+ Bsinx .2
ezl ety ol el A 1252
i S el E P I Lt on

y =Ae* + Be™* —1+e*log (1:—596) —e*log(1+e*) .1

2
y=—%—§+Ax+Bxezx

o

y =Ax+ Be* + (1 +x + x?)
y=e*(A+ Bx) —e*(1+logx)
y==Acosx +Bsinx +x

o RV N %

y=e

ezl ey ol eln f12.5.3
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y = Cie* + Ce** + (e +e**)logle™ +1)—1 .1
y = Acos 2x + B sin 2x — cos 2x log|sec 2x + tan 2x| .2

(Suggested Books for Further Readings)_ [ as./ '/“f“ c“J. L bra 7 12.6

. Text Book of Differential Equations, Khalil Ahmad, Real World Education Publishers,
New Delhi

. Ordinary and Partial Differential Equations- Rai Singhania, S.Chand & Co., New Delhi
. A Text Book of B.Sc. (Mathematics), Volume —I , V. Venkateshwara Rao and others, S.
Chand & Company
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-0 Uil 3 7 671336

(Formation of Partial Differential Equations - )

1712 L

ot 13.0

gz 13.1

Sled F 5z 13.2
o Kebsled F 1z 13.2.1
Fid TGz s 13.2.2
Sizonduinled ¥ 8z 13.2.3
FE Sunla3 7 oz 13.2.4

e 13.3

SEISLE 13.4

I e R 13.5
W So Ll (s> 13.5.1
el Jo iz 2 13.5.2
ey Jel ez P 13.5.3

Sy f L by 13.6

260



(Introductions)/:{'? 13.0

chistiae i 7T e P Ui d L3 Seolond sl L ASIAE YUl 3 7 Sz
Jﬁd}?c;ugfuzglgd/&’ﬂuf% L"lg%d/}ﬁ,:éj_g]l_gff@(y!/m&&w:J(lflﬁafg!
_ELY e SEIE S

(Objectives)##» 13.1

1J/Zuf/tgm}6‘u’!?i’,«;{£é_nf£&€!m
L bn B SISl 3 P 52 T
-f»?t/i/ﬁt//mﬁi’d/@uLguég;‘ﬂk@"d@?uvéﬁdﬁz 2

(Partial Differential Equations) Uf fsla(d /’I $s7 132

14 mlJ | u{’ Z pr{; L{L(Variable) /f> (Independent)&b’ /,-f SIAEs e J> ol s s..f!}/.;
2%@6}&@/:6&1}@&;632 J:},?/) -4‘_&&(@!3@&“}76}20}4)2/ (Derivatives)e 55>

0z 0z
—t—=z .1
P + 3y + xy
(62)2 0z _ 5.2
0x ay3 ax
0z 0z
Ix + 5 = 3
du Jdu , Ju
—t —+—= zZ 4
dx 0y + a Xy
1
03z az\ /2
Z=(1+2)" .
dx3 ( + oy >

A% 92\ ? 0z
&)+ Y =25
(Degree & Order of Partial Differential Equations) <93 & s el (3 /J. $sZ 13.2.1

LJC’&U}TJ&JKaﬂ;tf&/'ﬁ.d)’idﬂf.&/é&ﬁ”djfq}f‘yb}?}”ufal}l/&)yd;fui/!gé{}

_‘guf,;u@al:wmd/.&u_/;)Sabl/fyefu,?abPJﬁd}'/’.’di&/%@}%t?ﬂ1:J)l/“i
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FEFHL 20 P ze Ut U1 el £ S Rationalize) 70 S bl 7 Gz ot/
(.}./j 1A J;» %4 23 2] ealnr é Z df” - TJ(Degree),?/)K;‘J}L/ d“/j Sz 1 }((Power)

o K6l 5:«'5[/]52!@?:«!}[/

(linear & Nonlinear Partial Differential Equations)uf uu@ /’5 d;'zf /fm(f} 13.2.2

— Pl Ll 206, 7 892 £ U1l (Dependent Variable) 2 Bl s 25 U ceals (3 Pz ‘f( Sy Y
T8 wble§ 5§z Nt el F 2 & el S A1 eun sz S S
L en§ g E S el

—stehl-d T 5 Fems3aehls Serapeit-G P 6rE dn e L Je

G e L SI1GU S 2B S 2 L g SV E iy st xed 280 o f Ut i1 d
:Zunde 1 36U 2t S 5 5 AS)

0z 0z 0%z 0%z 0%z

=—, =—,r = ,S = ’t:
P=5x1 ayr ax2"° dxdy dy?

/gﬁu&’wd;',w“&iu’mz/é"”&wu?d‘@ (Unknown)ulf’(j/gxl,xz,---,xn c«l/.':""‘dt‘/fnﬁ

:Z Use e
_ 0z _ 0z _ 0z _ 0z
P15 P2 T ax, P T ax, P T
e L E NP F b B AL
0z 0z 0%z
Uy

“ox’Y T oy ™ T axdy

(Classification of Partial Differential Equations) d ) L}/ U; fa(» d /’I 637. 13.2.3

o f(x,y,2,p,q) = 0=lsls u’( /’7 :(Linear Partial Differential Equations):«l)l.w J /J 24 u}'} (a
uﬁfwwué/‘zf@m}"u:xwm/»-u:‘jéguué}?d;z&"/guww?un&" p.q,2

<

P(x,y)p+Q(x,¥)q = R(x,y)z + S(x,y)
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sl d”/d;]ubd/ij %uiu p+q=z+xysyx’p+xy?q=xyz+ x2y3“i ZJe

-t
J /J 24 d/ Py é‘é :(Semi-Linear Partial Differential Equations)/sl~ J /J 1A u}'} s
S U 6§ Lyuix e p L qulpasl Us & qulp I F(y,2,p,q) = 0l

+3nu:ﬁuugu,v@ﬁd,zfﬂuﬁgwuz_/»_ugjé_wu&)ﬂ“d}z(f}ﬂfu,u
P(x,y)p +Q(x,y)q = R(x,y,2)
sl d“/y So ul'} - JL/ %u]» yp +xq = 2 xyp + x%yq = xzyzzzcj. ZJe

x°z
2
y

Ut
J /J Sz d/ & % :(Quasi-Linear Partial Differential Equations)</fsl+ d“ /7 24 u}'} St
uﬁJﬁu’l uu!u;fub}uﬁ q»p ,/7+&M¢1,VJ)J d}iub)u"l;’. f(x,y,2,p,q) = 0=tsl~

M

P(x,y,2)p +Q(x,y,2)q = R(x,y,2)
-5019 d/L/ % Udss (X2 —y2)p + (y% — zx)q = 2% — xy 15 x%zp + y?zq = xy"L Z Je

ureiled T gz

ehsle P $ez g Py ‘&?:(Non—Linear Partial Differential Equations )< /s~ 3 P $ez ub 2
_n;ub}uﬁ qslp ,ﬁ%&W/&'}VJ}JJ’d;’Z&'}j f(x,y,2,p,9) =0
_www@ﬁw'zuﬁ’/&;/%f pq=znp?+q? =1, x*p? +y?q* = zzéédl}‘»

(b

(c

(d

(Formation of Partial Differential Equations)di@ Jc«hl»‘ (}/5 $s7 13.2.4

(Formation by Elimination of Arbitrary Constant)df@ o4 LW&J@' 13.2.4.1

(yﬂixal/zg‘"“ Zjl:'/::é» Z,J/}Jul.-u,?c«ﬁ;”d/.@lb 23] aUQch;.:J:V(}/f(x,y,z, a,b) = O,f}’ul.

*’-LJ&@

f(x,y,z,a,b)=0 . (1)

Y

ﬁ;b’%“bdiq{:é_//&ﬁuﬁfﬂ (Partially) £ 1# $377 y 5 - 3! x5 (D) e lols
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of 0foz_

ox " dzox

of of _

= tp>-=0 .22 L
of + % ...(2b) LIS
dy 0z

< dn S babladt 500 b e 57 605 s 4 S0 2a) 511 = hils

f,y,z,p,99=0 . (3)

-‘Lgl,ué}?dfzd/;/%fz

o)LJc;ug,,:‘/K;«l)l/d“/jd}'ZJ‘bc;u’lJU%u?/de/giluyaﬁ&t'/fuﬁc«l}{/Lf//ﬁ:&j

:uj“é“;/vétfufdj,?/)ﬂafjl_‘at'n

(.}'/Ju')]d/iz %o)gjcvguﬁﬁ;’.ba&nuyc a«lﬁ;’d/gil;iﬁd//fr‘db‘}uﬁgm/(f(ge
e wgﬁ@/ a/’ﬁﬂ“i ZJe_ gl F il

z=ax+y L. €))
dz 0z
= aza,@zl
/,:éjg—i: aJs (1) elsls
0z
z= xa+y

_u,?c,l}l/d/"y(j}'].“iéc,bw@/d) zZ= xg—i + yul Z—; = 1l loln

d}'/:'(Unique) @J&/%Uﬁﬁ;’.‘a&nﬂzLJ'EJ%G/WDIJJ/E&&V}Uﬁc«bl/u((b/% .

/}Uunalﬁ;’dz.@ib/ﬂ aﬁé&d@‘-‘aéﬁu‘lbabvgﬁ

az+b=a*x+y . (1
0z , 0z
= aaza,aazl
0z 0z
= alazl
“Lgt,uﬁ)ﬁd,ztfééauufwz_i . Z—}Z] =1 égﬂ
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(.}./7657 d/,;’/ oJ.L.quguﬁﬁ;’.‘a&w{L:!ﬂu(c«!ﬁ;’d{@mﬁd/fdt‘juf;vljt/(f;«e 3
J;lu:fc«lﬁ;’d/.@lcmb :a/f!“i LJC"‘-‘L&WL}JE:«UV
z=ax+by+cexy L. (n

/“d_/'/g}/].d;/" y.lsl;,/@u/}’xb‘@,@»/&!;lxu’l

Z—i =a+cy L @

= % =0 L 3
!

Z—; =b+cex L @

= % =0 L Q)
/“L/'/J/U/)/" yﬁ@,f@) sl

TL=c ®)
/,:d'_/;a/"c yUe (@ elslr sl e x o QD slrs

xZ—i =ax+cxy L @)

yz—; =by+cxy L ®)
= (8) 11 (7) = slo

0z 0z
xa+y@ = (ax + by + cxy) + cxy

= u.d/(4) 20 (1) e sl

0%z

oxdy

xg—i + yg—; =z+xy

BB PRI SRS, A L1 = OV OO WAL R Y I SAS i Oy 51
,é;J:@Ja,uJ)Tdfz;z = ax + by + a? + b? B b ol ac B GBI 1 e
;..;u,ufd;_d’

z=ax+by+a*+b* . D)

/“L//J/Jd)] yﬁ@,/;lxb’lé,[abl/d!
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—=b) 92l
et Dbl LS bl a
_ 0z 4 0z 4 (62)2 4 (62)2
z=x 0x yay 0x dy
_‘Lai)wéﬁdafgfgl/%fﬁ
_é;dz@“/y,uéﬁd,zc;z =(x—a)?>+ (y—b)? Z S50 b ol aaﬁpdzﬁ!-ZJff
%c«bl/‘:‘fd;-w
z=(x-a)*+@-p* . ¢h)

/,,L/J/J'Lj}/ yk@,zﬂxk@,fc«btfu’!

0z

a = Z(X - a)

0z

3 = 2(y —b) 44!

/,:L/'/Zy/)uﬁ (1):«';&@,""‘3 ,:d/y — bl x —acJdslay
_ (1 62)2 N (1 62)2
2= 20« 20y
4y — (62)2 N (62)2
z= dx dy
_‘LQ‘)V(}./&T&}ZL{;/)L/”/}‘ LJ%% Lgl;bféfdﬁf}?
2}/«,}5@'4«131,—*&}.’.6)2 éé U%L}Jj,?né//bﬁ//b 23 aa!ﬁ';”d/wl-3df3

z=alx+y)+b @
z = ax + by + ab (i)
z=ax +a’*y?+b (ii)
z=(x+a)(y+b) Gv)

S
‘L:«bl/fd) ()
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z=alx+y)+b . €))

/”2_/0/07(5}7 yb’@,;a&b’@,/@bbﬂﬂ

0z B

ox

9z _ |

3y =a /8
LU

0z _ 0z

ox dy

_‘Lguué/’ofdfzd/;»%m;/%“i L.:«bl/@(d)f}?
%al;l/‘:"/d; (i)
z=ax+by+ab L. (0

/.‘A_/J/JU'}] yJ;Lé,me;Lé,/.:,uum

0z

—=q

0x

d

£=b 9l

4&./@/}@? (1)&!»»%“3,0/19 »la
_ 0z N 0z N (62) (62)
2= %5 TV ay T \ax) oy
_‘Lguuéﬁdfzd/;»‘&?m,&/%é L.:A;l/éfuﬁf}?
e blad S Gid)
z=ax+a*y*+p . )

/“d_/’/g}/yd}] yﬁgfza!xﬁgffgl;bf‘u’!

— = 2a°y oe.(3) s

LSt @entred Sa
0z ) (62)2
dy “\ox Y
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-‘L.:J;Lfgﬁdﬁfd/;»(_/umé/%é Lc«bl/éfd)fﬁ
‘Lgi;lﬂ»&@) Giv)
z=xx+a)y+bp) €))

/“d./[)'/yu';] ylslg,/;lxl;l;,/al;bfu’!

02 _ b
ox
Z—;=x+a Al

/,:d'_/Zw}uﬁ (l)gl}L/uf‘”: :/d/y + b sl x 4+ acJSsla gl

B (62) (62)

Z= dy/ \0x
-‘aa!ﬁtf&.ﬁ’d}'j’&{_/;%u!@/%é Zic«l)l/(:‘(d)fﬁ
_;/J.".@.u(abu‘.}.ﬁdfiaz = axe¥ + %azezy +b Z B b ol ac«lﬁ;"d/.@!Adt‘f

%c«bl/‘fdj-w

z = axeY + %azezy +b €))

/“¢//J/J'u’;/ yﬁ@,z;!xﬁl},}(abwu’!

2
Z—aqe¥y ©))
ox

2

Z = axe¥ + a%e? = qe¥(x + ae?) (3l

ay

/,:L/'/Zw)uﬁ (3)al;L~‘&g,d/ae3’

0z 0z 0z
=520+ 3)

ay ox\" " ox
0z 0z N (62)2
ay_xax 0x

_%&’}V&;d}fdﬂ/zé L:«bl/(:fd)fﬁ
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Jf@.d/al;l/&/g e (x—h)?2+(y—k)?+z2=12 S80Sk hc«ﬂi‘:’d{@l-Sdt‘f
Ny
e

(x—h)?+@y—k)?+z>=r? (D

/“d./[)'/yu';] ylslg,/;lxl;l;,/al;bfu’!

0z
2(x—h)+2z —=0
0x
- ( B = 0z
X = Zax
0z _
2(y—k)+225—0 2!
0z
= (y—k)——z@

/,:L/Zyuuﬁ (l)c«l)l,—*u,:f:/d/y —knl x—h
9z\> 9z\*

_, 2z _, 2 2 _ .2

(Zax) +(Zay) Tz 4

) (6z>2+<62)2+1 .,

= z 0x dy =T
_‘aau,u&/ﬂ"@'f: ,Ab“ééu,ufd;fz
-5/&1’.@0/abuéﬁd57.cz = (x?+a)(y*+b) Z B0 b ol aalﬁ;’d/.@!ﬁdlfﬁ
‘Lc.vblxéfdﬁ_gf

z=x*+a)(y?+b)

/“d_/’/g}/yd}] yﬁgfza!xﬁgffgl;bf‘u’!

dz 5
asz(y +b)
= 109z _ 2+b
2x 0x
z—;=2y(x2+a) s
1 0z 5
= 5£=x +a
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/.:d'./@uuﬁ (1):«!3&‘@,‘."‘3 :4}/312 +bsl x2+a
B ( 1 62)( 1 62)
Z= 2y dy/ \2x dx
. 4 B (62) (62)
X2 =\ay) \ox
_‘Lgl,uéﬁd,z,;‘bé_éww‘ﬁj}fﬁ
_J/'/J.’.@.J&UL»‘&/"IL;JZLZ = AeP'sinpx L/ﬁl/:’/p s Ac«lﬁ:”d/gﬁtﬂdf?
%c«bLﬂC"'/d;-JV

z = AePtsinpx . (0

/,:L/(J)yd;’/’.'/@» tJ:‘lJ,A!x.L?G,/c«DL—Au’i

dz ot
a=Ape cos px
= a—ZZ——A ZePt gj
Fhe p“eP’ sinpx
pil
0z Dt s
E=Ape sin px
= a_ZZ—A 2,Dt qj
57 = p“ePtsinpx
LAV
0%z 0%z
2 ox?
0%z 0%z
= ﬁ-i_ﬁ_o

_LL:JBV&/'JU;'Z,W“iéabVC"@’)fﬁ

s J1 -< (Coincide) 3}917 )’//,5— 7 {Axis) /¥ d/gf s (Right Circular Cones)L}/."” S0 riﬁ' rl/“ -SJ@‘
-Q/J"lpu;ué}v"dfz;
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E/J?Ald)d;b'd»fﬂ Kgﬁ/}lLL (Coincide)&}‘f[/i- 7 {Axis) /& dlf oy L;/.”" S70s (/'G' ,’l/“_gf
‘L&}fdz)',?/) (General Equation):«'}l’/rt&(fr‘a(o,o, a) (Vertex)d}.".g JL
x?2+y?=(z—-a)*tan’p .. )
_ujc«lﬁ;”d/.@!q) sla
42./0)30632/@» yla‘l.):,/;lxla’l;,/abl/u’!
22 = 2z — a) Ztan?
x=2(z—-a F an“¢
= x=(z- a)tanzq)z—i ...... ©)
31
0z
_ _nNZE 2
2y =2(z—a) aytan [0)
= y=(z—- a)tanzcbg—}z] ...... 3)

/.:u:)(.’.}u <) c«bl/:’/(2) e

0z

*_ox

y 0z

dy

0z 0z

=z 3y~ Y ox

-cb-gl;l/d“/';d}i,,yw"“iéabl/‘fd)fﬁ
-{f}’f px+qy =z c«UL/(j/"Id)'f.d/‘ﬂ/v (Origin)/ 4~ (Vertex)d}?:k JL Ku% L}PrgL/&V-9JV

‘L&ndl)',?/; r‘L/.:’,g-’d}?:E J Kgﬁ ::«l}l/,'tagflﬂ/;‘ J/‘Ja
ax? + by? + cz®> + 2fyz + 2gxz+ 2hxy =0 ... (1)

1O F Sz y sl omix sl S et _ U K AR g, 6 b a UG

2ax + 2 aZ+2 aZ+2 +2 aZ+2h =0
ax cz e fy e 9z gx e y =
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ax+czp+ fyp+gz+gxp+hy =0

Al

2by + 2 aZ+2 aZ+2 +2 aZ-I-Zh =0
y Czay fyay fZ gxay X =

by +czq+ fyq+ fz+ gxq+hx =0

44./@’ /’/L;.,/‘Ly /(3) :A}l/ulax/(z) sl
(ax? + by? + fyz + gxz + 2hxy) + (gx + fy + cz)(px + qy) = 0
= —(cz® + fyz + gxz) + (gx + fy + cz)(px + qy) = 0
= —z(cz+ fy + gx) + (gx + fy + cz)(px + qy) = 0
= (gx+fy+cz)(px+qy—2) =0

-%&’)V&%d’f,,!wjéiﬁa’}v&fdﬁfﬁ

2;/@}:@.(}1’«1;1’4}“)}&}2 Z S50 bl aalﬁ;"dz.@i c;u%ugj;},?/}-lOJt‘f
22=5+2 ®
2z = (ax +y)? + b (i)

S

§_c«13l/(3fd) (1)

0z 2x
ox a2
x2
= X»=3 e @
yil

0z 2y

dy b2

y2

= 3



LGB bl sl @) il
2z =px +qy
_LL;'«UL«‘&/'J&;Z,!W“&L;;!)V&@JJ/X

PRSI ANG))
2z=(ax+y)*+b . D)
/“d./[)'/yu';i ylsl.):,/;lxla’l;,/al;wu’!

2% _ 2a(ax + )
5y = 2alax ty
= p=alax+y) . ©))

23

0z
2—=2(ax+y)

dy
= q=(ax+y) . )
e (3) e lalaisl (2) oMol m
p
P_,
q
42_/6/)/ﬁd/auﬁ (3)laln
a=tx+y
q
= q* = px +qy

-cb-:«l;l/d“/';d}i,,yw"“iéabl/éfd)fﬁ

c«!;l/d“)y e z=alx+y)+b(x—y)+abt+c 6L el bea e B (S50 _11 e
SSUES

‘L:J;wad;_f

z=alx+y)+b(x—y)+abt+c .. €))

/“L/'/J/Jd;] t50.. sy ‘xb’lé,/abl.wgﬂ
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% o atb
ox  C
62_
ay_
1l
az_ b
F

(a+ b)?+ (a—b)? = 4ab

(02)2 N (02)2 _ 462
ox dy) ot
_baa!}V&/?..d)Z,}w/‘“iL&l}L/fdﬁfﬁ

_;/J:@.d/ol;ud“)ydfi.alog(az —1)=x+ay+b Z B0 b ol a.:alﬁ;”d/.@l_ndt’f

Z

%c«bl/‘:"'/d;-w

loglaz—1)=x+ay+b .. €))

/,,L/'/J/Jd;] yﬁ@,z;!x,l;@,{/c«bl/u’!

@
ox_ _
az — 1
B -1
“T oz _
ox
sl
W22
d
Y =a
az — 1
0z
1+
a= dy
Z

274



dy
0z z
0x
0z
1 1 +@
0z z
dx

d0x dy dy
02(1+62>_ dz
ox ay) ~ %ay

_LL&’}L/&/U“U/}Z,:JW“& Lablxé"/d)f}?
-5/%&&15(/@}76524;2—2 + Z—j + i—z =1 LS5 ¢l b‘aalﬁi"dz.@!-mdt"f

‘Lal}b«‘fu’)_gf

2 2 2

x y z?
;+b_2+c_2_1 ..... D)

/“¢//J/JL55/ yﬁ@,z;!xﬁl},}(abwu’!
2x N 2z 0z _
a?  c20x

cx+a2z%=0 )
dox

2y N 220z
b2 ' c2dy
cy + bzzZ—; =0 . (3)

KnJ‘lau:"/?L/J}dez,b//mg yb‘l;,,/(s)c«!;l//ﬂx 39,,[(2)@'}[/

c? + a? {Za_zz + (6_2)2} =0 . @

0x?

23
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¢+ bz{ Zzi + (a—z)z} =0 .. (5

e (@) tslbr sl Q) Mol

a2z 9% 9%z (0
- Ox | g2 {Z—Z+<Z)}:0

X 0x? 0x
z 0z 0%z (62)2 — 0o
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:;/f/c«bl/d},?/;
p+3q=z+cot(y —3x) .1
p+3q=5z+tan(y —3x) .2
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(Solution of Partial Differential Equations: Charpit's Method)
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SO/ 7 L L sy 16.6
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